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RIHE 3
XML BB X2 R (EBERMZEMEEHE)

{?xml version="1.0" encoding="UTF-8"7>
<MCCI_IN200100UY01 ITSVersion="X¥ML_1.90" xsi:schemalLocaticn="urn:hl7-org:v3 MCCI_ IN200100UV01 xsd” xmlns="urn:hl7-org:v3”
xmlns:xsi="http://wew. w3. org/2001/XMLSchema—instance™>
<id extension="HN, 1. 2" root="2.16. 840, 1. 113883. 3.989. 2. 1. 3. 22”/)
<= N.1.2: Batch Number —>
<ereationTime value="20101214151617"/>
{I— N.1.5: Date of Batch Transmission —>
{responseModeCode code="D"/>
{interactionld extension="MCCI_IN2001000V01” root="2, 16, 840, 1, 113883. 1.6 />
<name code="N.1.1” codeSystem="2. 16. 840. 1. 113883. 2. 989, 2. 1. 1. 1”7 codeSystemVersion="1.01"/>
{!-— N.1.1: Type of Messages in Batch —>
<= Message #1 —>
<PORR_IN0490161UV>
<id extension="N.2.r.1” root="2.16.840. 1. 113883.3.989.2.1.3.17/>
{— N.2.r.1: Message Identifier —>
{creationTime value="20101214151617"/>
{l— N.2.r.4: Date of Message Creation ——>
{interactionld extension="PORR_IND49016UV” rcot="2. 16.840. 1. 113883. 1.6"/>
{processingCode code="P"/>
{processingodeCode code="T"/>
{acceptickCode code="AL"/>
{receiver typeCode="RCV™>
{device classCode="DEV" determinerCode="INSTANCE">
<id extension="N.Z2.r.3” root="2.16.840.1.113883.3.989.2.1.3.12"/>
{l— N.2,r.3: Message Receiver Identifier —>
{/device>
{/receiver>
<sender typeCode="SND™>
<device classCode="DEV" determinerCode="INSTANCE">
<id extension="N.2.r.2" root="2.16.840. 1. 113883.3.989. 2. 1. 3. 11" />
<]— N.2.7.2: Message Sender Identifier —>
{/device> .
{/sender> :
<cantrolActProcess classCode="CACT” moodCode="EVN™>
{code code="PORR_TEC49016U¥" codeSystem="2. 16,840, 1. 113883.1. 18"/>
¢le~ HL7 Trigger Event ID —>
{effectiveTime value="20101214151617"/>
{l— €.1.2: Date of Creation —>
<subject typeCode="SUB]">
<investigationEvent classCade="INVSTG™ moodCode="EVN" >
<id extensien="C.1.1" root="2.16.840. 1. 113883.3.989.2.1. 3. 1"/>
¢l— C.1.1: Sender’'s (case) Safety Report Unique Identifier -—>
<id extension="{.1.8.17 root="2.16,840.1.113883.3.989.2.1.3.2"/>
{!— C.1.8.1: Worldwide Unique Case Identification Number ——>
© <id extension="J2.1b" root="2.16.840.1.113883.3.989.5.1.3.2.3.1"/>
<I— @eerz. 1b: WAIES (B5) —
<code code="PAT_ADV_EVNT” codeSystem="2. 16. 840, 1. 113883.5.4"/>
<text>H. 1</text> ‘
<l-— H.1: Case Narrative Including Clinical Course, Therapeutic Measures, Quitcome and Additional Relevant
Information ——>
{statusCode code="active”/>
I @8eJ2.7.1 5£T. RFETESL >
{effectiveTime>
{low value="20090101"/>
(l-— C.1.4: Date Report Was First Received from Source ——>
</effectiveTime>
<availabilityTime value="20090101"/> :
<!~ C.1.5: Date of Most Recent Information for This Report —>
(reference typeCode="REFR">
{document classCode="DOC” moodCode="EVN">
{cade code="1" codeSystemn="2. 16. 840. 1, 113883. 3, 989, 2. 1. 1. 27" codeSystemVersion="1.0"



displayName="documentsHeldBySender”/>
{title>C.1.86. 1. r. 1{/title>
<}— C.1.6.1.r. 1: Documents Held by Sender {repeat as necessary} #i —>
{text mediaType="application/pdf” representation="B64”>C. 1. 6. 1.r.2{/text>
¢l C.1.6,1.x. 2 Included Doctments #1 —>
</document>
{/reference>
{reference typeCode="REFR">
{document classCode="DOC” moodCode="EVN">
{code cede="1" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1, 27" codeSystemVersion="1. 0"
displayName="documentsHeldBySender”/>
{titlelC. 1.8, L& 1/ title
¢le= C.1.8.1.1.1: Documents Held by Sender (vepeat as necessary) #2 ——>
{text mediaType="image/jper” representation="B64” compression="DF“>C.1.6.1.r.2{/textd
{I— C.1.6.1.r. 2: Included Documents ‘#2 —>
{/document>
{/reference’

{reference typeCode= REFR »
<document classCode="DOC” moodCode="EVN">
{code code="2" codeSystem="2.16.840. 1. 113883. 3. 980. 2. 1. 1. 27" codeSystemVersion="1, 0"
displayName="1iteratureReference”/>
<title>J2. 17. r</titled>
<I-- 00872, 17. r BB/ HROSE # —>
{text mediaType="application/pdf” representation=”BS4’5C.4:r.2</text>
4= C.4.1.2: Included Documents #1 —>
<biblicgraphicDesignationText>C. 4, r, 1</bibliographicDesignationText>
{le- €. 4. r 1! Literature Reference(s) #1 —>
{participation typeCode="AUT">
<assignedEntity classCode="ASSIGNED">
{represented0rganization classCode="O0RG" determinerCode="INSTANCE™>
<asLocatedEntity classCode="LOCE™>
{location classCode="COUNTRY” determinerCode="INSTANCE">
<code code="J2.15.1" codeSystewm="1.0.3166.1.2.2"/>
<|-- BOBJ2. 15. r %A #1 —>
{/locationd
{/asLocatedEntity>
{/representedQrganization>
{/assignedEntity>
{/participation>
{/document>
{/reference>
{reference typelode="REFR™>
{document classCode="DCC” moodCode="EVN">
{code code="2" codeSystem="2. 16. 840. 1. 113883, 3, 989. 2. 1. 1. 27" codeSystemVersion="1. 0%
displayName="literatureReference”/>
<{title>J2, 17. r</title>
<i— @08J2.17.r BB HAOSE #2 —
<text mediaType="application/pdf” representation="BB4">C. 4. r. 2¢/text>
<!— C.4.r.2: Included Dociments #2 —>
{bibliographicDesignationText>C. 4. r, 1</bibliographicDesignationText>
{I=~ C.4.r.1: Literature Reference(s) #2 —>
{participation typeCade="AUT">
{assignedEntity classCode="ASSIGNED">
<representedOrganization classCode="ORG” determinerCode="INSTANCE™>
{asLocatedEntity classCode="LOCE™> :
{location classCoede="COUNTRY” determinerCode="TINSTANCE">
{code code="J2.15.r" codeSystem="1. 0. 3166.1.2. 2"/>
<I— eeajsz, 15.r AEE #2 —>
{/location>
. &/asLocatedEntity>
¢/represented0rgenization
{/assignedfntity>
{/participationd -
{/document>
{/reference>
{component- typeCode="COMP">
{adverseEventAssessment ¢lassCode="INVSTG” mocdCode="EVN™>-
{subjectl typeCode="SB]">
{primaryRole classCode="INVSBJ™>



{playerl classCode="PSN” determinerCode="INSTANCE™>
<name>D. 1{/name>
¢{l=~ D, 1: Patient (name or initials) —>
CadministrativeGenderCode code="D.5" codeSystem="1.0.5218 />
¢t~ D.5 Sex —>
<birthTime value="20090101"/>
<l— D.2.1: Date of Birth ——>
{deceasedlime value="20090101"/>
¢l-- D.9.1: Date of Death —>
<asIdent1f1edEnt1ty classCode="IDENT”>
' {id extension="D.1.1.1” root="2.16.840.1. 113883.3.989.2.1.3.77/>
. <!— B.1.1.1: Patient Medical Record Mumber(s) and Source(s) of the Record Number (GP Medical
Record Number) —>
' ; <code code="1" codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 4" codeSystenVersion="1. 0"
displayName="GP"/>
{/asidentifiedEntity>
<asIdentifiedEntity classCode="IDENT">
<id extemsion="D.1.1.27 root="2.16.840. 1. 112883.3.989.2.1.3.8"/>
<!~ 1,1, 1.2 Patient Medical Record Number (s} and Source(s) of the Record Number (Specialist
Record Number) —>
<code code="2" codeSystem="2. 16. 840. 1. 113883. 3.989, 2. 1. 1. 4" codeSystemVersion="1.0"
displayName="Specialist”/>
{/asldentifiedEntity> . -
<asIdentifiedEntity classCode="IDENT™>
<id extension="D.1.1,3" root="2, 16, 840. 1, 113883.3.989. 2. 1.3.9"/>
<!— D.1.1.3: Patient Medical Record Number(s} and Source(s) of the Record Number (Hospital Record
Numher) —> ‘ .
{code code="3" codeSystem="2. 16. 840, 1, 113883. 3,989. 2, 1, 1. 4" codeSystemVersion="1.0"
displayName="Hospital Record”/> :
</asIdentifiedEntity>
<asldentifiedEntity classCode="IDENT™>
{id extension="D. 1.1.4" root="2, 16. 840. 1. 113883. 3. 9853. 2. 1. 3. 10" /> :
<!— D.1.1.4: Patient Medical Record Number(s) and Source({s) of ,the Record Number (Investigation
Number) —> .
- {cede cade="4" codeSystem="2, 16, 840, 1. 113883, 3. 989. 2. 1. 1. 4" codeSystemVersion="1.9"
displayName="Investigation”/>
{/asIdentifiedEntity>
<role classCode="PRS">
<code code="PRN” codeSystem="2. 16. 840. 1. 113883. 5. 111"/>
- {associatedPerson classCode="PSN” determinerCode="INSTANCE">
<name>D. 10. 1<{/name>
3= 1. 10.1: Parent Identlflcatlon —
<administrativeGenderCode code="D. 10.6" codeSystem="1. 0. 5218"/>
<l—— D.10.6: Sex of Pareat —>
<birthTime value="20090101"/>
<l--D.10.2.1: Date of Birth of Parent —>
{/assaciatedPerson?
<subject0f? typeCode="SBI">
{observation classCode="0BS” moodCode="EVN">
{code code="3" codeSystem="2. 16.840. 1. 113883, 3, 989. 2. 1. 1. 19" codeSystemVersion="1,1"
displayName="age"/> ] .
: <{value xsi:type="PQ” value="10" unit="D.10.2.2b"/>
<I-- 1,10, 2. 2a: Age of Parent (number) —>
<l-~ D.10.2.2b: Age of Parent (unit) —>
</observation>
{/subject0f2>
{subject0f2 typeCode="SBJ">
<observation classCode="0BS" moedCode="EVN">
{code code="22" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="lastMenstrualPeriodDate”/>
(value xsi:type="T8" value="20090101%/>
<I-- D.10.3: Last Menstrual Period Date of Parent —> -
{/observation)
. i {/subject0f2>
{subject0f2 typeCode="SBI">
<observaticn classCode="0BS" moodCode="E¥N">
<code code="7" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 13" codeSystemVersion="1.1"
displayName="bodyWeight”/>
' {value xsi:type="PQ” value="50" unit="kg"/>



<l-=D.10.4: Body Weight (kg)} of Parent —>
</observation>
</subjectOf2>
{subject0f2 typeCode="SBJ™>
{observation classCode="0BS” moodCode="EVN">
<code code="17" codeSystem="2. 16. B40. 1. 113883 3.989. 2. 1. 1. 18" codeSystenVersion="1.1"
displayName="height”/>
’ {value xsi:type="PQ” value="160" unit="cm*/>
<!-- D.10.5: Height (cm) of Parent —>
</ohservation>
{/subject0f2>
{subject0f2 typelodo="SET™
{organizer classCode="CATEGORY” moodCode="EVN">
{code code="1" codeSystem="2. 16.840. 1, 113883, 3. 989, 2. 1. 1. 20" codeSystenVersion="1.0"
displayName="relevantMedicalHistoryAndConcurrentConditions”/>
{companent typeCode="COMP™>
{observation classCode="0BS” moodCode="EVN">

<code code= D.1I0. 7. 1T, Th™ ceodeSysien™ 2. I6. 840. 1. TI3883. 6. 163
cedeSystemVersion="D.10.7. 1.xr. 1a"/>

<l— D.10.7.1.1.1a: MedDRA Version for Medical History #l —>

{lv= 1.10.7. L. r. 1b:" Medical History (disease / surgical procedure/ etc.) (MedDRA code)} H1 -

{effectiveTime xsi:itype="IVL_TS">
Clow value="20090101"/>
<I— D.10.7.1L.xr.2: Start Date #1 —>
<high value="20090101"/> :
—D.10.7.1.r, 4: Bnd Date H1 ——
{/effectiveTime>
<outboundRelationship2 typeCode="COMP™>
{observation c¢lassCode="0BS" moodCode="EVN™>
: <code code="10" codeSystem="2. 16.840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="comment”/>
<value xsi:type="ED">D. 10.7.1.r.5{/value} : ”
<!==D.10.7.1.1.5: Comments #1 ~->
{/observation>
{/authoundRelationship2>
<inboundRelationship typeCode="REFR">
{observation classCode="0BS” moodCode="EVN"} )
. {code code="13" codeSystem="2, 16. 840. 1. 113883, 3. 989.2. 1. 1. 19" codeSystenVersion="1.1"
displayName="continuing”/>
{value xsi:type="BL” value="true”/>
<l-— [.10.7.1.x. 3: Continuing #1 —->
</observation>
</inboundRelationship>
{/cbservationd
{/component>
{component typeCode="COMP">
{observation classCode="0BS" moodCode="EVN™>
{code code="D, 10.7.1.r.1b” codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystemYersion="D. 10, 7. L.r. 1la"/>
1=~ D.10.7. 1.1, La: MedDRA Version for Medical Histery #2 —>
<4— D.10. 7. 1.x. 1b: Medical History {(disease / surgical procedure/ etc.) (MedDRA code) #2 -
->
<effectiveTime xsiitype="IVL_T5">
{low value="20090101"/>
<l-—D.10.7.1.r.2: Start Date #2 —>
<high value="20090101%/>
<I=~D.10,7, 1.1.4: End Date #2 —>
{/effectiveTime>
<outboundRelationship2 typeCode="COMP™>
Cohservation classCode="0BS" moodCode="EVN">
. <code code="10" codeSystem="2. 16. 840. 1. 113883.3.985. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="comment”/> . )
: <value xsi:type="ED>D, 10.7. 1. r.5¢/value>
<!—P.10.7.1.r.5: Conments #2 —>
<{/observation>
{/outboundRelationship2>
{inboundRelationship typeCode="REFR">
<observation classCode="0BS" moodCode="EVN">



»

<code code="13" codeSystem="2. 16. 840, 1. 113883, 3.989. 2. 1. 1. 18" codeSystemVersion="1. 1
displayName="continuing”/> .
{value xsi:type="BL” value="true"/>
<}— D.10.7.1. £. 3: Continuing #2 —>
</observation>
{/inboundRelationship>
{/cbservation>
{/component>
{component typeCode="COMP™>
{observation glassCode="0BS" moodCode="EVN">
<code code="18" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19” codeSystemVersion="1. 1"
dlsplayName— historyAndConcurrentConditionText”/> '
<value xsi:type="ED">D. 10. 7. 2<{/value>
<l— D.10.7.2: Text for Relevant Medical Hlstory and Concurrent Conditiens of Parent —>
{/observation>
{/component>
{forganizer>
{/subjectDf2>
¢subjectOf2 typeCode="SR]">
{organizer classCode="CATEGORY” moodCode="EVN">
{code code="2" codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 20" codeSystemVersion="1.0"
displayName="drugHistory”/> '
{compehent typeCode="COMP™>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{effectiveTime xsi:type="IVL_TS™>
<low value="200%0101"/>
<I-- D.10.8.1.4: Start Date #1 ——>
<high value="200901017/>
<l— D.10.8.r.5! End Date #1 —>
{/effectiveTime>
{consumable typeCode="CSM">
<instance0fKind classCode="INST">
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{code code="D. 10. 8. r. 2b” codeSystem="TBD-MPID” codeSystemVersion="D. 10. 8. 1. 2a"/>
¢}— D.10.8.r. 2a: MPID Version Date / Number #1 —>
{!— D.10.8.r.2b: Medicinal Product Identifier (MPID) #1 —>
<name>D. 10. 8. r. 1</name>
<|— D.10.8.r.1: Name of Drug as Reported #1 ——>
</kind0fProduct>
</instance0fKind>
</consumable>
CoutboundRelationship2 typeCode="RSON">
{observation classCode="0BS" moodCode="EVN">
{code code="19" codeSystem="2. 16.840, 1. 113883, 3.989. 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="indication”/>
¢value xsi:type="CE” code="D. 10.8.1.6b" codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystemVersion="D. 10. 8. r. 6a" />
<1— D.10.8.1r.6a: MedDRA Version for Indication #1 —>
<l~~ D.10.8.r.6b: Indication (MedDRA code) #1 ~=>
</observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="CAUS™>
<observation classCode="0BS" moodCode="EVN">
<code code="29" codeSystem="2. 16. 840, 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1”"
displayName="reaction”/> )
<value xsi:type="CE” code="D. 10.8.r.7b” codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystemVersion="D. 10. 8. r. 7a”/> ’ )
’ : ¢l— D.10.8.1.7a: MedDRA Version for Reaction #1 —>
{l— D.10.8.1r. 7b: Reactions (MedDRA code) HI —>
</observation>
{/outboundRelationship2>
{/substanceAdministration>
</component>
{component typeCode="COMP"> _
{substanceAdministration classCode="SBADM” moodCode="EVN™>
{effectiveTime xsi:type="IVL_TS">
<low value="20090101%/>
<1-- D, 10. 8.1, 4: Start Date #2 —>
¢high value="20090101"/>



¢<|l— D.10.8.r.5: End Date #2 -
{/effectiveTime>
{consumable typeCode="CSH">
<instance0fKind classCode="INST™>
<kind0fProduct classCode="MMAT" determinerCode="KIND™>
{code code="D, 10. 8, r. 3b” codeSystem="TBD-PhPID”
<l— D. 10. 8. . 3a: PhPID Version Date / Number #2 —>

cudeSystemVer51on— D.10. 8. 1. Ba”/>

{1— D, 10, 8. r. 3b: Pharmaceutical Product Identlfler (PhPID} #2 —>
<name>D. 10, 8. r. 1{/name>
<i— D.10.8.r.1: Name of Drug as Reported #2 —)

{/kind0fProduct>
</ /ins tancelfhind>
</consumable’

{outboundRelationship2 typeCode="RSON">

<observation class
<code code="19"
displayName="indication”/>

Code="0BS" moodCode="EVN">
codeSystem="2. 16. 840, 1, 113883. 3. 989. 2. 1. 1. i9” codeSystemVerslon— 1.17

‘

{value xsiitype= CE~ code='ﬁ.10.8.r.6b” codeSysten= 2. 16, 040. 1. 113893, 6. 163"

codeSystemVersion="D, 10, 8. r. 6a” />

<|—D,10.8 r 6a:
<1-- D.10. 8. r.6b:

{/observation>
</outboundRelationsh

MedDRA Version for Indication #2 —>
Indication (MedDRA code) #2 —>

ip2>

{outboundRelationship2 typeCode="CAUS™>
{observation classCode="0BS" moodCode="EVN">

) <code code="29"
displayName="reaction”/>
: <{value xsi:type=
codeSystemVersion="D. 10. 8. r. 7a”/>

{/ohservation>
{/outboundRe]ationsh
{/substanceAdministrat
{/compohent>
{/organizer>
{/subjectQf2>
{froler
</playerl>
{subjectOfl typeCode="SB]™>

<|—D.10.8.r. 7a:
<!— D.10.8.x. 7b:

cedeSystem="2. 16. B40, 1. 113883, 3. 989. 2. 1 1.19” codeSystemVersion="1.1"

“CE” code="D. 10, 8. r. 7Tb” codeSystem="2. 15. 840, 1. 113883. 6. 163"

MedDRA Version for Reaction #2 —>
Reactions (MedDRA code) #2 ——>

ip2>-
1on>

{researchStudy classCode="CLNTRL” moodCode="EVN™>

<id extemsion="C.5.3" root="2, 16.840. 1. 113883. 3.989.2.1.3.5"/>
{l— C.5,2: Sponsor Study Number —>
{code code="C, 5.4" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 8*
(== C.5.4: Study Type Where Reaction(s) / Event(s} Were Observed ——>
<titledC. 5. 2¢/title>
{I— C.5.2: Study Name —>
Cauthorization typeCode="AUTH™>
<{studyRegistration classCode="ACI™ moodCode="E¥N">
{id extension="C.5.1.r.1" root="2, 16.840. 1. 113883, 3. 989, 2.1.3.6"/>
¢!-— C.5, 1.r.1: Study Registration Number #1 —>
<author typeCode="AUT">
{territorialAuthority classCode="TERR">
{governingPlace classCode="COUNTRY" deterininerCode="INSTANCE™>
{code code="C, 5. l.1.2" codeSystem="1. 0. 3166. 1. 2.2"/>
¢{]— C.5.1.1.2: Study Registration Country #1 —>
{/governingPlace>
</territorialAuthority>
{/author>
</studyRegistration>
</authorization>
<authorization typeCode="AUTH™>
<studyRegistration classCode="ACT" moodCode="EVN"}
<id extension="C.5, 1.1.1" root="2.16.840.1. 113883.3.989.2.1.3.67/>
{!— C.5.1.r.1 Study Registration Number §2 —>
{author typeCode="AUT"> - '
<territorialAuthority classCode="TERR">
{governingPlace classCode="COUNTRY” determinerCode="INSTANCE”>
* <code code="C. 5. 1.r.2" codeSystem="1.0.3166.1.2.2"/>

codeSystenVersion="1, 07/>



<!— £.5.1.1.2: Study Registration Country #2 —>
</governingPlace>
{/territorialAuthority>
{/author>
{/studyRegistration>
{/authorization>
{/1TesearchStudy>
<{/subject0f1>
<subjectOf2 typeCode="SBJ">
{observation c¢lassCode="0BS” moodCode="EVN">
{code code="3" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="age”/>
{value xsi:type="PQ” value="10" unit="D. 2, 2b"/>
<l— D.2.2a: Age at Time of Onset of Reaction / Event (nimber) -—>
<l— D.2.2b: Age at Time of Onset of Reaction / Event (unit) ——>
{/observation>
{/subjectOf2>
¢subjectOf? typeCode="SBI™>
<observation classCode="0BS" moodCode="EVN">
{code code="16" codeSysten="2, 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19° codeSystemVersion="1.1"
"displayName="gestationPeriod”/>
<value xsi:type="PQ” value="10" unit="D.2.2.1b"/>
<l— D.2.2.1a: Gestation Period When Reaction / Event Was Observed in the Foetus (number) —>
<!— D.2.2.1b: Gestation Period When Reaction / Event Was Observed in the Foetus (unit) ~->
{/observation,
{/subject0f2>
(subject0f2 typeCode="SB]">
{observation classCode="0BS” moodCode="EVN">
{code code="4" codeSystem="2. 16.840. 1. 113883, 3.989, 2, 1. 1. 19" codeSystemVersion="1. 1"
dlsplayName— ageGroup”/>
‘ <value xsi:type="CE” code="D.2.3" codeSystem="2. 16.840.1 113883.3.989.2.1.1.9"
codeSystemVersion="1. (¢"/>
<l=~ D.2.3: Patient Age Group (as per reporter) —>
{/observation>
{/subject0f2>
{subject0f2 typeCode="SBJ">
{observation classCode="0BS” moodCode="EVN">
' ' <code code="7" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="bedyWeight"/>
{value xsi:type="PQ" value="48.2" unit="kg"/>
{I— D.3: Body Weight (kg) -->
{/observation>
{/subjectOf2>
{suhjectQf2 typeCode="SB]">
{observation classCode="0BS” moodCode="EYN">
{code code="17" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="height”/> ’
{value xsi:type="PQ" value="152" unit="cm"/>
<d— D.4: Height (em) —>
{/observation>
{/subject0f2>
. {subject0f? typeCode="SB]">
{observation classCode="0BS” moodCode="EVN">
{code code="22" codeSystem="2, 16, 840. 1. 113883. 3, 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="1astMenstrualPeriodDate” />
<value xsi:type="TS” value="20090101"/>
<l— D.6: Last Menstrual Period Date —>
{/observation>
¢/subject0f2>
{subject0f2 typeCode="SB]">
{organizer classCode="CATEGORY” moadCode="EVN">
<code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 20" codeSystemVersion="1. 0"
displayName="relevantMedicallistoryAndConcurrentConditions”/>
{component typeCode="COMP">
<observaticn classCode="CBS" moodCode="EVN">
<code code="D.7.1.r.1b" codeSysten="2, 16. 840. 1. 113883. 6. 163" codeSystemVersion="D. 7. l. f 1a”/>
¢}~ D.7.1.r. la: MedDRA Version for Medical History #1 —>
!~= D.7.1.r. 1b: Medical History {disease / surgical procedure / etc.) (MedDRA code) #1 —>
{effectiveTime xsi:type="IVL_TS™>

¢



{low value="20090101"/>
¢(l— D.7.1.1.2: Start Date #1 —>
<high value="20090101"/> R
<!—— D.7.1.r. 4: End Bate #I —>
{/effectiveTime>
{outboundRelationship2 typeCode="COMP™> !
{observation classCode="0BS” moodCode="EVN"> .
) <code code="10" codeSystem="2. 16, 840, 1. 113883. 3,989, 2. 1. 1. 19" codeSystemVersion="1, 1"
displayName="comment”/> :
i <valus xsi: type—”ED”)D 7. 1. r. 8¢/value>
" Kl— D 7.5.r. 5 Comments #I —>
<fonservar10n>
</outboundRelationshipz>
<outboundRelationship? typeCode="EXPL"> .
<observation classCode="0BS” moodCode="EVN"> _
{code code="38" codeSystem="2. 16. 840. 1. 13883, 3.989.2. 1. 1. 19" codeSystemVersion="1.1"

displayName="familyllistory”/> .
‘ {value xsi:type="BL" value="true”/>
¢!— D.7.1.r.6: Family History #1 —>
</observation .
{/outboundRelatiocnship2>
{inboundRelationship typeCode="REFR™>
{observation classCode="0BS” moodCode="EVN">
)  <code code="13" codeSysten="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="continuing”/> :
’ {value xsi:type="BL" value="true”/>
{!— D.7.1.r.3: Continuing #1 —>
{/observation>
</inhowndRelationship>
£/observation>
{/component>
{component typeCode="COMP™>
{observation classCode="0BS” moodCode="EVN"> .
{code code="D.7.1.r.1b" codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystemVersion="D. 7. 1.x,1a"/>
<!— D.7.1,x. la: MedDRA Version for Medical History #2 —>
" 41— D.7.1.r.1b: Medical history (disease / surglcal procedure / ete.) {MedDRA code} #2 ~>
<effectiveTime xsi:type="IVL_TS">
{low value="20090101"/>
i~ D.7.1.1. 2! Start Date #2 —>
<high value="20090101"/>
<|— D.7.1.r. 4 End Date #2 —>
effectiveTime>
{outboundRelationship2 typeCode="COMP">
{observation ¢lassCode="0BS" mouodCode="EVN">
) {¢code code="10" codeSystem="2. 16. 840. 1. 113883, 3,989, 2. 1. 1. 19" cedeSystenVersion="1.1"
displayName="comment”/> .
<value xsi:type="ED">D.T. I r.5¢/value>
<i— D.7.1L.r.5: Comments #2 —>
{/observation>
{/outboundRelationship2>
<ocutboundRelaticnship2 typeCode="EXPL">
Cobservation classCode="0BS” moodCode="EVN">
<code code="38" codeSystem="2. 16, §40. 1. 113883, 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="familyHistory”/>
<{value xsi:type="BL” value="true”/>
<= D.7.1.1.6" Famlly History #2 —>
<{/observation>
(/outbnundRelat10nsh1p2>
{inboundRelationship typeCode="REFR">
{observation classCode="0BS" moodCode="EVN">
<code code="13" codeSystewm="2, 16, 840, 1, 113883, 3,989, 2. 1. 1. 19" codeSystenVersion="1.1"
displayName="continuing”/> -
<value xsi:type="BL" value="true”/> .
<l— D.7.L 1.3 Continuing #2 —>
{/observation>
</inboundRelationship>
{/cbservation>
{/component>
<component typeCode="COMP™>



<observation classCode="0BS" moodCode="EVN">
{code code="18" codeSystem="2. 16.840.1.113883.3.989.2.1.1.19" codeSystemVerslon— 1.17
displayName="historyAndConcurrentConditionText”/>
<value xsi:type="ED">D.7.2{/value>
{l— IL7.2: Text for Relevant Medical History and Concurrent Conditions (not including reaction
/ event) —>
{/observation>
</component >
{component typeCode="COMP”>
{cbservation classCode="0BS" moodCode="EVN™>
{code cede="11" codeSystem="2. 16.840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName=" concomltantTherapy s
<value xsi:type="BL” value="true”/>
<l— D.7.3: Concomitant Therapies —>
{/observation>
{/component>
{/organizer>
<{/subject0f2>
{subject0f2 typeCode="SB]">
<organizer c¢lassCode="CATEGORY” moodCode="BVN™>
<code code="2" codeSystem="2, 16, 840. 1, 113883, 3, 989, 2, 1. 1. 20" codeSystemVersion="1.0"
displayName="drugHistory”/>
{component typeCode="COMP™>
<substanceAdministration classCode="SBADM" moodCode="EVN">
(effectiveTime xsi:type="IVL_TS™> .
<low value="20090101"/>
{!— D.8.r. 4! Start Date #1 —>
<high value="20090101"/>
<!-- D.8.r.5: End Date #1 —>
{feffectiveTime>
<consumable typeCode="CSM">
{instance0fKind classCode="INST">
<kind0fProduct classCode="MMAT" determinerCode="KIND">
{code code="D.8.r.2b" codeSystem="TBD-MPID” codeSystemVersion="D. 8 r.2a"/>
¢}— D.8.r.2a: MPID Version Date / Number 1 —>
<!— D.8.1.2b: Medicinal Product Identifier (MPID) #1 —>
. <name>D. 8. 1. 1{/name>
<l=~ D.8.1r.1: Name of Drug as Reported #I —>
</kindOfProduct>
{/instance0fKind>
{/consumable>
{outbaundRelationship2 typeCode="RSON">
{ubservation classCode="0B5" moodCode="EVN">
<code code="19" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="indication”/>
<value xsi:type="CE” code="D.B.r.6b" codeSystem="2. 15. 840, 1. 113883. 6. 163~
codeSystemVersion="D. 8. r. 6a”/>
<|— D.8.r.6a: MedDRA Version for Indication #1 —>
{!— D.8.r.6b: Indication (MedDRA code) #1 —>
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="CAUS™>
{observation classCode="0BS” mocdCode="EVN">
<code code="20" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reaction”/> ’
<value xsi:type="CE" code="D.8.r. 7b” codeSystem="2. 16. 840. 1. 113883, 6. 163"
codeSystemVersion="D. 8. r. Ta"/>
<!— D.8.r.7a: MedDRA Version for Reaction #1 —>
{1-- D.8.r.7b: Reaction (MedDRA code) #1 —>
{/observation> :
</outboundRelationship2>
{/stubstanceAdministration>
{/component>
{component typeCode="COMP™>
{substanceAdministration classCode="SBADM” moodCode="EVN">
CeffectiveTime xsi:type="IVL_TS">
{low value="20080101"/>
<!— D.8.r.4: Start Date 2 —
<high value="20090101"/>



¢!-- D.8.r.5: End Date #2 —>
{/effectiveTime>
{consumable typeCode="CSM">
{instanceOfKind classCode="INST"> ]
<kindOfProduct classCode="MMAT" determinerCode="KIND">
<code code="D.8.r.3b" codeSystem="TBD-FhPID” codeSystemVersion="1.8.r.3a”/>
{l=~D.8. 1. 3a: PhPID Version Date / Number ——>
<l— D.8 1. 3b: Pharmaceutical Product Identifier (PhPID) £2 —>
<name>D, 8. r. 1{/name>
1= D.8.1r.1: Name of Drug as Reported #2 —>
</kind0fProduct> .
{/instancelfKind>
{/consumable>
<outboundRelationship? typeCode="RSON">
<observation classCode="0BS” moodCode="EVN">
<cade code="19" codeSystem="2, 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayNeme="indication”/> ' ’

] - {value xsi:iype= CE" code="D. 8.1.6b” codeSystem= 2. 16. 840, L. 113853. 6. 163
codeSystemVersion="D, 8 r. 6a"/>
<!— D.8.r.6a: MedDRA Version for Indicatiom #2 ——>
<!-- D.8.r.6b: Indication (MedDRA code) #2 —>
{/observation>
<{/outboundRelaticnship2>
{outboundRelationship2 typeCode="CAUS™>
{observation classCode="0BS” moodCode="EVN">
{code code="29" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1,1"
displayName="reaction”/>
<value xsi:type="CE” code="D.8,r.7h" codeSystem="2. 16.840. 1. 113883. 6. 163"
codeSystenVersion="D.8.r. 72" />
¢l— D.8.r. Ta: MedDRA Version for Reaction #2 —>
{I-- D.8.1. 7h: Reaction (MedDRA code) #2 —>
{/observation>
{/outboundRelationship2>
{/substanceAdministration>
{/component>
{/organizer>
{/subject0f2>
{subject0f2 typeCode="SRJ">
<observation ¢lassCode="0BS” mocdCode="EVN">
{code code="32" codeSystem="2. 16.840. I. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displaylame="reportedCause0fDeath”/> '
<valiue xsi:type="CE” code="D.9.2.r. ib” codeSystem="2. 16. 840. 1. 113883, 6. 163"
codeSystenVersion="D. 9. 2. 1. 1a">
¢!— D.9.2.r.1a: MedDRA Version for Reported Cause{s) of Death #1 —>
<l D.9,2.r. 1h: Reported Cause{s) of Death (MedDRA code) #1 —> .
. originalText>D. 9. 2. r. 2¢/original Text>
¢l-— DP.9.2.r.2: Reported Cause(s) of Death (free text) #1 -->
</value>
{/observation>
¢/subject0f2>
<{subjectOf2 typeCade="SB]™>
{observation classCode="0BS" moadCode="EVN"> ‘
{code code="32" codeSystem="2. 16.840. 1. 113883.3.989. 2. 1. 1. 19" codeSystemVersion="1,1"
displayName="reportedCause0fDeath”/>
{value xsi:type="CE” code="D.9.Z. r.1b" codeSystem="2. 16. 840. 1. 113883, 6. 163~
codeSystemVersion="D. 9. 2. r. 1a">
<I~- D, 8.2.1.1a: MedDRA Versicn for Reported Cause{s) of Death #2 —>
¢l-— D.9.2.r. 1b: Reported Cause(s) of Death (MedDRA code) #2 —->
SoriginalText>D. 9. 2. 1. 2¢/original Text>
<l-= D.9.2.r.2: Reported Cause(s) of. Death (free text) #2 —>
{/value> '
(Jobservation>
{/subject0f2>
¢{subject0f2 typeCode="SB]™> R
{observation classCode="0BS” moodCode="EVN">
- <code code="5" codeSysten="2, 16. 840. 1. 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="autopsy”/>
- {value xsiztype="BL” value="true"/>
({— D.9.3 Was Autopsy Done? >



<outboundRelationship2 typeCode="DRIV"}
<bbservation classCode="0BS” moodCode="EVN">
<code code="8" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1,1"
displayName="cause0fDeath”/>
{value xsi:type="CE” code="D.9.4.r.1h" codeSystem="2. 16.840, 1. 113883. 6. 163"
codeSystemVersion="D. 9. 4. r. 1a™>
¢l— D, 9.4.7.1a: MedDRA Version for Autopsy—determined Cause(s} of Death #1 —>
<!-— D.9.4.r.1b Autopsy-determined Cause(s) of Death (MedDRA code) #1 —>
SoriginalText>D. 9. 4. r. 2¢/original Text> .
<I— D.9.4.r.2: Autopsy-determined Cause(s) of Death (free text) #1 —
(/value> :
</observation>
</outboundRelationship2>
{outboundRelationship2 typeCode=TDRIV™>
<observation classCode="0BS” moodCode="EVN™>
<code code="8" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="cause0fDeath” />
{value xsi:type="CE” code="D.9.4.r1.1b" codeSystem="2, 16. 840. 1. 113883. 6. 163"
codeSystemVersion="D. 9,4, 1. 1a"> :
¢l——D.9. 4.1 la: MedDRA Version for Autopsy—determined Cause(s) of Death #2 —>
¢l-- D.9.4. 1. 1b Autopsy—determined Cause (s} of Death (MedDRA code) #2 ——
{originalText>D. 9. 4. r. 2¢/originalText>
<J— D.9.4.r. 2: Autopsy—determined Cause (s} of Death (free text) #2 ~>
</value>
{/observation>
¢/vutboundRelationship2>
{/observation>
{/subjectOf2>
{subject0f2 typeCode="SB]">
{cbservation classCode="0BS" moodCode="EVN™>
<id root="154eh889-958b—4512-a02f-42d4d6f465TF" />
<code code="29" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="reaction”/>
<effectiveTime xsi:type="IVL_T5">
(low value="20090101"/>
¢{l-—— E.i.4: Date of Start of Reaction / Event #l —>
<high value="20090102"/>
<1-- E.i.5: Date of End of Reaction / Event #1 ——
{/effectiveTime>
} <yalue xsi:type="CE” code="E.i.2. 1b" codeSysten="2. 16. 840. 1. 113883. 6. 163"
codeSystenVersion="E.i.2. 1a">
¢}—— E.i.2. 1a: MedDRA Version for Reaction / Event 1 —>
¢I— E.i.2.1b: Reaction / Event (MedDRA code) #1 —>
<originalText language="E. i, 1. 1b™>E. i. 1. 1a{/originalText>
¢I-—— E.i. 1, la: Reaction / Event as Reported by the Primary Scurce in Native Language #1 —>
¢l—— E.i. L. 1b: Reaction / Event as Reported by the Primary Source Language #1 —>
{/value>
{lecation typeCode="10C">
¢locatedEntity classCode="LOCE™>
(locatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="E.i.9" codeSysten="1.0.3166.1.2.27/>
{1~ E.i.9: Identification of the Country Where the Reaction / Event Dccurred #1 ——>
{/locatedPlace>
¢{locatedEntity>
{/location>
{outboundRelationship? typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN™>
{code code="30" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reactionForTranslation”/>
{value xsi:type="ED">E.1i.1.2<¢/value}
<!-— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #1 ——>
</observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code code="37" codeSystem="2, 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1,1
displayName="termHighlightedByReporter”/> ’
<value xsi:type="CE” code="E.i,3.1" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 107

codeSystemVersion="1.0"/>

»



<{— E.i.3.1: Term Highlighted by the Reporter #1 —>
</observation>
</outboundRelationship2>
{outboundRelationship? typeCode="PERT"™>
<ohservation ¢lassCode="0B3" moodCode="EVN"> .
{code code="34" codeSystem="2.16.840. 1. 113883. 3.989.2. 1. 1. 19 codeSystemVersion="1. 1"
displayName="resultsInDeath”/>
<value xsi:type="BL" value=" true "/
{l-— E.i.3.2a7 Results in Death #1 —>
</observation> :
{/outboundRelationship2>
{cutboundRelationship? typeCode="TERT™>
<observation classCode="0BS" moodCode="EYN">»
{code code="21" codeSystem="2, 16, 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="isLifeThreatening”/> .
<value xsi:type="BL” nullFlavor="NI"/>
¢l=— E.i.3.2b: Life Thresatening #1 —>

{/observation>
{/outboundRelaticnship2®
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™>
{code code="33" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1, 19" codeSystenVersion="1.1"
d1sp1abeme— requiresInpatientHospitalization” /> '
{value xsi:type="BL" value="true"/>
¢I—- E.i.3.2c: Caused / Prolonged Hospitalisation #1 ~>
{/observation>
</outboundRelationship2>
<outhoundRelationship? typeCode="PERT™>
{observaticn classCode="0BS" moodCode="EVN™> ‘
{cade code="35" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemYersion="1.1"
displayName="resultsInPersistentOrSignificantDisability”/> ‘
{value xsi:type="BL” nullFlavor="NKI"/>
¢l E.i.3.2d: Disabling / Incapacitating #I—>
{/observation>
</outboundRelationship2>
{outboundRelaticnship2 typeCode="PERT™>
<observation classCode="0BS” moodCods="EVN">
{code code="12" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 18" codeSystemVersion="1.1"
displayName="congenitalAnomalyBirthDefect™/>
" {value xsi:type="BL” nullFlavor="NI"/>
{l-- E.i.3.2e: Congenital Ancmaly / Birth Defect #1 —>
</observation>
¢/outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
<observation classCode="0BS” moodCode="EVN">
{code code="26" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1, 1"
displayName="otherMedicallylmportantCondition™/>
{value xsi:type="BL" value="true”/>
<1-- E.1i.3.2f: Other Medically Important Condition #1 —>
{/observation®
{/outboundRelationship2>
{outboundRelationship? typeCode="PERT™>
<observation classCode="0BS” moodCode="EVN"> i
<code ¢ode="27" codeS¥stem="2. 16. 840, 1. 113883, 3, 989. 2. 1. 1. 19" codeSystemVersion="1, 1"
displayName="outcome”/> .
' <value xsi‘type="CE” code="E.i. 7" codeSystem=”2.16.840.1.113883,3.989:2.1.1.11'
codeSystemVersion="1.0"/>
<!— E.i.7: Outcome of Reaction / Event at the Time of Last Observation &#1 —>
{/observation®
{/outboundRelationship2>
{eutboundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN">
. "<code code="24" codeSyster="2. 16. 840. 1. 113883. 3. 089. 2. 1. 1, 19" codeSystemVers1on— 1. 1
displayName="medicalConfirmationByHealthProfessional”/>
{value xsi:type="BL" value="true />y
¢l-- E.i.8: Medical Conflrmatlon by Healthcare Professional ‘#1 —>
{/cbservation>
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT">



{observation classCode="0BS” moodCade="EVN">

{code code="11" codeSystem="2, 16, 840, 1. 113883. 3.989. 5. 1. 3. 2. 1. 107 codeSystenVersion="1. 0"

displayName="40 « EE50" />

{value xsi:type="CE” code="J2.14.1i" codeSystem="2. 16. 840, 1. 113883. 3.989.5.1.3.2. 1. 87

codeSystemVersion="1.0"/>
<l— egaj. 14.1 A - BB 81 —>
{/observation>
{/outboundRelationship2>
{/observationd
</subject0f2>
{subject0f2 typeCode="SB]">
{ohservation classCode="0BS” moodCode="EVN">
<{id root="2baa28d6—cYe8-4e6c-93e9-5b860b3142207 />
<code code="29" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reaction”/> .
{effectiveTime xsi:type="IVL_TS">
<low value="20090101"/>
{|— E, i.4: Date of Start of Reaction / Event #2 —>
<width value="24" unit="E.i.6b"/>
¢}— E.i.6a: Duration of Reaction / Event (number) #2 —>
¢l— E.1i.6b: Duration of Reaction / Event (unit) #2 —>
¢/effectiveTime>
<value xsi:type="CE” code="E.i.2.1h" codeSystem="2.16. 840. 1. 113883. 6. 163"
codeSystemVersion="E. 1. 2. 1la™> R
¢{1-- E.1.2. 1a! MedDRA Version for Reaction / Event #2 —>
{1— E.i.2. 1b: Reaction / Event {MedDRA code) #2 ——>
<originalText language="E.i.l.1b">E.i.l. la{/originalText>

(!~ E.i,1.1a: Reaction / Event as Reported by the Primary Source in Native Language #2 ——>

{{— E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #2 —>
{/value>
<location typeCode="LOC™>
{locatedEntity classCode="LOCE"> )
{locatedPlace classCode="COUNTRY” determinerCede="INSTANCE">
{code code="E.i.%" codeSystem="1.0.3166.1.2.2"/> :

{l-— E.i.9: Identification of the Country Where the Reaction / Event Qccurred #2 —>

{/lccatedPlace>
</locatedEntity>
{/location>
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS™ moodCode="EVN™>

{code code="30" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19”7 codeSystemVersion="1.1"

displayName="reacticnFerTranslation”/>
Cyalue xsi:type="ED™ME. 1. 1.2¢/valued>

¢l— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #2 —

{/observation>

{/outboundRelationship2>

{outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS” mocdCode="EVN">

{cade code="37" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"

displayName="ternHighlightedByReporter”/> .
{value xsi:type="CE” code="E.i.3.1” codeSystem="2.16.840.1.113883.3.989.2.1.1, 10"
codeSystemVersion="1.0"/>
{l-— E.i.3.1:Term Highlighted by the Reporter #2 —>
{/observation>
<{/outhoundRelationship2>
CoutboundRelationshipZ typeCode="PERT">
<observation classCode="0BS” moodCode="EVN™> -

<code code="34" codeSystem="2.16. 840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"

displayName="resultsInDeath”/>
¢value xsi:type="BL” value="true”/>
¢}— E.i.3.2a: Results in Death #2 —>
</observation>
¢/outhetindRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN">

{code code="21"" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 19”7 codeSystemVersion="1,1"

displayName="isLifeThreatening”/>
{value xsi:type="BL" nullFlavor="NI"/>
¢!-— E.i.3.2b: Life Threatening #2 —>



{/ebservation>
</outboundRelztionship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” maodCode="EVN™>
{code code="33" codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1. 19" codeSystemVersion="1.1"
displayName="requiresInpatientHospitalization”/>
{value xsi:type="BL” value="true"/>
{I-~ E.1.3,2¢c: Cansed / Prolonged Hospitalisation #2 —>
{/observation>
</outboundRelationship2>
'<outboundRelat1onsh1p2 typeCode="PERT ">

R T P P =" =TI
{ohsey vqt.n.uu classCode= GBS moodCade="EVN >

{code cade="35" codeSystem="2. 16, 840. 1. 113883, 2. 989. 2. 1. 1. 19" codeSystemVersion="1. 1"
dlsplayName— resultsInPers1stentDrS1gn1f1cantD1sab111ty />
{value xsi:type="BL" nullFlavor="NI"/>
{le~ E.i.3.2d: Disabling / Incapacitating £#2 —>
</observation>

{/outboundRelationshipZ>
{outboundRelaticnship2 typeCode="PERT” >
{observation classCode="0BS” moodCode="EVN">
" <code code="12" codeSystem="2, 18, 840. 1. 113883. 3. 989. 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="congenitalAnomal yBirthDefect” />
{value xsirtype="BL” nullFlavor="NI"/>
¢{{— E.i. 3. 2e: Congenital Anomaly / Birth Defect #2 —>
</observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT"Y
{observation classCode="0BS" moodCode="EYN"> )
{code code="26" codeSystem="2. 16. 840. 1. 113883. 3,989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="otherMedicallyImportantCondition”/) .
<value xsi:type="BL" value="true"/>
<!— E.i.3 2f: Other Medically Important Condition #2 —>
</observation>
 {/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCede="0BS” moodCode="EYN™> )
<code code="27" codeSysten="2. 16. 840, 1. 113883. 3, 989, 2. 1. 1. 19" codeSystemVersion="1.1"

&+

displayName="outcone”/> . )
<value xsi:type="CE” code="E.i.7" codeSystem="2.16. 840. 1. 113883. 3.989. 2. 1. 1. 11"
codeSystemVersion="1.07/>
{l— E.i.7: Outcome of Reaction / Event at the Time of Last Observation 2 —>
</observation>
{/outboundRelationship2>
<outboundRelationship2? typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
{code code="24" codeSyster="2. 16. 840. 1. 113883. 3,989, 2. 1. 1. 19" codeSystemYersion="1.1"
dlsplayName— medicalConfirmationByHealthProfessional”/>
<value xsi:type="BL" value="true”/>
¢I-- E.i.8: Medical Confirmation by Healthcare Profess1onal #2 —>
{/cbservationd
</outboundRelationship2>
{outboundRelationship® typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™>
. . {code code="11" codeSystem="2, 16. 840, 1, 113883, 3.989. 5. 1. 3. 2. L. 10" codeSystenVersion="1. 0"
displayName="3k4n - BEX07/>
. {value xsi:type="CE” code="J2.14.1” codeSystem="2. 16.840. 1. 113883.3.989.5.1,3.2.1. 8"
codeSystemVersion="1.0"/>
(I— @eaJe. 14.1 kM - BB #2 —
{/observation>
</outboundReIatlonsh1p2>
</chservation)
{/subject0r2>
{subject0f2 typeCode="SB]">
<observation classCode="0BS" moodCode="EVN">
<id root="3a8626chb-9f1b~4eaB8-8ali-e0ff34430adf" />
{code code="29" codeSystem="2. 16. 840, 1. 113883, 3.989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="reaction”/>
<effectiveTime xsi:type="IVL_TS™>
<width value="24" unit="E.i.6b"/>



¢l-- E.i.6a: Duration of Reaction / Event {number) #3 —>
¢l-— E.i.6b: Duration of Reaction / Event {unit) #3 —>
<high value="20101201"/>
<l-- E.i.5: Date of End of Reaction / Event #3 —>
{/effectiveTime>
<value xsi:type="CE” code="E.i.2. 1b" codeSysten="2. 16, 840, 1. 113883. 6. 163"
codeSystemVersion="E. i. 2. 1a">
¢l-- E.i.2. la: MedDRA Version for Reaction / Event #3 —>
¢l— E.i.2.1b: Reaction / Event (MedDRA code) #3 -—>
<originalText language="E.i.l. 1b">E.i. 1. la{/originalText>
¢l— E.i.1.1a: Reaction / Event as Reported by the Primary Source in Native Language #3 ——
¢l-- E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #3 —>
{/value> )
<location typeCode="LOC™>
{locatedEntity classCode="LOCE™>
{locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">
<code code="E.1i.9” codeSystem="1.0.3166.1.2.2"/>
¢l-- E.i.9: Identification of the Country Where the Reaction / Event Qccurred #3 —>
‘¢/locatedPlace>
</locatedEntity>
{/location>
<outboundRelationship? typeCode="PERT">
Cobservation classCode="0BS” moodCode="EVN™>
{code code="30" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reactionForTranslation”/> .
<value xsiitype="ED"JE.1i, 1. 2{/value>
{{-= E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #3 ——>
</observation>
</outboundRelationship2>
<outhoundRelationship? typeCode="PERT™>
<observation classCode="0BS” moaodCode="EVN™>
- {eode code="37" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1
displayName="termHighlightedByReporter”/>
~ <value xsiitype="CE” code="E.1.3.1" codeSystem="2. 16,840, 1. 113883.3,989.2, 1.1, 107
codeSystemVersion="1.0"/>"
¢{|— E.i.3.1:Term Highlighted by the Reporter #3 —>
</observation?
</outboundRelationship2>
<outhoundRelationship2 typeCode="PERT™>
<observation classCede="0BS” moodCode="EVN">
<code code="34" codeSystem="2.16. 840, 1. 113883. 3, 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="resultsInDeath”/>
" <value xsi:type="BL" value="true"/>
<!--— E.i.3.2a: Results in Death #3 ~—>
<{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation c¢lassCode="0BS" moadCode="EVN"> .
<code code="21" codeSystemn="2, 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1
displayName="isLifeThreatening”/> ‘
{value xsi:type="BL” nullFlavor="NI"/>
¢l~— E.i.3.2b: Life Threatening #3 —>
</ohservation>
{foutboundRelationshipZ>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™>
{code code="33" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 18" codeSystemVersion="1.1"
displayName="requiresInpatientHospitalization™/>
{value xsi:type="BL” value="true”/>
{!-— E.i.3.2c: Caused / Prolonged Hospitalisation #3 —>
</ohservation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation clas$Code="0B5" moodCode="EVN">
{code code="35" codeSystem="2. 16.840.1.113883.3.989. 2. 1.1.19” codeSystemVersion="1.1
displayName="resultsInPersistent0rSignificantDisability”/>
<value xsi:type="BL” nullFlaver="NI1"/>
¢l-—— E.i.3.2d: Disabling / Incapacitating #3 —>
</observation>

I

-

-



</outboundRelationship2>
" {outboundRelationship? typeCode="PERT">
<observation classCode="0BS” moodCode="EVN"> .
- {code code="12" codeSystem="2, 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1. 1
displayName=" cnngenltalAnomaIyBlrthDefect /o
<value xsi:type="BL" nullFlaver="NI"/>
¢l-—- E.1i.3.2e: Congenital Anomaly / Birth Defect #3 —>
{/obhservation>
{/outboundRelationship2>
<outhoundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN">
{code code="26" codeSystem="%. 16.840.1.11“883 3,989, 2. 1. 1. 18" codeSystemVersion="1.1"
d1splayName— otherMedlcallyImportantCond1t1on />
Cvalue xsi:type="BL" value="true”/>
¢l— E.1i.3.2f: Other Medlcally Important Condition #3 —>
¢/observation>
</outboundRelationship2>

”

{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
{code code="27" codeSystem="2, 16, §40. 1. 113883. 3.989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="outcone”/>
. {value xsi:type="CE" code="E.i.7” codeSystem="2.16.840.1.113883.3.989.2.1.1. 11"
codeSystemVersion="1. 0" /> ’
<l E.i.7: Outcome of Reaction / Event at the Time of Last Observation #3 —
{/observation>
<{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0B5" moodCade="EVN"> .
" <code code="24" codeSystem="2. 16. 840, 1. 113883, 3.980. 2. 1, 1. 19 codeSystemVersion="1.1"
displayName="medicalConfirmationByHealthProfessional”/> '
<valve xsi:type="BL” value="true”/>
{l-- E.i.8: Medical Confirmation by Healthcare Professional #3 —>
{/observation>
<{/outhoundRelationship2>
{outhoundRelationship? typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™>
{code code="11" codeSystem="2. 16. 840. 1, 113883.3.989.5. 1. 3. 2. 1. 10" codeSystemVersion="1.0" -
displayName="7%n - BE4n”/> '
{value xsi:type="CE” code="]2.14.1" codeSystem="2, 16.840. 1. 113883.3.989.5.1.3.2. 1.8
codeSystemVersion="1. 0"/
~- @gajz. 14.1 k40 - FEH H —>
{/cbservation>
</ounthoundRelationship2>
</observation>
</subject0f2>
(subject0f2 typeCode="SB]">
{observation classCode="0BS™ moodCode="EYN™>
{id root="289840f-08b4-499¢c—B0f f—dd8415£4F8a5" />
{code code="29" codeSysten="2. 16. 840, 1. 113883. 3. 989. 2, 1. 1. 19" codeSystemVersion="1, 1"
displayName="reaction”/> :
{effectiveTime xsi:type="SXPR_TS">
{comp xsi:type="IVL_TS">
{low value="2005010t"/>
¢!— E.i.4: Date of Start of Reaction / Event #4 —->
<high value="20101201"/>
{[-- B.i.5: Date of End of Reactlon / Event #4 —>
{/comp?>
{comp xsi:type="IVL_TS” operator="A">
{width value="24" unit="E.i.6b"/> - ‘
{l— E.i.6a: Duration of Reaction / Event (number) #4 —-
¢!~ E.i.6b: Duration of Reaction / Event {unit) #4 —>
{/comp>
{/effectiveTimed
{value xsi: type— “CE” code="E.1.2. 1b™ codeSystem="2. 16, 840, 1. 113883. 6. 163"
codeSystemVersion="E. i, 2. 1a™>
<!— E.i.2 la’ MedDRA Version for Reaction / Event #4 —>
<= E.i.2. 1b: Reaction / Event (MedDRA code} #4 —>
{originalText language="E.i. 1. 1b"™>E.i. 1. 1a/originalText}
¢!—— E.i.1. 1a: Reaction ( Event as Reported by. the Primary Source in Native Language #4 —



¢}=— E.i.1.1b: Reacticn / Event as Repotted by the Primary Source Language #4 —>
{/value>
{location typeCode="LOC™>
. <locatedEntity classCode="LOCE">
<locatedPlace classCode="COUNTRY” determinerCode="TINSTANCE™>-
<code code="E.i.9" codeSystem="1.0.3166.1.2.27/>

{!— E.i.9: Identification of the Country Where the Reaction / Event Occurred #4 —>

</locatedPlace>
<{/locatedEntity>
. </location>
{outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS” mocdCode="EVN">

{cade code="30" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"

displayName="reactionForTranslation”/>
{yalue xsi:type="ED">E.1i. 1.2¢/value>

¢l-— E.i.1,2: Reaction / Event as Reported by the Primary Source for Translation #4 —->

</cbservationy
{/outboundReiationship2>
{outhoundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN">

{code code="37" codeSystem="2, 16, 840. 1. 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion=" 1 1”

displayName="termHighlightedByReporter”/>
{value xsi:type="CE” code="E.i.3.1” codeSystem="2, 156.840.1.113883.3.989.2. 1. 1. 10
codeSystemVersion="1. 0" />
¢l-—— E.i.3.1:Term Highlighted by the Reporter #4 —>
</ohservation®
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">

<code code="34" codeSystem="2. 18, 840 1.113883,3.989. 2, 1.1, 19" codeSystemVersion="1, 1"

displayName="resultsInDeath”/>
Cvalue xsi:type="BL" value="true”/>
¢l-- E.i.3. 2a: Results in Death #4 —>
{/chservation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN">
{code code="21" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 1%
displayName="isLifeThreatening”/>
<value xsi:type="BL” nullFlaver="NI"/>
¢l— E.1.3.2b: Life Threatening #4 —>
</ohservatian>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN™>

»

codeSystemVersion="1. 1

»

<code code="33" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 19™ codeSystemVersion="1,1"

displayName="requiresInpatientHospitalization”/>
Svalue xsi-type="BL" value="true”/>
<l— E.1i.3.2c: Caused / Prolonged Hospitalisation #f4 —>
{/observation>
{/sutbhoundRelationship2>
{outhoundRelationship? typeCode="PERT">
<ohservation classCode="0BS” moodCode="EVN">

{cede code="35" codeSystem="2. 16. 840. 1. 113883, 3.989. 2. 1. 1. 19" codeSystemVersion="1,1

displayName="resultsInPersistentOrSignificantDisability”/>
{value xsi:type="BL” nullFlavor="NI"/>
!~= E.i.3.2d: Disabling / Incapacitating #4 —>
{/observation> '
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0B5" moodCode="EVN">

»

{code code="12" codeSystem="2. 16, 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystenVersion="1.1"

displayName="congenitalAnomal yBirthDefect”/>
{yalue xsi:type="BL” nullFlavor="NI"/>
. {!— E.i.3.2e: Congenital Anomaly / Birth Defect #4 ——>
{fobservation>
{/outhoundRelationship2>
<outboundRelationship2 typeCode="PERT"™>
{observation classCode="0BS” moodCode="EYN">



{code code="26" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2 1.1, 19 codeSystenVersion="1.1"
displayName="otherMedicallyImportantCondition”/>
{value xsi:type="BL” value="true”/>
<{— E.{i.3.2f: Other Medically Important Condition #4 —>
</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERI">
<observation classCode="0BS"™ moodCode="EVN">
‘ {code code="27" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="cutcome”/> .
{value xsi:type="CE” code="E, i.7" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1. 1. I11*

codeSystemVersion="1. 6"/ .
{}— E.i.7: Outcome of Reaction / Bvent at the Time of Last Observation #4 —)>
</observation>,
</outboundRelatlonsh1p2>
<outboundReIat10nsh1p2 typeCode="PERT" )
{observation classCode="0BS" moodCode="EVN">

{code code="24" codeSystem="2. 16. 840. 1. 113883. 3. 089. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="medicalConfirmationByHeal thProfessional”/>
(value xsi:type="BL” value="true”/>
<!— E.i.8: Medical Confirmation by Healthcare Professional #4 —>
{/observation>
</outboundRelationship?>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN"> .
{code code="11" codeSystem="2. 16. 840. 1. 113883, 3, 980.5. 1. 3.2, . 10" codeSystemVersion="1. 0"
displayName="340 « BE50"/>
<value xsi!type="CE" code="J2.14.i" codeSystem="2.16.840. 1. 113883.3.985.5.1.3.2. 1, 8"
codeSystemVersion="1.0"/>
’ <I— @eaJ2. 14.1 m - BEsn #4 —
{/observation>
{/outboundRelationship2>
</cbhservation>
{/subject0f2>
(subject0f2 typeCode="SBI">
{observation classCode="0BS" moodCode="EVN">
<id root="1071064c—cF10-4a3b-83c1~34f9ddb7eabd”/>
{code code— 29" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reaction”/>
- {effectiveTime xsi:type="IVL_TS">
<low value="20090101"/> )
<I-- E.i.4: Date of Start of Reaction / Event #5 -=>
{/effectiveTime>
<value xsi'type="CE" code="E.1i,2, Ib" codeSystem="2.16. 840, 1. 113883. 6. 163"
codeSystemVer51on— E.i.2 1a">
¢l— E.i.2. 1a: MedDRA Version for Reaction / Event #5 —>
<!~ E. 1.2 1b: Reaction / Event (MedDRA code) #5 ——>
<originalText language="E.i.1.1b">E. i. 1. la¢/originalText>
{l— E.i. 1 la: Reaction / Event as Reported by the Primary Source in Native Language #5 —>
{I-- E.i.1.1b: Reaction / Event as Reportad by the Primary Source Language #5 —>
<{/value
<location typeCaode="LOC">
" {locatedEntity classCode="LOCE™>
{locatedPlace classCode="COUNTRY” determlnerCode— INSTANCE™>
{code code="E.i.9" codeSysten="1.0.3166.1.2. 2"/
<I— E.i.9: Identification of the Country Where the Reaction / Event Occurred #5 —»
</locatedPlace>
{/lecatedEntity>
¢/location>
<outhoundRelationship? typeCode="PERT™>
<{ovhservation classCode="0BS" moodCode="RVN™>
{code code="30" codeSystem="2. 16. 840. 1. 113883. 3. 989.2. 1. 1, 197 codeSystemVerslon— 1.1
dlsplayName— reactionForTranslation”/>
¢value xsiitype="BED"DE.i.1.2¢/value}
<l— E.i.1.2: Reaction / Bvent ds Reported by the Primary Source for Translation #5 ——>
</observation»
{/outboundRelationship2>
{outhoundRelationship? typeCode="PERT">
{observation classCode="0BS" moadCode="EVN">



<code code="37"" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
dlsplayName— termHLghl1ghtedByReporter e
<value xsi:type="CE” code="E.i.3.1" codeSystem="2. 16. 840, 1. 113883, 3.989. 2. 1. 1, 10"
codeSystemVersion="1. 0" /> .
¢!~ E.i,3.1:Term Highlighted by the Reporter #5 —>
</observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
{observation classCode="0B5" moodCode="EVN">
{code code="34" codeSystem="2. 16. 840, 1. 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="resultsInDeath”/>
<value xsi:type="BL" value="true”/>
{!== E.i.3.2a: Results in Death #5 —>
{/observation>
</outhoundRelationship2>
<outboundRelaticnship? typeCode="PERT">
<observation classCode="0BS” moodCade="EVN">
<code code="21" codeSystem="g. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="isLifeThreatening”/>
<value xsi:type="BL” nullFlavor="NI"/>
¢l~~ E.i.3.2b: Life Threatening #5 —>
</cbservation>
{/outboundRelationship2>
<outhoundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN™>
<eode code="33" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemYersion="1.1
displayName="requiresInpatientHospitalization™/>
{value xsi:type="BL" value="true”/>
<l-~ E. i.3.2c! Caused / Prolonged Hospitalisation 5 —>
</observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
{code code="35" codeSystem="2. 16.840. 1. 113883.3.989.2.1.1.19
displayName="resultsInPersistentOrSignificantDisability”/>
{value xsi:type="BL” nullFlavor="NI"/>
¢l— E.i.3.2d: Disabling / Incapacitating #5 —>
</observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN">
<code code="12" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1,1"
displayName="congenitalAnomal yBirthDefect”/>
<value xsi:type="BL” nullFlavor="NI"/>
¢!== E.i.3.2e: Congenital Anomaly / Birth Defect #5 —>
</observation>
</outhoundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{ohservation ¢lassCode="0BS" moodCode="EVN™>
{code code="26" codeSystem="2, 16. 840, 1. 113883. 3. 989, 2. 1. 1. 19”7 codeSystemVersion="1.1"
dlsplayName— "otherMedicallyImportantCondition”/>
{value xsiItype="BL" value="true”/>
¢!~ E, i.3.2f: Other Medically Important Condition #5 —>
</observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERI”>
<observation classCode="0BS” moodCode="EVN">
<code code="27" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 18" codeSystemYersion="1.1"

»

-

codeSystemVersion="1. 1"

displayName="outcome” />
{value xsi:type="CE” code="E.i.7" codeSystem="2. 16,840, 1, 113883.3.989.2.1.1.117
codeSystemVersion="1.07/>
{!— E.i.7: Outcome of Reaction / Event at the Time of Last Observation #5 —>
</ohservation? '
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
{observation classCode="0B3” moodCode="EVN">
<code code="24" codeSystem="2.16. 840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="medicalConfirmationByHeal thProfessional”/>
<value xsi:type="BL” value="true”/>



{l=~ E.i.8: Medical Confirmation by Healthcare Professional #§ —>
</observation
</outboundRelationship2>
- <outboundRelationship2 typeCode="FERT™>
{observation classCode="0BS” moodCode="EVN™>
. {code code="11" codeSystem="2. 16, 840, 1. 113883. 3. 889, 5. 1. 3. 2. 1. 10" codeSystemVersion="1.0"
displayName="2R%0 - BEX" /> :
Cvalue xsiitype="CE” cade="]2.14.i" codeSystem="2. 16.840.1, 113883.3.989.5.1.3.2.1, 8"
codeSystenVersion="1. 0"7/> ' ’ :
1— 20832, 14.1 K40 - BEF H#5 —>
</observation®
</outboundRelationship2»
{/observation>
</subjectOf2>
{subject0f2 typeCode="SB]™> .
- {observation classCode="CBS” moodCode="EVN">
<id root="17927283-10b6-4334-9d43-e925640Fh 18" />

{code code="29" codeSystem="2. 16.840. 1, 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
d1splayName- reaction”/>
{effectiveTime xsi: ‘type="IVL_TS">
<high value="20090101"/>
<l-- E.i.4: Date of Start of Keaction / Event #6 —>
{/effectiveTime> )
{value xsi:type="CE” code="E.1. 2 b codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystenVersion="E. i. 2. 1a">
<{I— E.i.2 la: MedDRA Versicn for Reaction / Event #6 —>
{l-- E.i.2. 1b7 Reaction / Event (MedDRA code) #5 —>
{originalText language="E.i.1.1b">E.1i. 1. la¢/originalText>
<!~ E.i.1.1a: Reaction / Event as Reported by the Primary Source in Native Language #6 —>
<!— E.i. 1 1b: Reaction / Event as Reported by the Primary Source Language H6 —>
. &/fvalue>
C(location typeCode="LOC™>
<locatedEntity classCode="LOCE">
{locatedPlace classCode="CQUNTRY" determlnerCode— INSTANCE™>
<code cade="E. 1,9” codeSystem="1.0,3166.1.2.2"/>
{}— E.i.9: Identification of the Country Where the Reaction / Event Dccurred HE —)
{/locatedPlace>
</locatedEntity>
</location>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN™>
{code code="30" codeSystem="2, 16, 840. 1. 113883. 3. 989.2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reactionForTranslation”/>
<{value xsi:type="ED">E. i.1.2<¢/value>
¢!-- E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation H6 —>
</observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
{observation classCode="0B5" moodCode="EVN">
. . ¢code code="37" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. 1, 1. 19" codeSystemVersion="1, 1
displayName="termHighlightedByReporter”/> ‘
<value xsiitype="CE" tode="E.i.3.1" codeSystem="2. 16.840.1.113883. 3. 989.2. 1. 1. 10"

”

codeSystemVersion="1. 0" />
: ¢!—- E.i, 3.1:Term Highlighted by the Reporter 6 —>
</observation>
{/outboundRelationship2>
<outhoundRelaticnship? typeCode="PERT">
<observation classCode="0BS” mooadCode="EVN">
{code code="34" codeSystem="2.16.840. 1. 113883.3.980. 2. 1. 1. 19" codeSystemVersion="1. 1
displayName="resultsInDeath”/>
{value xsi:type="BL" value="true"/>
<!— E.i.3.2a: Results in Death #6 —>
{/observation>
</outboundRelationship2>
<outhoundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN™>
{code code="21" codeSysten="2. 16. 840, 1. 113883. 3. 989. 2. 1, 1. 19" codeSystemYersion="1.1"
displayName="isLifeThreatening”/> :
‘ Cvalue xsiitype="BL” nullFlavor="NI"/>

rd



¢l— E.i.3.2b: Life Threatening #6 —>
</observation>
<{/outboundRelationship2>
<outhoundRelationship? typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<code code="33" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="requiresInpatientHospitalization™/>
{value xsi:type="BL" value="true”/>
{l+— E.i.3.2c: Caused / Prolonged Hospitalisation #6 —>
{/observation>
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT"»
<observation classCode="(0BS" moodCode="EVN">
{code code="35" codeSystem="2. 16. 840. 1. 113883.3.985.2.1.1. 19
displayName="resultsInPersistentOrSignificantDisability”/>
{value xsi:type="BL” nullFlaver="NI"/>
{l— E.i.3.2d: Disabling / Incapacitating #6 ——>
{/observation>
{/outboundRelationship2>
{outboundRelationship? typeCode="PERT">
{ohservation classCode="0BS” moodCode="EVN">
{code code="12" codeSystem="2. 16. 840. 1 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1,1"
displayName="congenitalAnomalyBirthDefect”/>
<value xsi:type="BL” nullFlavor="NI"/>
¢Il—- E.i.3.2e: Congenital Anomaly / Birth Defect #6 —>
{/observation>
</outboundRelationship2>
¢outboundRelationship? typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
{code code="26" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="otherMedicallyImportantCondition”/>
<value xsi:type="BL” value="true”/>
{!— E.i.3.2f: Other Medically Important Condition #6 -—
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code code="27" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19”7 codeSystemVersion="1.1"

-

codeSystemVersion="1, 17

displayName="outcone” />
<value xsi:type="CE” code="E.i.7" codeSysten="2.16.840.1.113883.3.989.2.1.1.11"
codeSystenVersion="1. 0" />
¢!— E.i.7: Outcome of Reaction / Event at the Time of Last Observation #6 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT"> ~
{observation classCode="0BS” moodCode="EVN">
{code code="24" codeSystem="2. 16. 840. 1, 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="medicalConfirmationByHeal thProfessional”/>
<value xsi:type="BL” value="true”/>
¢!-— E.1i.8: Medical Confirmation by Healthcare Professional #{6 —>
</observation®
- ¢/outboundRelationshipZ>
<outboundRelationshipZ typeCode="PERT">
{observation classCode="0BS” moadCade="EVN">
<code codes"11” codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1.0"
displayName="3%0 - BEEN"/>
<value xsi:type="CE” code="J2.14.1" codeSystewm="2. 16,840, 1. 113883.3.989.5.1.3.2.1. 8"
codeSystemVersion="1, 0"/>
<I-- e@ajz. 14.i & - 8E5e 46 —>
{/observation>
{/outboundRelationship2>
' {/observation>
{/subject0f2>
<{subject0f2 typeCode="SBJ™>
{observation classCode="0BS" moodCode=" EVN >
{id reot= 80342969—38be—423f—h6bb—ce14b0279d88"/)
<code code="29" codeSystem="2. 16.840. 1, 113883.3.989,2. 1. L. 19 codeSystemVersion="1.1"
displayName="reaction”/>
LeffectiveTime xsi:type="TVL_TS">



<width value="24" unit="E.1i.6h"/>
<l—— E.i.6a: Duration of Reaction / Event (number} #7 —>
<i— E.i.6b: Duration of Reaction / Event (unit) #7 —>
</effectivelime>
<value xsiitype="CE” code="E.i.2.1b" codeSystem="2. 16. 840. 1. 113882, 6. 163"
codeSystenVersion="E. i. 2. 1a”™>
{l— E.i.2.la: MedDRA Version for Reaction / Event #7 —>
- €l— E.i.2.1b: Reaction / Event (MedDRA code) #7 —>
{originalText language="E, i.l.Ib"™>E.i. 1. la¢/originalText>
¢l— E.i.1.1a: Reaction / Event as Reported by the Primary Source im Native Language #7 —
<— E. i. 1 ib: Reactlon / Event as Reported by the Primary Source Language #7 —>
\/ leue/
{lacation typeCode="LOC™>
" {locatedEntity- classCode="LOCE™> .
<locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">
<code code="E. i.9” codeSystem="1.0,3166.1.2.2°/>
{l-=E.i.9: Ydentification of the Country Where the Reaction / Event Occurred #7 —)

{/locatedPlace>
¢{/locatedEntity>
</location>
{outboundRelationship? typeCode="PERT“>
<observation classCode="0BS" moodCode="EVN">
{code code="30" codeSystem="2, 16. 840. 1. 113883, 3. 983. 2. 1. 1. 15" codeSystemVersion="1.1"
displayName="reactionForTranslation”/> .
{value xsi:type="ED">E.1i. 1. 2¢/value>
{I-— E.i.1.2: Reactiocn / Event as Reported by the Pr1mary Source for Translation #7 —>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
<observation classCode="0B53" moodCode="EVN">
<code code="37" codeSystem=" 2 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVers1on— Lt
displayName="ternHighl ightedByReporter”/>
{value xsi:type="CE” code="E.i.3.1" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 10”
codeSystemVersion="1.0"/>
(!— E.i.3.1:Term Highlighted by the Reperter #7 ——>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0RS" moodCode="EVN™> ‘
. {cods code="34" codeSysten="2. 16, 840, 1. 113883. 3. 889. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="resultsInleath”/>
’ {value xsi:type="BL" value="true”/>
{i-— E.i.3.2a: Results in Death #7 —>
<{/ohservation)
</cutboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
{code code="21" codeSystem="2, 16. B40. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1, 1
dlsplaythe» isLifeThreatening” />
{value xsi:type="BL” nullFlavor="NI"/>
<!-— E.i.3.2b: Life Threatening #7 —>
</observaticn>
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT">
Lobservation classCode="0BS” moodCode="EVN">
<code code="33" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="requiresInpatientHospitalization”/>
{value xsi:type="BL" value="trus”/>
<l— B.i.3.2¢: Caused / Prolonged Hospitalisation H7 —=>
{/observation>
{/outhoundRelationship2>
{outboundRelationship2 typeCode="PERI">
<observation classCode="0BS" moodCode="EVN">
{code cade="36" codeSystem="2. 16. 840. 1. 113883. 3, 989. 2. 1. 1. 19" codeSystemVersion="1.1"
dlsplayNéme- resultsInPersistentOrSignificantDisability”/>
<value xsiitype="BL" nullRlavor="NI"/>
<|-- BE.i.3.2d: Disabling / Incapacitating #7 —>
{/observation> . -
{/ountboundRelationship2> '

”»



<outhoundRelationship? typeCode="PERT">
<{abservation classCede="0BS" moodCode="EVN">
<code code="12" codeSystem="2. 16.840. 1, 113883. 3.989.2. 1. 1. 19” codeSystemVersion="1.1"
displayName="congeni talAnomal yBirthDefect”/>
¢yalue xsi:type="BL” nullFlaver="NI"/> -
¢}—— E.i.3. Ze: Congenltal Anomaly / Birth Defect #7 —>
</observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” maodCode="EVN™>
<code code="26" codeSystem="2. 16, 840.1. 113883. 3. 989. 2. 1. 1. 18" codeSystemVersion="1.17
displayName="othetHedicallylnportantCondition”/>
<value xsi:type="BL” value="true”/>
{!— E.i.3.2f: Other Medically Important Condition #7 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
{code ecode="27" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19” codeSystemYersion="1. 1"
displayName="outcome”/> .
{value xsiitype="CE” code="E.i.7" codeSystem="2.15.840.1.113883.3.989.2.1.1.11'
" codeSystemVersion="1.0"/>
{l—— E.i.7: Outcome of Reaction / Event at the Time of Last Dbservatlon 7 —
{/observation .
{/outboundRelationship2>
{outboundRelationship? typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<Kcode code="24" codeSysten="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="medicalConfirmationByHealthProfessional”/> >
(value xsi:type="BL"” value="true”/> )
<|l— E.i.8: Medical Confirmation by Healthcare Professional #7 —>
{/cbservation> '
</outboundRelaticnship2> .
{outboundRelationship2 typeCode="PERT">
{observation c¢lassCode="0B3" moodCode="EVN">
{code code="11" codeSystem="2. 16. 840. 1. 113883. 3.989. 5. 1. 3. 2. 1. 10" ccdeSystemVersion="1. 0"
displayName="5%%0 - BE&0"/> . : '
‘ {value xsi:type="CE” code="J2.14.1" codeSystem="2. 16.840.1 113883.3.989.5.1.3.2.1.8"
codeSystemVersion="1.0"/> '
<l— @aaye, 14. i Kz - PEsn #7 -
{/observation>
{/outboundRelationship2>
{/observation> ’
{/subject0f2>
{subject0f2 typeCode="SB]">
{observation classCode="0BS" moodCode="EVN™>
<id root="albbe092-8070-426d-af04-6863263443e0"/>
{code code="29" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVeérsion="1.1"
dlsplayName— reaction”/>
<effectiveTime xsi:type="SYPR_TS™>
{comp xsi:type="IVL_TS™>
<low value="20090101"/>
¢}— E.i.4: Date of Start of Reaction / Event 8 —>
<width value="24" unit="E.i.6b"/">
{!-- E.i.6a: Duration of Reaction / Event (number) #8 ——>
<i-- E.1,6b: Duration of Reaction / Event (unit) #8 —>
{/comp>
<comp xsi:type="IVL_TS” operator="A">
<high value="20101201"/>
¢!-- E.i.5: Date of End of Reaction / Event #8 ——>
<feomp> ’
{/effectiveTime>
{value xsi:type="CE” code="E.1i.2.1b" codeSystem="2. 15.840. 1. 113883. 6. 163"
codeSystenVersion="E.i. 2. la™>
¢}-- E.i.2. 1a: MedDRA Version for Reaction / Event #8 —>
¢|-— E.i.2. 1b: Reaction / Event {MedDRA code} #8 ——
{originalText language="E.i.1.1b">E.1. 1. la{/originalTextr
¢l— E.i.1.1a: Reaction / Event as Reported by the Primary Source in Native Language #8 -
{l=— E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #8 —>



{/value>
<lacation typeCode="L0C">
ClocatedEntity classCode="LOCE™> .
{locatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="E. 1.9 codeSystem="1.0.3166.1.2.2"/>
{!— E.i.9: Identification of the Country Where the Reaction / Event Occurred #8 —>
¢/locatedPlace)
{/lecatedEntity>
{/location>
{outboundRelationship2: typeCode="PERT">
<ohservation classCode="0BS" moodCode—”EVN”)
{code code="30" codeSystem="%, 16, 540, 1. 113583
displayName="reactionForTranslation”/>
{value xsi:type= ED JE.i.1.2{/value>
{l=— E.i.1.2: Reaction / Event as Reported by the Prlmary Source for Translation #8 —>
¢/observation>
{/outboundRelationship2>

I

{outboundRe]ationship? typeCode="FERT">
{observation classCode="0BS" moodCode="E¥N">
{code code="37" codeSystem="2. 16. 840. 1. 113883, 3.989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displaiName=”termHighlightedByReporter’/}
{value xsi:type="CE” code="E.i.3.1" codeSystem="2. 16.840. 1, 113883. 3. 989, 2. 1, 1. 10"
codeSystenVersion="1. 0" /> )
€l-= E.i.3. 1:Term Highlighted by the Reporter #8 —>
<{/observation>
{/outboundRelationship2>
{outboundRelationship? typeCode="FERT™>
{observation classCode="0BS” moodCode="EVN">
{code code="34" codeSystem="2.16.840. 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1
displayName="resultsInDeath”/>
{value xsi:type="BL” value="true”/>
({— E.i,3.2a: Results in Death #8 ——>
</observation>
{/outboundRelationship2>
» <outboundRelationship2 typeCode="PERT” )
{cbservation classCodg— 0BS” moodCode="EVN">
{code code="21" codeéSystem="2. 16, 840, 1. 113883. 3, 989.2, 1. 1. 19" codeSystemVersion="1.1"
dlsplayName— isLifeThreatening”/>
{value xsi:type="BL” nullFlavor="NI"/>
<!— E.i.3.2b: Life Threatening #8 —>
{/observation>
{/outboundRelationship2> ) !
{outboundRelationship? typeCode="] "PERT”> -
{observation classCode="0BS" moodCode="EVN">
{code code="33" codeSystem="2, 16. 840, 1. 113883, 3 989.2.1. 1. 19" codeSystemVersion="1. 1"
displayName="requiresInpatientHospitalization”/>
{value xsi:type="BL" value="true”/>
{l-— E.i.3.2¢c: Caused / Prolonged Hospitalisation #8 —>
{fobservation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code cade="35" codeSystem="2, 16, 840, 1, 113383 3.989.2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="resultsInPersistentOrSignificantDisability”/>
{value xsi:type="BL"” nullFlavor="NI"/>
<l-— E.i.3.2d: Disabling / Incapacltatlng H >
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN™>
{code code="12" codeSystem="2. 16. 840.1. 113883. 3. §89. 2. 1. 1, 19" codeSystemVersion="1. 1
displayName="congenitalAnomalyBirthDefect”™ />
<value xsi:type="BL” nullFlavor="NI"/>
{I-- E.i.3.2e: Congenital Anomaly / Birth Defect #8 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode=~"EVN">
{code code="26" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1. 18" codeSystemVersion="1.1"

-



displayName="otherMedicallyImportantCondition”/>
<value xsiitvpe="BL” value="true”/>
(l— E.1i.3.2f: Other Medically Important Condition #8 —>
{/observation>
</outhoundRelationship2>
. {outboundRelationship2 typeCode="PERT">
{observation classCode="0B5" moodCode="EVN">
<code code="27" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.17
displayName="outcome” /> -
{value xsi:type="CE” code="E.i. 7" codeSystem="2.16.840. 1, 113883.3,989,2.1,1, 117
codeSystemVersion="1.0"/>
¢l— E,i.7: Qutcoms of Reaction / Event at the Tiwe of Last Observation #8 —->
{/observaticn?
{/outhoundRelationship2>
<outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
<code code="24" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion=T1,1"
displayName="medicalConfirmationByHealthProfessional”/>
{value xsi:type="BL" value="true”/>
<{1-- E.i.8: Medical Confirmation by Healthcare Professional #8 —>
<{/observation>
<{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
<code code="11" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1.3. 2. 1. 10" codeSystemVersion="1.0"
displayName="3k% - BE&"/>
¢value xsi:type="CE” code="J2.14.1” codeSystem="2. 16, 840. 1. 113883. 3.989.5.1.3.2.1.8”
codeSystemVersion="1,0"/>
<I—— 28872, 14.1 k4 - BEAR #8 —
</observation>
{/outboundRelationship2>
{/observation>
{/subject0f2>
{subject0f2 typeCode="SBJ">
{organizer classCode="CATEGORY” moodCode="EVN"™>
{cade code="%" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1, 20" codeSystemVersion="1. 0"
displayName="testsAndProceduresRelevantToTheInvestigation™/>
{component typeCode="COMP">
{chservation classCode="0B5" moodCode="EVN")
<code code="F.r.2.2b" codeSystem="2. 16.840. 1. 113883. 6. 163" codeSystemVersion="F.r.2.2a">
{l-- F.r.2.2a: MedDRA Version for Test Name #1 —>
{I-- F.r.2.2b: Test Name (MedDRA code) #1 —>
<originalText>F.r. 2. 1{/original Text>
¢l— F.r.2.1: Test Name {(free text) #1 —>
{/code>
<effectiveTime value="20090101"/>
{}== F.r.1: Test Date #i —>
{value xsi:type="IVL_PQ">
<center value="10" unit="mg/d1"/>
¢l-— F.r.3.2: Test Result (value / qualifier) #1 —>
{I—— F.r.3.3: Test Result {unit) #1 —>
" fvalued
{interpretationCode code="F.r.3.1" codeSystem="2, 16.840. 1, 113883.3,989.2.1.1.12"
codeSystemVersion="1. 0"/>
{d— F.r.3.1: Test Result (code) #1 —>
{referenceRange typeCode="REFVY">
{cbservationRange classCode="0BS” moodCode="EVN, CRT">
<value xsi:type="PQ” value="40" unit="wg/dl"/>
{!— F.r.4: Normal Low Value #1 -->
{interpretationCode code="L" codeSystem="2.16.840. 1. 113883.5.83"/>
{/observationRange>
{/referenceRange>
{referenceRange typeCode="REFV™>
{observationRange classCode="0BS” moodCode="EVN.CRT™>
<value xsi:type="PQ” value="110" unit="mg/d1”/>
<l— F.r.5: Normal High Value #1—>
{interpretationCode code="H" codeSystem="2. 16. 840. 1. 113883.5.83" /">
{/observaticnRange>
{/referenceRange>



<outboundRelationship2 typeCode="PERT™>
<observation classCode="0B5" moodCode="EVN">»

) {code code="10" codeSystem="2. 16. 840. 1. 113883. 3. 889, 2. 1. 1. 19" codeSystemVersion="1. 1%
displayName="comment” />
: {value xsi:type="ED"DF.r.6</value>

<l— F.r.6: Comments (free text) #1 —>
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="REFR">
<observation classCode="0BS" moodCode="EVN">
<code code="25" codeSystem— 2.16.840.1, 113883. 3.989,2.1. 1. 19" codeSYstemVerslon— L1
displayName="moreInformationivaiiabie”/>
{value xsi’type="BL” value="true”/>
<!—F.r.7: More Information Available #1 —>
{/observation>
{/outboundRelationship2>
</observation>

{/component>
{camponent typeCode="COMP">
<observation classCode="0BS” moodCode="EVN™>
{code code="F.r, 2, 2b" codeSystem="2. 16. 840, 1. 113883, 6. 163" codeSystemVersion="F.r.2.2a">
{l—— F.r.2.2a: MedDRA Version for Test Name #2 ——>
{l-= F.r.2.2b: Test Name (MedDRA code) EZ ——>
{originalText>F. r. 2, 1{/original Text>
!~ F.r.2.1' Test Name (free text) #2 —>
{/code> .
{effectiveTime value="20090101"/>
== F.r.1: Test Date #2 —>
{value xsi:type="IVL_PQ™>
{low nullFlavor="NINF"/>
<high value="10" unit="mg/d1” inclusive="false"/>
</value>
¢l=— F.r.3.2: Test Result (value / qualifier) #2 —>
<l-- F.r.3.3: Test Result (unit) #2 ~=>
<= LT 10 mg/dl #2 ~>
{/observation>
</component>
{¢omponent typeCode~ COMP™>
{observation classCode="0BS" moodCode="EVN™>
{code code="F,r.2 2b" codeSystem="2.16. 840. 1. 113883. 6. 163" codeSystenVersion="F.r. 2. 2a">
<l-- R.r.2.2a: MedDRA Version for Test Name #3 -—>
<=~ F.r.2.2h: Test Name (MedDRA code) #3 —>
{origina}Text>F. . 2. 1¢/original Text>
- == F.r.2.1: Test Name (free text) #3 —>
</code>
{effectiveTime value="20090101"/>
¢l— F.r.1: Test Date #3 —>
{value xsi:type="IVL_PQ™>
<low nullFlaver="NINF"/>
<high value="10" unit="mg/d1” inclusive="true”/>
{/value>
<I— F.r.3.2! Test Result (value / qualifier) #3 —>
(I~ F.r.3.3: Test Result (unit) ﬁﬂ —>
{)— LE 10 mg/dl #3—>
</observation>
{/component>
<component typeCode="COMP">
{ebservation classCode="0BS" moodCode="EVN">
{code code="F.r.2.2b" codeSystem="2. 16.840. 1. 113883, 6. 163" codeSystemVersion="F.r. 2. 2a">
¢l-- F.r.2.2a: MedDRA Version for Test Name #4 —>
<}— F.r.2.2b: Test Name (MedDRA code) #4 —>
{originalText>F. r. 2. 1</originalText>
<l F.r.2.1: Test Name (free text) #4 ——>
{/code>
CeffectiveTime value="20080101"/>
¢l-= F.r.1: Test Date #4 —>
<value xsi:type="IVL_PQ™>
<low value="10" unit="mg/dl” inclusive="false”/>
<high nullFlavor="PINF"/>



{/value>
¢{!— F.1.3.2: Test Result (value / qualifier) #4 -
<l== F.r.3.3: Test Result (unit} #4 —>
<l-- GT 10 mg/dl #4 -->
{/observation>
{/component>
‘{component typeCode="COMP™>
<observation classCode="0BS” maodCode="EVN">
{code code="F.r.2,2h" codeSystem="2.16. 840. 1. 113883. 6. 163" codeSystemVersion="F.r. 2 2a">
<{l-— F.r.2. 2a: MedDRA Version for Test Name #5 ——>
{l=— F.r.2.2b: Test Name (MedDRA code) #5 —>
<originalText>F, r, 2. 1</aoriginalText>
{{~— F.r.2.1: Test Name (free text) #5 ——>
{/eode>
{effectiveTime value="20090101"/>
{l— F.r.1: Test Date #5 —>
{value xsi:type="IVL_PQ">
{low value="10" unit="mg/d1” inclusive="true”/>
<high nullFlavor="PINF"/>
<fvalued :
¢l== F.r.3.2: Test Result (value / qualifier) #5 —>
<|-- F.r.3.3: Test Result (unit) #5 —>
¢<1-- GE 10 ng/dl #5 —>
¢/observation>
{/component>
{component typeCode="COMP™>
{observation classCode="0B3" moodCode="EVN">
{code code="F.r.2. 2b" codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="F.r. 2. 2a">
<I— F.r.2.2a: MedDRA Version for Test Name #6 ~~>
{!— F.r.2.2b: Test Name (MedDRA code) #6 ——>
{originalText>F.r. 2. 1{/original Text>
{l-—— F.r.2.1: Test Name (free text) #6 ——>
<Seode> -
CeffectiveTime value="20090101"/>
¢l— F.r.1: Test Date #6 —>
<value xsi:type="ED">F.r. 3.4</valued>
¢l—— F.r.3 4: Result Unstructured Data (free text) #6 —>
{/observation>
{/component> )
{/organizer>
{/subject0f2> '
<subject0f2 typeCode="SBJ™>
{organizer classCode="CATEGORY” moodCode="EVN">
{code code="4" codeSystem="2, 16. 840. 1. 113883. 3. 989. 2. 1. 1. 20" codeSystemVersion="1. 0"
displayName="drugInformation”/>
¢<!— G k Drug(s) Information {repeat as necessary) #1 —>
{compenent typeCode="COMP™>
<substanceAdministration classCode="SBADM" moodCode="EVN">
<id root="3c91b4d5-¢039~4aTa-9c30-67671b0ef9ed” />
{consumable typeCode="CSH"™>
{instance0fKind classCode="INST">
<kindOfProduct classCode="MMAT" determinerCode="KIND">
<eode code="G.k. 2.1. 1b" codeSystem="TBD-MPID” codeSystemVersion="G.k.2.1.1a"/>
!=— G.k 2.1, 1a: MPID Version Date / Number #1 —>
<I— G.k.2, 1, 1b: Medicinal Product Identifier {MPID) #1 —>
<name>G. k. 2. 2{/name> )
<l-- G.k.2.2: Medicinal Product Name as Reported by the Primary Source #1 ——
<asManufacturedProduct classCode="MANU™>
{subjectOf typeCode="SB]">
{approval classCode="CNTRCT” moodCode="EVN">
<id extension="G.k.3.1" root="2.16.840. 1.113883.3.089.2.1.3.4"/>
<!— G.k.3.1: Authorisaticn / Application Number #1 ——>
<holder typeCode="HLD">
{role classCode="HLD">
<{playingOrganization classCode="0RG" determinerCode="INSTANCE">
<name>G. k. 3. 3</name>
¢!— G.k.3.3: Name of Halder / Applicant #1 —>
<{/playingQOrganization>
{/role>



{/holder>
{author typeCade="AUT">
<territoerialAuthority classCode="TERR">
<territory classCode="NAT" determinerCode="INSTANCE">
{code code="G.k.3.2" codeSystem="1.0. 3166.1,2,2"/>
{l== G.k. 3.2: Country of Authorisation / Application #1 —>
{/territory>
{/territorialAuthority>
{/author>
{pertinentInformation typeCode="PERT">
<policy classCode="POLICY" moodCade="EVN">
: ) {code code="JZ. 5. K" codeSystem="2. I6. 840, 1. 113883. 3. 985.5. 1. 3. 2. 1. 4
codeSystemVersion="1.0%/>
<l @8ej2.5. k: —~RAERELSOI A IEH%E #1 —
<{/policy’ :
¢/pertinentInformation>
{/approval>

</subjectOf>
<subjectOf typeCode="SBJ">
{characteristic classCode="0BS" moodCede="EVN">
{coede code="1" codeSysten="2. 16. 840. 1, 113883. 3.989.5.1. 3. 2. 1. 10”
‘ codeSystemVer31on— 1. 07 displayName="$EFEHEOWRIRES"/>
{value xsi:type="CE" code="J2.4.k" codeSystem="2. 16, 840. 1. 113883.3.989.5.1.3.2. 1.3
codeSystemVersion="1.0"/>
I— ees)2. 4. k: FHEREESORRESS 1 —
{/characteristic>
{/subject0f>
</asManufacturedProduct>
{asSpecializedKind classCode="GEN"> .
<generalizedMaterialKind classCode="MAT" determinerCode="KIND">
{code>
{originalText>J2. 12¢/originalText>
<I— @8y, 12: WEERESRE —
{/code>
{/generalizedMaterialXind>
</asSpecializedKind>
(ingredient classCode="ACTI*}
{quantity>
{numerator vaiue="10" wnit="6.% 2.3.r.3"/>
{!— G.k.2.3.r. 3a: Strength (number) #1-I —>
{l== G.k.2. 3.1.3b: Strength (unit} #i-1 —>
<denominator value="1"/>
</quantity>
{ingredientSubstance classCode="MMAT" determinerCode="KIND">
. {code code="G. k. 2.3.r.2b" codeSystem="TBD-Substance”
codeSystemVersion="G. k. 2.3.r, 2a"/> '
’ {I-- G.k.2.3.r.2a: Substance / Specified Substance TermID Version Date / Number #1-1
{l— G.k.2.3.r. 2b: Substance / Specified Substance TernID #1-1 —>
{name>G. k. 2. 3. r. 1¢{/name>
<!— 6.k.2.3.1.1: Substance / Specified Substance Name #1~1 —>
{/ingredientSubstance>
{/ingredient>
{ingredient classCode="ACTI™>
{quantity>
<{numerator value="10" unit= G.k.2.3.r.3b ">
{I-~ G.%k.2.3.r.3a: Strength (number) #1-2 —>
{I— 6.k 2.3.r 3b: Rmnﬁ(mﬂ)ﬂﬂ-ﬁ
{dencminator value="1"/>

{/quantity>
{ingredientSubstance classCode="WMMAT” determ1ne1Code— KIND">
¢eode code="G. k. 2, 3. 1. 2b” codeSystem="TBD-Substance”

codeSystemVersion="6.k. 2. 3.1, 2a"/>
{l— G.k.2,3.1.2a: Substance / Specified Substance TermID Version Date / Number #I-2
¢l~= G.k.2.3.7.2b: Substance / Specified Substance TermID #1-2 —>
<name>G. k. 2. 3. r. 1<{/name>
{I— G.k.2.3.r.1: Substance / Specified Substance Nome £1-2 —->
{/ingredientSubstance>



</ingredient>
<{/kind0fProduct>
<subjectOf typeCode="SB]™>
{productEvent classCode="ACT" moodCode="EVN">
{code code="1" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 18" codeSystenVersion="1.0"
displayName="retailSupply”/> )
<{performer typeCode="PRF">
<assignedEntity classCode="ASSIGNED™»
{representedOrganization classCode="0ORG" determinerCode="INSTANCE™>
<addr>
{country>G. k. 2. 4¢/country>
{!— G.k.2.4: Identification of the Country Where the Drug Was Obtained #1 —
{faddr>
¢/representedOrganization’
{/assignedEntity>
{/performer>
{/productEvent>
</subjectOf>
<{subjeet0f typeCode="SB]">
{observationEvent classCode="0BS” moodCode="EVN">
. <code code="2" codeSystem="2.16.840. 1.113883. 3.589.5.1.3.2.1. 10"
codeSystemVersion="1. 0" displayName="—fRRERELOAFER" /) .
<value xsi!type=”CE” code="J2. 6. k" codeSystem="2. 16. 840, 1. 113883, 3.989.5.1.3.2. 1. 5"
codeSystemVersion="1. 0"/>
<!— @eayz. 6. k: —-ﬂﬁ‘}ﬁﬁﬁmmﬁﬁ% #1 —>
</observationBvent>
{/subject0f>
</instanceCGfKind>
{/consumable>
<outboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.k.9.1i.3.16"/>
¢!— G.k.9.1i.3.1a: Time Interval between Beginning of Drug Administration and Start of
React1on / Event (number) Drug #1, Reaction #1 —>
{lv= G.k.9.i. 3. 1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #l, Reaction #1 —>
' {actReference classCode="0BS" moodCode="EVN">
<id root="154eb889-958b—45f2-~a02f~42d4d6f4657F" />
{/actReference>
<outhoundRelationshipl>
{outboundRelationshipl typeCode="SAE™>
<pauseQuantity value="10" unit="C.k.9.i.3.2b" /">
) {I— 6.k 9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #1 —>
{1-- G.k.9.1i.3.2b: Time Interval hetween Last Dose of Drug and Start of Reaction / Event
(unit) Drug #1 Reaction #1 —>
<actReference classCode="0BS" moodCode="EVN">
{id root="154eb889-958b—45f2-a02f-42d4d6£4657f" />
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" wnit="6. k. 9.1i. 3. 1b"/>
<{lv~ G.k.9.1.3. la: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number} Drug #1, Reaction #2 —>
<I— G.k.9.1i.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Bvent (unit) Drug #1, Reaction #2 ——>
: {actReference classCode="0BS" moodCode="EVN")>
{id root="2baa28d6-cYe8-4e6c-3e9-5b860b3142207 />
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.k.9.i.3.2b"/>
¢~ G.k.9.1. 3. 2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
{number} Drug #1, Reaction #2 —>
{I-- 6.k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #1, Reaction #2 —>
<actReference classCode="0BS" moodCode="EVN")>
<id root="2baa28d6-cSe8—4ebc-03e9-5bBGOLI 142207 />
(/actReference>
</outboundRelationshipl>



<outboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.k 9.1i.3.1b"/>
<l— G.k.9,1.3. 1a: Time Interval between Beglnnlng of Drug Administration and Start of
Reaction / Event (number) Drug #1, Reaction #3 —
¢!— G.k.9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #1, Reaction #3 —>
{actReference c¢lassCode="0BS” moodCode="EVN">
~ <id root="3a8626cb-3f1h—4ea8-8a0f-e0f£34430adE" />
{/actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAE">
{pausefuantiiy valve~"10" unii="G.k.5.1.3.2b"/>
{I— G. % 9.i.3.2a: Time Interval between Last Dose of -Drug and Start of Reaction / Event
(number) DPrug #1, Reaction #3 —> ]
{J— G.k.9.1.3. 2b: Time Interval hetween Last Dose of Drug and Start of Reaction / Event
{unit) Drug #1, Reaction #3 —>
{actReference classCode="0BS" moodCode="EYN">

<id root="3a8626cb~9f1b-4ea8-8alf-e0ff34430adf” />
{/actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G.k.9.i1.3.1b"/>
{l==- G, k. 9.1.3.1a: Time Interval between Beginning of Drug Administration and Staxrt of
Reaction / Event (number) Drug #1, Reaction #4 —>
¢l— G. k. 9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit} Drug #1, Reaction #4 —>
{actReference classCode="085" moodCode="EVN">
<id root="2e99840f—08h4-499c—80ff—ddB415F4£8a5" />
</actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k. 9.i.3.2b"/> .
<l G.k.9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(humber) Drug #1, Reaction #4 —>
U“GkJJJJbTmehwwﬂbﬂmmLut%wofhuaﬂShﬂofhuﬂm/Emm
(unity Drug #1, Reaction #4 —>
- {actReference classCode="0BS” moodCode="EVN">
<id root="2e99840f-08b4—499c~80ff~ddB415T4fRab" />
</actReferenced
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAS">
<pauseQuantity value="10" unit="G.k.9.1.3.1b"/>
: <I-— 6.k 9.1i.3.1a: Time Interval between Beginning of Drug Administretion and Start of
Reactlon / Event (number) Drug #1, Reaction #5 —>
<]-~ 6.k 9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #1, Reaction #§ -=> ' ‘
{actReference classCode="0BS” moadCode="EVN">
L <d root="1071064c—cf10-4a3b—83c1-34f9ddbT7eatid” />
{/actReference>
¢/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE">
(pauseQuantity value="10" unit="G.k 9.i.3.2b"/>
¢!— G, k.9.13.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number} Drug #1, Reaction #5 -->
<|-- G.k.9.i.3.2b! Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #1, Reaction #5 —>
{actReference classCode="0BS” moodCode="EVN">
<id root="1071064c—cfi0—4a3b-83c1-34f9ddbTeabd” />
{/actReference>
¢/outboundRelationshipl>
(outboundRelationshipl typeCode="SAS™>
-{pauseQuantity value="10" unit="G.k.9.1i. 3. 1b"/>
¢1-— 6.k 9.i.3. 1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Brug #1, Reaction #§ —>
{!— G.k.9.1.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Bvent (unit) Drug #1, Reaction #6 —>
<actReference classCode="0BS” moodCode="EVN">
<id root="1f927283-10b6-4334-9d43-e925640fb18F"/>
{/actReference’



{/outboundRelationshipl>
{outboundRelationship] typeCode="SAE">
<pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
<!-- G.k.9.i.3.2a: Time Interval hetween Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #6 - ]
{I— 6.k.9.1,3.2b: Time Interval between Last Pose of Drug and Start of Reaction / Event
(unit) Prug #I, Reaction i#6 —> '
) <actReference classCode="0BS” mcodCode="EVN™>
{id root="1f527283-10b6~4334-9d43-e925640Fb18F" />
</actReference>
{/outboundRelationshipl>
{outhoundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" wnit="G.k. 9.1i.3.1b"/>
¢l-- 6.k.9.1.3. la: Time Interval between Beginning of Drug Administratien and Start of
Reaction / Event {number} Drug #1, Reaction #7 ——>
{I— G.k.9.1.3. 1b: Time Interval between Beginning of Prug Administration and Start of
Reaction / Bvent (unit) Drug #1, Reaction #7 --> ‘
<actReference classCode="0BS” moodCode="EVN">
<id root="e0342969-38be-423f-b6bb—celdbc279d8e” />
{/actReference>
{/outboundRelationshipl>
<outhoundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" vnit="G. k. 9.i.3.2b"/> )
¢l-- 6.k.9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #7 —>
<{!-- G.k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #1, Reaction #7 —>
: <actReference classCode="0BS” moodCode="EVN">
<id root="e(342969-38be-4237-h6bb-celdbc279d8e” />
{/actReference>
</outboundRelationshipl>
{outboundRelationshipl typeCode="SAS™>
<pauscQuantity value="10" unit="G.k.9.i.3.1b"/">
{l-— 6.k.9.i.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #1, Reaction #8 —>
{}-- 6.k.9.1.3. 1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event {unit) Drug #1, Reaction #8 —> '
{actReference classCode="0BS" moodCode="EVN">
<id root="al5be092-8070-426d-af04-6863263443e07/>
- {/actReference>
</outbhoundRelationshipl>
<outhoundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k.9.i.3.2b"/>
¢l— G.k.9.i,3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(humber) Brug #1, Reaction #8 —>
¢!-- G.k.9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #1, Reaction #8 —> ) .
CactReference classCode="0BS” moodCode="EVN™>
<id root="al5be092-8070-426d-af04-6863263443e0”/>
{/actReference>
</outboundRelationshipl> -
{outboundRelationshipZ typeCode="PERT™>
{chservation classCode="(0BS” moodCode="EVN">
{code code="6" codeSystem="2.16.840. 1. 113883.3.98%.2.1.1. 19" codeSystemVersion="1,1"
displayName="blinded” />
<value xsi:type="BL” value="true"/>
{i~— G.k.2.5: Investigational Product Blinded #1 —>
<{/observation>
</outboundRelationship2>
<outhoundRelationship2 typeCode="COMP">
{I-- G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-1 —>
{substanceAdministration ¢lassCode="SBABM™ moodCode="EVN">
{text>G. k. 4. r. 8</text>
{l-- 6.k.4.r. 8 Dosage Text §I-1 —>
{effectivelime xsi:type="SXPR_IS">
<{comp xsi:type="PIVL_TS">
{peried value="10" unit="G. k. 4. r. 3"/>
{}— G.k.4.r.2: Number of Units in the Interval #1-1 —>
{I-- G. k. 4.r.3: Definition of the Time Interval Unit #1-1 —



</comp>
{comp xsi:type="IVL_TS” operator="A">
<low value="20080101"/>
{!-— G.k.4.r. 4: Date and Time of Start of Drug #1-1 —>
<high value="200901017/>
¢|~— G.k.4.1.5: Date and Time of Last Administration #1-1 —>
{/comp> :
<comp Xsi:type="IVL_TS" operator="A">
<width value="4" unit="G.k 4.r.6b"/>
¢! G.k.4.1.6a: Duration of Drug Administration (number) #H1-1 —->
¢l G. k. 4.r.6b: Duration of Drug Administration (unit) #1-1 —>
{/comp> :
{/effectiveTime> ‘
{routeCode code="G.k. 4.r.10.2b" codeSystem="2. 16. 840. 1. 113883. 3, 989, 2, 1. 1. 14"
codeSystemVersion="G. k. 4.1, 10, 2a”>
<l— 6.k 4.1.10.2a: Route of Adninistration TernID Version Date / Number #1-1 -->
<I— G.k 4.7, 10.2b: Route of Administration TermID #I~1 ~—>

<originalText>G. k. 4.r. 10. 1{/originalText>
<l— 6.k 4.r.10. 1: Route of Administration (fiee text) #1-1 —
{/routeCode>
{donseQuantity value="10" unit="G.k.4.r.1b"/>
<I“- G.k. 4. r. 1a Dose (humber) #1-1 ——>
¢I— G.k.4.1.1b: Dose (unit) #1-1 —>
{consumable typeCode="CSM">
{instanceOfKind ¢lassCode="INST™> -
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
{lotNumberText>G. k. 4. r. 7{/lotNunberText>
¢l— G.k 4, 7.7 Batch / Lot Number #1-1 -->
</productInstanceInstance’
<kind0fProduct classCode="MMAT" determinerCode="KIND">
(formCode code="G.k. 4.r.9.2b" codeSystem="TBB-DoseForn”

codeSystemVersion="G. k. 4.1.9. 2a"> . .
<{!— G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-1 —3
<!— G.k. 4. 1. 9. 2b: Pharmaceutical Dose Form TermID #1-1 -->
{originalText>G. k. 4. r. 9. 1</original Text>
=~ G. k. 4.7.9.1: Pharmaceutical Dose Form (free text) #1-1 —>
{/fornCode>
</kindOfProduct>
{/instance0fKind>
{/consumable>

{inboundRelationship typeCode="REFR™>
<ohservation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2, 16.840. 1. 113883. 3. 989. 2. 1. 1. 18" codeSystemYersion="1.1"
displaylame="parentRouteCfAdministration”/>
<value xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 11. 2a">
<I— G.k 4.r.11. 2a: Parent Route of Administration TermID Version Date / Number #i-1
<!— G.k 4.7.11. 2b: Parent Route of Administration TermID #1-1 —>
{originalText>G. k. 4. 1. 11. 1<{/originalText>
{!-~ G.k.4.r.11. 1: Parent Route of Administration (free text) #1-1 —>
</value>
</observation)
. </inboundRelaticnship>
{/substanceAdministration>
{/outboundRelationship2>
<outboundRelationship2 typeCode="COMP">
<! G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-2 —>
{substanceAdnministration classCode="SBADM" moodCode="EVN™>
{text>6. k. 4. r. 8</text>
<!—.G.k.4.1.8: Dosage Text #1-2 —>
{effectiveTime xsi:type="SXPR_TS">
{comp xsi:type="PIVL_TS">
<{period value="10" unit="G.k.4.1.3"/>
{l== G.k.4.r.2: Number of Units in the Interval #1-2 —>
<!— 6.k 4.r.3: Definition of the Time Intervel Unit #1-2 —>
</ comp>
<comp xsiitype="IVL_TS" operator="A">
{low value="20050101"/>



¢!— G.k.4.1.4: Date and Time of Start of Drug ¥1-2 —>
<high value="20090101"/>
{I— G. k. 4.r.5: Date and Time of Last Administration #1-2 —>
{/eomp? '
{/effectiveTine>
{routeCode code="G.k.4.r.10.2b" codeSystem="2. 16. 840. 1, 113883, 3.989. 2, 1. 1. 14"
codeSystemVersion="G. k. 4.1, 10, 2a™> .
<l-— G.k. 4.x. 10, 2a: Route of Administration TermID Version Date / Number #1-2 -=>
¢l— G.k. 4.1.10. 2b: Route of Administration TermiID #1-2 —>
originalText>G. k. 4. 1. 10. 1{/originalText>
<1-- G.k.4.r.10. 1: Route of Administration (free text) #1-2 -—>
</routeCode>
{doseQuantity value="10" unit="G.k. 4.r.16"/>
<l— G.k.4.r.1a Dose (number) #1-2 —>
{l-- 6. k. 4.r.1b: Dose {unit) #1-2 —>
{consumable typeCode="CSM"™>
{instanceOfKind classCode="INST">
{productInstanceInstance classCode="MMAT" determinerCode="INSTANCE™>
{lotNumberText>G. k. 4, 1, 7</lotNumberText>
¢l— G.k.4.1.7: Batch / Lot Number #1-2 —>
{/productInstancelnstance>
<kind0fProduct classCode="MMAT" determinerCode="KIND">
{formGode code="G.k. 4.r.9.2b" codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4.r. 9. 2a™>
; <l— G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #I-2 —>
¢1—— G.k.4. 1.9 2b: Pharmaceutical Dose Form TermID #1-2 —>
{originalText>G. k. 4. r. 9. 1{/originalText>
(I G.k. 4.7.9. 1: Pharmaceutical Dose Form (free text) #1-2 —>
</formCode>
</kind0fProduct>
</instanceOfKind>
{/consumable>
{inboundRelationship typeCode="REFR">
{observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2. 16.840. 1. 113883, 3.989, 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRouteOfAduinistration”/>
’ <value xsi:type="CE” code="G.Lk.4.r. 11 2b" codeSystem="2. 16.840. 1. 113883. 3. 989.2. 1. 1, 14"
codeSystemVersion="G. k. 4. r. 11. 2a™>
: . 1= G.k.4.1.11. 2a: Parent Route of Administration TermID Version Date / Number #1-2
_> N
{l— G.k.4.r.11. 2b: Parent Route of Administration TermID #1-2 —>
{originalText>G. k. 4. r. 11. 1</originalText>
{l—- G.k.4.r.11. 1: Parent Route of Administration (free text) #I1-2 —
</value>
{/observation>
{/inboundRelationship>
¢/substanceAdministration>
{/outboundRelationship2>
{outboundRelationship2 typeCode="COMP™>
{!-- G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-3 —>
{substanceAdministration classCode="SBADM” moodCade="EVN">
{text>G k. 4.1, 8{/text>
{!— G.k. 4. 1. 87 Dosage Text #1-3 —>
{effectiveTime xsi:type="SYPR_TS">
{comp xsi:type="PIVL_TS™>
{peried value="10" unit="G.k. 4.1r.3"/>
{1~ G.k.4.r.2: Number of Units in the Interval #1-3 —>
<{)— 6.k 4.1.3: Definition of the Time Interval Unit #1-3 —>
</comp>
<comp xsi:type="IVL_TS" operator="A">
<low value="20080101"/>
{l—— G.k.4.r.4: Date and Time of Start of Drug #1-3 —>
<width value="4" unit="G. k. 4.r.6b"/>
{!-- G.k.4.r.6a! Duration of Drug Administration (number} #1-3 —>
¢!— G.k.4.1.6b: Duration of Drug Administration (unit) #1-3 —>
</comp>
{/effectiveTine> ;
<routeCode code="G.k.4.r.10.2h" codeSysten="2.16.840. . 113883, 3.989.2.1.1. 14"
codeSystemVersion="6. k. 4. r. 10. 2a">



<l— G.k.4.1.10. 2a: Route of Administratién TermID Version Date / Number #1-3 —>
¢l G.k 4.1.10.2b: Route of Administration TermID #1-3 —>
CoriginalText>G. k. 4.1, 10. 1{/originalText>
<d— 6.k 4.1.10.1: Route of Administration (free text) #1-3 —>
<{/routeCoded
{doseQuantity value="10" unit="G.k.4.r.1b"/>
<{1— G, k. 4.1. 1a Dose (number) #1-3 —>
{d— G.k 4.r.1b: Dase (umit) #1-3 —>
{consumable typeCode="CSH">
<instanceOfKind classCode="INST*>
<productInstanceInstance classCode="MMAT" determinerCode="INSTANCE™>
<lothumberText G, k. 4, r, T</lotNumberText>
« {l— G.k. 4.r.7: Batch / Lot Numher #1-3 ->
{/productInstanceinstance’
<kind0fProduct classCode="MMAT" determinerCode="KIND">
<formCode code="C.k. 4.1.9.2b" codeSystem="TBD-DUoseForn”

codeSystemVersion="G. k. 4.1.9.2a™> :
{]=— G.k.4.1.9. 2a: Pharmaceutical Pose Form TermID Version Date / Number #1-3 —
</—'G.k:4.r.9. 2b: Pharmaceutical Dose Form TermID #1-3 -=>
CoriginalText>G. k. 4. 1. 9. 1</originalText>
¢I— 6.k 4. 7.9, 1 Pharmaceutical Dose Form (free text) #1-3 —
</formCode>
</kindOfProduct>
{/instance0fKind>
{/consumable>

<inboundRelationship typeCade="REFR"™>
{cbservation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRouteOfAdninistration”/>
{value xsi:type="CE” code— G. k.4 1.11. 2" codeSystem— 2.16:840. 1, 113883. 3. 989 2.1.1.147
codeSystemVersion="G. k. 4.x, 11, 2a">
{i~= G.k.4.1.11. 2a: Parent Route of Administration TermID Version Date / Number #1-3
-
<I== G, k. 4.1.11. 2b: Parent Route of Administration TermID #1-3 -->
{originalText>G. k. 4. x. 11. 1<{/originalText>
¢I— G.k.4.1.11.1: Parent Route of Admlnlstratlon (free text) #1-3 —>
{/value>
{/observation>
¢/inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
{outhoundRelationship2 typeCoda="COMP™>
<l— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-4 —>
{substanceAdministration classCode="SBADM" moodCode="EVN™>
{text>G. k. 4. r. 8¢/text>
<|— G.k. 4.1.8: Dosage Text #1-4 —>
<effectiveTime xsi:type="SXPR_TS™>
<comp xsi:type="PIVL_TS">
<period value="i0" unit="G.k.4 r.3"/>
{l=~ G. k. 4.1r.2: Number of Units in the Interval #1-4 —>
<|— G.k. 4 r.3: Pefinition of the Time Interval Unit #1-4 —>
{/comp>
{comp xsi:type="IVL_TS” aperater="A">
{width value="4" unit="G.k. 4.r.6b"/>
¢l G. k.4. 1. 6a: Duration of Drug Administration (number} #I-4 —>
¢{!— G.k 4.r.6b: Duration of Drug Administration {unit) #1-4 —>
<high value="20090101"/>
<!— G.k.4. 1.5t Date and Time of Last Administration #1—4 —>
{/coup>
{/effectiveTime>
{routeCode code="G.k.4.r. 10.2h" codeSystem="2. 15. 840. 1. 113883. 3. 989. 2. 1. 1. 147
codeSystemVer51onv G.k.4.1.10.2a">
<{l— G.k.4.r.10. 2a: Route of Administration TermID Version Date / Number #1~4 —->
{1~ G.k.4.1.10.2b: Route of Administration TermID #1-4 ——
<originalText>G. k. 4.r. 10. 1</originalText> ’
d— 6.k 4r.10.1: Route of Administration (free text) #1-4 —>
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r.1b"/>
“ ¢{l— G.k.4.T.1a Dose (number) #l-4 —>



<I— G.k. 4.1, 1b: Dose (unit) #1-4 ——>
{consumable typeCode="CSM">
{instanceOfKind classCode="INST">
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. r. 7</lotNumberText>
<I— G.k. 4.1.7: Batch / Lot Number #1-4 -->
¢/productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">

- {formCode code="G.k.4.r1.9.2b" codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4.r.9.2a">
1= G, k.4.1.9. 2a; Pharmaceutical Dose Form TermID Version Date / Number #1-4 —>
<!— G.k.4.r.9.2h: Pharmaceutical Dose Form TermID #1-4 ~->
{originalText>G. k. 4.r. 9. 1¢/ariginal Text>
{I— G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #1-4 —>
{/formCode>
¢/kind0fProduct>
</instance0fKind>
{/consumable>

{inboundRelationship typeCode="REFR">
<chservation classCode="0BS" moodCode="EVN">
" <code code="28" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRouteOfAdministration”/>
<{value xsi:type="CE" code="G.k. 4. 7.11.2b" codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1. 14"
codeSystenVersion="G. k.4.r. 11. 2a™>
. {l—- G.k. 4.r.11. 2a: Parent Route of Administration TermID Version Date / Number #1-4
. €{l— G.k.4.1.11.2b: Parent Route of Administration TermID #1-4 —>
{originalText>G. k. 4. r. 11. 1{/originalText> .
(= G.k.4.1.11.1: Parent Route of Administration {free text) #l-4 —>
</value>
{/observation> ’ R
</inboundRelationship>
{/substanceAdministration} .
</outbouitdRelationship2>
<outhoundRelationship2 typeCode="COMP™>
{!— G.k-4.r: Dosage and Relevant Information (repeat as necessary) #1-5 —>
(substanceAdministration classCode="SBADM” moodCode="EVN"> ’
<text>G. k. 4. r. 8{/text>
¢le- G.k.4.1.8: Dosage Text #1-5 —>
{effectiveTime xsi:type="SXPR_TIS$">
{comp xsi:type="IVL_TS™>
<low value="20090101"/>
{}— G.k.4.1.4: Date and Time of Start of Drug #1-5 —>
<high value="20090101"/>
{!— G.k.4.1r.5: Date and Time of Last Administration #1-5 —>
</comp>
Ccomp xsi:type="IVL_TS” operator="A">
<width value="4" unit="G. k. 4.r.6b"/>
<l— G.k.4.r.6a: Duration of Drug Administration (number) #1-5 —>
¢l-~ G,k 4.1.6b: Duration of Drug Administration (unit) #1-5 —>
{/comp>
{feffectiveTime>
) {routeCode code="G.k.4.r. 10.2b" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 14~
codeSystemVersion="G. k. 4, . 10, 2a™>
¢]— G.k.4.r. 10, 2a: Route of Administration TermID Version Date / Number #1-5 —>
<I— G.k. 4.r.10.2b: Route of Administration TermID #1-5 —>
<originalText>G. k. 4. r. 10. 1{/original Text>
(I— G.k.4.1r.10.1: Route of Administration {(free text) #1-5 —>
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r.1b"/>
{l— G.k.4.r. 1a Dose (number) #1-5 -
¢l— G.k.4.r.1b: Dose {unit) #1-5 —>
{consumable typeCode="CSM">
<instance0fKind classCode="INST">
<productInstancelnstance classCode="MMAT” determinerCode="INSTANCE™>
{lotNumberText>G. k. 4. r. 7</lotNumberText>
{l=- 6. k. 4.r.7: Batch / Lot Number #1-5 —>
{/productInstancelnstance>
<kind0fPreduct classCode="MMAT" determinerCode="KIND">



{formCode code="G.k.4.r.9.2b" codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4.1. 9. 2a”>

{}— G.k.4.71.9.2a: Pharmaceutical Dose Form TermID' Version Date / Number #1-5 —>
<!— G.k.4.7.9.2b: Pharmaceuticz} Dose Form TermID #1-5 —>
<originalText>C. k. 4. r. 9. 1</originalText>
"¢~ G. k. 4.r.9.1: Pharmaceutical Pose Form (free text) #1-5 -->
{/formCode>
</kind0fProduct>
¢/instanceOfKind>
{/consumable>

<inboundRelationship typeCode="REFR™>

<code code="28" codeSystem="2. 16.840. 1. 113883. 3.980. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="parentRoute0fAdministration”/> :

{value xsi:type="CE” code="G.k.4.r.11.2b" codeSysten="2, 16, 840.1.113883.3.989.2.1,1.14"
codeSystemVersien="G. k. 4.x. 11, 2a”> .
{1— G.k.4.1.11. 2a: Parent Route of Administration TermID Version Date / Number #1-5

-—>
¢f— G.k.4.r.11.2b: Parent Route of Administration TermID #1-5 —>
{originalText>G. k. 4. r. 11. I</original Text>
<l G.k 4.1.,11. I Parent Route of Administration (free text)} #1-5 —> .
<{fvalued
N {/observation>

</inboundRelationship>
¢/substanceAdministration>
{/outboundRelationship2>
{outboundRelationship2 typeCode="COMP">
(t— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #¥1-6 —
{substancefdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4. 1. B<{/text> ]
{l=— G.k.4.r.8: Dosage Text #1-6 —>
<effectiveTime xsi:type="SXPR_TS™>
{comp xsi:type="PIVL_TS™> )
<peried value="10" unit="G. k. 4.1.3"/> .
{l— 6. % 4,r.2: Number of Units in the Interval #1-6 —>
{l=~ G.k 4.r.3: Definition of the Time Interval Unit #1-6 —>
<feamp> |
<comp xsiitype="IVL_TS” operator="A">
<{low value="20090101"/>
<l— G.k-4.1.4: Date and Time of Start of Drug #I-6 —>
<width value="4" unit="G. k. 4.r.6b"/>
{1— G.k.4.r.6a: Duration of Drug Administration (number) #1-6 ——
{{— 6.k 4.7r.6b: Duration of Drug Administration (unit) #1-6 —>
</comp> '
<comp xsi:type="IVL_TS” operator="A">
<high value="200901017/>
¢{!— G.k.4.1r.5: Date and Time of Last Administration #1-6 -—>
</comp> .
{/effectiveTime>
{routeCode code="G.k. 4.r.10.2b" codeSystem="2. 16.840. 1. 113883.3.989.2.1. 1. 14"
codeSystemVersion="6. k. 4.r. 10.2a™> - ’ :
<I— G.k.4.r.10. 2a: Route of Administration TermID Version Date / Number #1-6 -->
<!= 6.k 4.1r.10.2b: Route of Administration TermID #1-6 —>
<originalText>G. k. 4. r. 10. 1</ofiginalText>
<!— G.k. 4.1.10. 1: Route of Administration (free text) #1-6 —>
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r. 1b"/">
<l G.k.4.r. 1a Dose (number) #1-1 —>
{!—— G.k.4.r.1b: Dose (unit) #1-1 ~>
<consumable typeCode="CSH">
{instance0fKind classCode="INST™>
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE">
{lotNumberText>G. k. 4. r. 7</1otNumberText>
<!-- G.k.4.r.7: Batch / Lot Number #i-1 —>
{/productInstancelnstance>
<kind0fProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.r.9.2b" codeSystem="TBD-DoseForm”
codeSystemVersion="G. k.4.r.9, 2a™> :
¢l~~ G.k.4.1.9.2a: Pharmaceutical Dose Form TermIP Version Date / Number #1~6 —>



¢!— G.k. 4.r.9.2b: Pharmaceutical Dose Form TermID #1-6 —>
<originalText>G. k. 4.r. 9. 1</originalText>
{}— 6.k 4.r.9.1: Pharmaceutical Dose Form (free text) #1-6 —>
{/formCode>
</kind0fProduct>
</instanceOfKind>
{/consumable>
{inboundRelationship typeCode="REFR"™>
{abservation classCode="0BS" moodCode="E¥N"> -
<code code="28" codeSystem="2.16. 840. 1, 113883, 3.989.2. 1. 1 19" codeSystemVersion="1, 1"
displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k.4.1.11, 2b" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4 r. 11. 2a™> : -
<l=- G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #1-6
__) i
¢{l— G.k.4.r.11. 2b: Parent Route of Administration TermID #1-6 —>
<originalText>G. k. 4.r. 11. 1<¢/originalText>
¢!— G.k.4.r.11. 1: Parent Route of Adwministration (free text) #1-6 —>
<{fvalue>
{/observation>
</inboundRelationship>
</substanceAdministration>
{/outboundRelaticnship2>
{outboundRelationship2 typeCode="COMP">
¢<l— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #$1-7 —>
{substanceAdministration classCode="SBADM" moodCode="EVN">
{text>G. k. 4. r. 8¢/ text>
<!-- G.k.4.r.8: Dosage Text ¥1-7 —>
{effectiveTime xsi:type="SXPR_TIS™>
<comp xsi:type="IVL_IS">
<low value="20020101"/>
|- G.k.4.r.4: Date and Time of Start of Drug #1-7 —>
<width value="4" unit="G.k.4.r.6b"/"
¢{l— G.k. 4.1. 6a: .Duration of Drug Administration (number) #1-7 —>
¢{l— G,k 4.1, 8b: Duration of Drug Administration (unit) #I-7 —>
{/comp>
<comp xsi:type="IVL_TS” operator="A">
<high value="200901017/>
{!— G.k.4.r.5: Date and Time of Last Administration #1-7 —>
<{/comp>
{/effectiveTime>
<routeCode code="G.k. 4.r. 10.2b” codeSystem=”2.16.840.1.113883.3.989.2.1.1.14'
codeSystemVer51on— G. k4 1.10.2a™>
d— Gk 41 10.2a: Route of Administration TermID Version Date / Number #1-7 —>
~ <!— G.k.4.1.10. 2b: Route of Administration TermID ¥1-7 —>
<originalText>G. k. 4. r. 10. 1<{/originalText>
<l—— G.k.4.7.10. 1: Route of Administration (free text) #1-7 -
</routeCode>
{doseQuantity value="10" unit="G.k. 4.r. 1b"/>
<I— G.k.4.7. 1a Dose (number} #I1-7 —>
<l— G.k. 4 r.1b! Dose (unit) #1-7 —> _
{econsumable typeCode="CSM">
{instance0fKind classCode="INST">
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE">
<lotNumberText>G. k. 4. r. 7</lotNumberText>
{l— G.k.4.1.7: Batch / Lot Number #1-7 —>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT” determ1nerCode— KIND™ >
{formCode code="G.k. 4.1r.9.2b" codeSystem="TBD~DoseForm”™

-

codeSystemVersion="G. k. 4. r. 9. 2a">
¢!— 6.k 4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-7 —>
{l— G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #1-7 —
{originalText>G. k. 4. 1. 9. 1<{/originalText>
{l— G.k.4.1.9. 1: Pharmaceutical Dose Form (free text) #1-7 -
{/formCode>
</kindOfProduct>
</instanceOfKind>
{/consumahle>
{inboundRelationship typeCode="REFR™>



<aobservation ¢lassCode="0BS” moodCode="EVN">
{cade code="28" codeSystem="2. }6.840. 1. 113883.3.989.2.1. 1, 18" codeSystemVersion="1.1"
displayName="parentRouteOfAdministration”/>
. <value zsi:type="CE" code="G.k.4.r.}1.2b" codeSystem="2. 16. 840, 1. 113883. 3.989. 2, 1, 1. 14”7
codeSystenVersion="G. k. 4. r. 11. 2a™>
<I— 6.k.4.7. 1L 2ar Parent Route of Administration TermID Version Date / Number #1-7
.._> .
<{l— 6.k 4.r. 11, 2b: Parent Route of Administration TermID #1-7 —>
{originalText>G.k. 4.r. 11 1</originalText>
{!— G.k.4.1.11.1: Parent Route of Administration (free text) #1-7 —>
<fvalue>
{/chservation>
</inboundRelationship>
{/substanceAdministrationy
{/outhoundRelationship2>
{outboundRelationship2 typeCode="SUMM™>
{observation classCode="0B5" moodCode="EVN™>

<code code="14" codeSystem="2.18, 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1,1"
displayName="cumulativeDoseToReaction” />
<value xsiitype="PQ” value="10" unit="G.%. 5b"/>
<!~ G.k 5a! Cumulative Dose to First Reaction (mumber) #1 ~—>
¢I-- G.k.5b: Cumulative Dose to First Reaction (unit) #1 —>
{/observation> '
- ¢/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0B53" moodCode="EVN">
<{code code="16" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1, 1
displayName="gestationPeriod”/> ) -
<value xsi:type="PQ" value="10" unit="G.k. 6b"/>
<!~ G.k 6a: Gestation Period at Tiwe of Exposurs (number) #1 -~>
<!— G.k.Bb: Gestation Period at Time of Exposure (unit) #1 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code code="31" codeSystem="2. 16. 840. 1. 113883, 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="recurranceOfReaction”/>
Cvalue xsi:type="CE” code="G.k.9.i.4" codeSystem="2, 16, §40. 1. 113883, 3. 989. 2. 1. 1. 16"
codeSystenVersion="1. 0"/>
<{I— G.k.9.1.4: Did Reaction Recur on Re-administration? Drug #1, Reaction #I —>
{outboundRelationshipl typeCode="REFR">
CactReference classCode="0BS” moodCode="RVN"™>
{id root="154eb889-958b—45f3-a02f—42d4d6F4657E7/>
{/actReference>
{/outboundRelationshipl>
</observation> )
{/outboundRelationship2>
CoutboundRelationship2 typeCode="PERT™>
{ohservation classCode="0BS” moodCode="EVN">
<code code="31" codeSystem="2. 16.840, 1. 113883, 3,989, 2.1. 1. 19" codeSystemVersion="1.1"
displayName="recurranceOfReaction”/> '
<value xsiitype="CE” code="G.k.9.1i.4" codeSystem="2.16.840. 1. 113883, 3.989.2.1. L. 16"
codeSystemVersion="1.0"/"> :
{!— G.k.9.i.4: Did Reaction Recur on Re-administration? Drug #!, Reaction §2 —>
<outboundRelationshipl typeCode="REFR™>
-CactReference classCode="0BS" moodCode="EVN">
{id root="2baa28d6~-c9ef-4e6c—93e9-5b860b3142207 />
</actRefersnce>
£/outboundRelationshipl)
{/observation
¢/outboundRelationship2®
{outboundRelationshipZ typeCode="REFR">
{observation classCode="0BS” moodCode="EVN">
{code code="9" codeSystew="2. 16.840. 1. 113883, 3. 989, 2. 1. 1. 19" codeSystenVersion="1,1"
displayName="codedDrugInformation”/> ’
. {value xsi:type="CE” code="G.k. 10.r" codeSystem="2. 16. 840. 1, 113883.3.989.2.1. 1. 17"
codeSystemVersion="1.0"/>
<f~— G. k. 10.r: Additional Information on Drug (coded) (repeat as nmecessary) #1-1 —>
{/chservation> h



</outboundRelationship2>
~ <outboundRelationship2 typeCode="REFR™>
{observation classCode="0BS” moodCode="EVN">
<code code="9" codeSystem="2. 16, 840. 1. 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="codedDrugInformation”/>
{value xsi:type="CE" code="G. k. 10.r" codeSystem="2. 16.840. 1. 113883.3,989.2.1. 1. 17"
codeSystemVersion="1.0"/> )
¢!— G.k.10.r: Additional Information on Prug {coded) (repeat as necessary) #i-2 ——
{/observation>
<{/outboundRelationship2>
<outboundRelationship? typeCode="REFR™>
<observation classCode="0BS" mocdCode="EVN">
{code code="2" codeSystem="2. 16. 840. 1, 113883.3.989. 2. 1, 1. 19" codeSystemVersion="1.1"
displayName="additionalInformation”/>
{value xsi:type="S1">G. k. 11{/value>
¢!— G.k.11: Additional Information on Drug {free text) #1 —>
{/observation> :
{/outboundRelationship2>
{inboundRelationship typeCode="RSON">
. <observation classCode="0BS" moodCode="EVN">
<code code="19" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 18" codeSystemYersion="1.1"
displayName="indication”/>
{value xsi:type="CE” code="G. k. 7.r.2b" codeSystem="2. 16.840. 1, 113883, 6. 163"
codeSystenVersion="G. k. 7. r. 2a”>
) ¢{!— G.k.7.1. 2a: MedDRA Version for Indication #I=1 ==>
{!— G.k.7.r.2b: Indication (MedDRA code) #1-1 —>
{originalText>G k. 7. r. 1<{/originalText>
{I— 6.k 7.1.1: Indication as Reported by the Primary Source #1-1 —>
</value>
<performer . typeCode="PRF">
<assignedEntity classCode="ASSIGNED™>
{code code="3" codeSystem="2. 16.840. 1. 113883.3. 989. 2. 1. 1. 21" codeSystemVersion="1. 0"
displayName="sourceReporter” />
. {/assignedBntity>
{/performer>
{/observation>
{/inboundRelationship>
<inboundRelationship typeCode="RSON">
{observation classCode="0BS" moodCode="EVN™>
{code code="19" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1, 1"
displayName="indication”/>
‘ <value xsi:type="CE” code="G.k.7.r.2b" codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystemVersion="G. k. 7.1.2a">
¢l G.k.7.r.2a: MedDRA Version for Indication #1-2 —>
C!— G, k. 7.1.2b: Indication (MedDRA code) #I1-2 —>
<originalText>G. k. 7.1, 1</originalText>
!— G.k.7.r.1: Indication as Reported by the Primary Source #1-2 —>
</value>
{performer typeCode="PRF">
<assignedEntity classCode="ASSIGNED">
<ecode code="3" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 21" codeSystemVersion="1. 0"
displayName="sourceReporter”/>
{/assignedEntity>
<{/performer>
<{/observation>
{/inboundRelationship>
{inboundRelationship typeCode="CAUS™>
<act classCode="ACT” moodCode="EVN">
{code code="G.k. 8" codeSystem="2. 16, 840. 1. 113883. 3. 989, 2. 1. 1. 15" codeSystenVersion="1.0"/>
¢l-—— 6.k 8: Action(s}) Taken with Drug #1 —>
{fact> :
</inboundRelationship>
{/substanceAdministration>
</component>
¢{I— 6.k Drug(s) Information (repeat as mecessary) #2 —>
{component typelode="COMP">
<substanceAdministration classCode="SBADM” moodCode="EVN">
{id root="68d6f5ce—-3b3b-45¢7-92dd-69e06730c3a9” />
{consumable typeCode="CSM™>



{instance0fKind classCode="INST"> '
<kind0fProduct classCode="MMAT" determinerCode="KIND">
" <cade code="G.k. 2. 1.2b" codeSystem="TED-PhPID" codeSystenVersion="G. k. 2.1.2a"/>
(I— G.k.2.1.2a: PhPID Version Date / -Number #2 —>
{l=- G.k.2.1.2b: Pharmaceutical Product Identifier (PhPID) #2 —>
<name>G. k. 2. 2¢/name> .
{I— 6.k 2.2: Medicinal Product Name as Reported by the Primary Source £2 —>
<asManufacturedProduct classCode="MANU™
{subjectCf typeCode="SB]">
{approval classCode="CNTRCT” moodCode="EVN">
<id extension="G.k. 3. 1" root="2.16. 840.(. 113883, 3. 989.2. 1. 3.4"/>
{i— G.k.3.1: Authorisation / Appiication Humber #Z —>
<holder typeCode="HLD">
<role classCode="HLD™>
<playingOrganization classCode="ORG" determinerCode="INSTANCE">
<name>G. k. 3. 3{/name>
{1-- 6.k 3.3 Name of Holder / Applicant #2 —>

{/playing0rganization>
{/role>
</holder> . ,
<auther typeCode="AUT™>
{territorialAutherity classCode="TERR">
- {territory classCode="NAT" determinerCode="INSTANCE">
{code code="G.k.3. 2" codeSystem="1.0.3166.1.2.2"/>
<I— 6.k 3.2: Country of Authorisation / Application #2 —>
</territory>
{/territorialAuthority>
{/author>
{pertinentInformation typeCode=”PERT">
{policy classCode="POLICY" moodCode="EVN™>
{code code="]2.5.k" codeSystem="2. 16. 840. 1, 113883, 3. 980.5.1.3.2. 1. 4"
codeSystemYersion="1.0"/>
{I— @gaje.5.k: —RRERRECYRAZEHS #2 —>
{/policy>
{/pertinentInformation>
{/approval>
{/subject0f>
{subjectOf typeCode="SBI">
{characteristic classCode="0BS" moodCode="EVN">
. <code code="1" codeSystem="2, 16.840. 1. 113883.3.989.5.1.3.2. 1. 10"
codeSystemVersion="1.0" displayName="$TEESZORRES" /> .
{value xsi:type="CE” code="J2.4.k" codeSystem="2.16. 840. 1. 113883, 3.989.5.1.3.2, 1. 3"
codeSystenVersion="1.0"/>
<l— 00812, 4.k FEERSORRES #2 >
</characteristic>
</subjectOf>
{/asManufacturedProduct?
{ingredient classCode="ACTI")
{quantity> ‘
{numerator value="10" unit="G.k 2.3.r.3b"/>
<!~ 6.k.2.3.r. 3a: Strength {number) #2-1 —
{!— G.k.2.3.r.3b: Strength (unit) #2-1 —>
(denominator value="1"/>
{/quantity>
{ingredientSubstance classCode="MMAT" determinerCode="KIND">
{code code="G.k.2.3.r.2b" codeSysten="TBD-Substance”
codeSystemVersion="G. k. 2.3.r. 2a"/> )
: ¢!— G.l.2.3.r. 2a: Substance / Specified Substance TermID Version Date / Number #2-1
-—>
<!~ G.k.2.3.r. 2b Substance / Specified Substance TermID #2-1 —>
<name>G. k. 2. 3, . 1</nane)
{}— 6.k 2.3.x. 1 Substance / Specified Substance Name H2-1 —>
</ingredientSubstance> '
</ingredient>
<ingredient classCode="ACTI™>
{quantity>
<numerator value="10" unit="G.k.2.3.r.35"/>
{!—.6.k.2.3.r. 3a: Strength (number) #2-2 -—>
<I—— G.k.2.3.1.3b: Strength (unit) #2-2 —>



<denominator value="1"/>
<{/quantity>
{ingredientSubstance classCode="MMAT" determinerCode="KIND">
{code code="G.k. 2. 3.1.25" codeSystem="TBD-Substance”
codeSystemVersion="G. k. 2. 8.r. 2a" />
' ¢}— G.k. 2.3.r. 2a: Substance / Specified Substance TermID Version Date/Number #2-2 —
il : !
¢!=~ G. k. 2. 3. r. 2b Substance / Specified Substance TermID #2-2 —>
<name>G. k. 2. 3. r. 1{/name>
{l— G.k.2.3.r.1: Substance / Specified Substance Name #2-2 —>
{/ingredientSubstance> ’
{/ingredient>
</kindOfProduct>
{subject0f typeCode="SB]">
<{productEvent classCode="ACT” moodCode="EVN">
{code code="1" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 18" codeSystemVersion="1, 0"
displayName="retailSupply”/>
‘ {performer typeCode="PRF">
{assignedBntity classCode="ASSIGNED™>
{represented0rganization classCode="0RG" determinerCode="INSTANCE">
{addr> .
{country>G. k. 2. 4</country>
- {'— G. k. 2. 47 Identification of the Country Where the Drug Was Obtained §2 —>
{/addr>
{/representedOrganization>
-{fagsignedEntity>
{/performer>
</productEvent,
{/subjectOr> .
{subject0f typeCode="SBJ">
{observationEvent classCode="0BS~ moodCode="EVN™>
. {code code="2" codeSystem="2.16. 840. 1. 113883.3.980.5.1.3.2.1. 10"
codeSystemVersion="1. 0" displayName="—mR A EEROAFTER",
) {value xsi:type="CE” code="J2.6.k” codeSystem="2.16.840. 1, 113883.3.989.5.1.3.2. 1.5"
codeSystemYersion="1.07/>
<|— 888J2. 6. k: —MRAEELOAFER #2 —
{/observationEvent>
<{/subject0f>
</instance0fKind>
{/consumable>
<outboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.k.9,i.3.1b"/>
{l-— G.k.9.1i.8.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #1—> )
{I— G,k.9.i.3. 1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit}) Drug #2, Reaction #1 —>
<actReference classCode="0BS” moodCode="EVN">
{id root="154eb889-958h~45f2-a02f—42d4d6T4657F" />
{/actReference> ] '
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" uwnit="G.k.9.1i.3.2b"/>
¢}-— G,k.9.i,3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
{number) Drug #2, Reaction #1 —>
{!— G.k.9.1.3.2b: Time Interval between Last Dosé of Drug and Start of Reaction / Event
(unit) Drug #2, Reaction #1 —> :
<actReference classCode="0BS” moodCode="EVN">
<id root="154eb889-958h—-45F2-a02f-42d4d6f4657F" />
{/actReference>
<{/outhoundRelationshipl>
<outboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G.k. 9.i.3.1b"/>
{!— G, k. 9.1,3,1la: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #2 ——>
<1— G.k.9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event {unit) Drug #2, Reaction #2 —>
<actReference classCode="0BS” moodCode="EVN">
<id root="2baa2B8d6-c%e8-4ebc-93e3-5b860b3142207 /> .
{/actReference> '

f



{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>
<pauseQuantity value="10" unit="G.k.9.i.3.2b"/>
<!— G.k.9.i.3.2a: Time Interval betwsen Last Dose of Drug and Start of Reaction / Event
(number) Drug %2, Reaction #2 —>
{l== 6.k.9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #2, Reaction #2 —> : N
<actReference classCode="0BS" moodCode="EVN™>
<id root= 2baa28d6-c988—4365—9339 5b860b314220” /)
¢/actReference>
{/outboundRelationshipl>
LowtboundRelationshipl typeCode—"SA5">
<pauseQuantity value="10" unit="G.k. 9.i.3. 1b"/>
I G.k.9.i.3. 1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #3 —>
<l-- 6.k.9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #2, Reaction #3 -->

{actReference classCode="0BS" moodCode="EVN™>
{id reot= 3386260b—9f1b—4ea£—8&0f-eﬂff344303df />
{/actReference>
</outhoundRelationshipl>
LoutboundRelationshipl typeCode—’SAE')
{pauseQuantity value="10" wnit="G.k.9.i. 3. 2b"/> )
<!=— 6.k.9.i.3.2a: Time Interval between Last Dose of Drug and Start of React1on / Event
(number) Drug #2, Reaction #3 — . .
{l-— G.k.9.i73.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
{unit} Drug #2, Reaction #3 —>
<actReference classCode="0BS” moodCode="EVN">
{id root="3a8626ch—9f1b—4eal-8a0f-c0f£34430adf" />
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G.k 9.i.3.1b"/>
{l— 6.k.9.i. 3. la: Time Interval between Beginning of Brug Administration and Start of
. Reaction / Event {number) Drug #2, Reaction H#4 —
&1— 6. k.9.1.3. 1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #2, Reaction #4 —>
{actReference classCode="085" moodCode="EVN">
{id root="2e99840f-08b4~499c~80ff-ddB415f4£f8a5" />
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE">
{pavseQuantity value="10" unit="G.k.9.1.3.2b"/>
{l-= G,k 9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #2, Reaction #4 —>
. {I—— G.k.9.i.3.2b: Time Interval between Last Dose of Prug and Start of Reaction / Event
(unit) Drug #2, Reaction #4 —>
{actReference classCode— 0BS” moodCode="EVN">
<id root="2e998401-08b4~499c-80Ff-dd8415f4fRa5" />
{/actReference>
{/outboundRelationshipl>
CoutboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" wnit="G.k.9.i.3.1b"/>
{J-- 6.k.9.i.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #5 —>
{!— G.k.9.1i.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #2, Reaction #5 —>
{actReference classCode="0BS” moodCode="EVN">
{id root="1071064c-cf10-4a3b-83c1-34f9ddbTeadd” />
<{/actReference’
{/outboundRelationshipl}
<outboundRelationship! typeCode="SAE">
{pauseQuantity value="10" unit="G. k.9.1.3.2b"/>
¢{!— G.k.9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(humber) Drug #2, Reaction #5 —>
{I-- G.k.9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #2, Reaction #5 —>
{actReference classCode="0BS" moodCode="EVN">
{id root="1071064c—cf10-4a3b-83c1~3459ddbTeabd” />



{/actReference>
</outboundRelationshipl?>
<outboundRelationshipl typeCode="SAS">
<{pauseQuantity value="10" unit="G.%k.9,i,3.1b"/>
<!— G.k.9.1i. 3. 1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #6 —>
{I-— G.k.9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #2, Reaction #6 —>
{actReference classCode="0BS" mocdCode="EVN™>
<id root="1f927283-10b6-4334-9d43-e925640fb18F" />
{/actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k.9,i.3.2b"/>
{!-- G.k.9.i.3.2a: Time Interval between.last Dose of Drug and Start of Reaction / Event
(number} Drug #2, Reaction #6 —> .
{l— G.k.9.i.3.2b! Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #2, Reaction #6 —>
<actReference classCode="0B3” moodCode="EVN">
<id root="1f927283-10b6-4334-9d43-2925640fb18F" />
</actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
¢I=— G.k.9.1.3. la: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #7 —>
{}— G.k.9,i, 3, 1b: Time Interval between Begimning of Drug.Administration and Start of
Reaction / Event {unit) Drug #2, Reaction #7 —>
<actReference classCode="0BS" moodCode="EVN">
{id root="e0342969-38be—-423f-b6bb—celdbc279d8e” />
{/actReference>
¢/outboundRelationshipl> : .
<outboundRelationshipl typeCode="SAE">

{pauseQuantity value="10" unit="G.k. 9.i.3.2b"/>

¢!~ 6.k 9,i. 3. 2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #2 Reaction #7 —>

{l-- 6.k 9,9, 3. 2b: Time Interval between Last Dose of Drug and Start of Reaction / Event

(unit) Drug #2 Reaction #7 —>
<actReference classCode="0BS” moodCode="EVN™>
€id root="e(342069-38be-423f-bébb—celdbc279dBe” />
{/actReference>
¢/outboundRelationshipl>
{outboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.k.9.1i.3. 1"/
<!—- 6.k.9.i.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #8 —>
<1-— 6.%k.9.1.3. 1b: Time Interval between Beginnhing of Drug Administration and Start of
Reaction / Event (unit) Drug #2, Reaction #8 -->
{actReference classCode="0BS” moodCode="EVN">
<id root="alSbel}92-8070-426d-af04-6863263443e0"/>
{/actReference>
{/outboundRelationshipl>
<autboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k.9.i.3.2b"/>
¢<l-— G.k.9.1.3,2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #2, Reaction #8 —>
- G. k9.1, 3. 2b: Tlme Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #2, Reaction #8 ==>
<actReference classCode="0BS” moodCode="E¥N">
<id root="alhbe92-8070-426d-af04-6863263443e0”/>
{/actReference>
</outboundRe1atxonsh1pl>
<outboundRelationship2? typeCode="PERT">
{observation classCode="0BS” moodCode="EVN™>
<code code="§" codeSystem="2. 16. 840. 1. 113883, 3. 98%. 2. 1. 1. 19”7 codeSystemVersion="1.1"
displayName="blinded” /> :
<value xsi:type="BL” value="true”/>
{l— G.k.2.5: Investigational Product Blinded #2 ——>
{/observationd



{/outboundRelationship2>
<outboundRelationship2 typeCode="COMP"> ]
{4— G.k.4.r : Dosage and Relevant Information (repeat as necessary) #2-1 —>
{substanceAdministration classCode="SBADM” moodCode="EYN">
{text>G. k. 4. r. 8¢/text>
{I— 6.k.4.r.8: Dosage Text #2-1 —>
{effectiveTime xsi:type="IVL_TS5™>
C{law value="20090101"/>
(1=~ G. k. 4.¥.4: Date and Time of Start of Drug #2-1 —>
<high value="200901017/>
{I— 6.k 4.r.5: Date and T1me of Last Administration #2-1 —
{/effectiveTime> )
<routeCode code="G.k.4.r.10.2b" codeSystem="2. 16. 840. 1. 113883. 3.989. 2.1. 1. 14~
codeSystemVersion="G. k. 4. r. 10. 2a™>
<l— G.k.4.r.10.2a: Route of Administration TermID Version Date / Number f#2-1 -->
¢!— G.l.4.r.10.2b: Route of Administration TermID #2-1 —>
<originalText>G. k. 4. r. 10. 1</originalText>

¢l— G.k.4.1.10. 1: Route of Administration (free text} #2-1 —
<{/routeCode>
{doseQuantity value="10" unit="G. k. 4.r. 1" />
<!— G.k.4.r.1a Dose (number) #2-1 —>
¢l— G.k.4.r. 1b: Dose (unit) #2-1 ~~>
<consumable typeCode="CSM™>
(instance0OfKind classCode="INST">
¢productInstancelnstance classCode="MMAT” determinerCode="INSTANCE™>
{lotNumberText>G. k. 4. r. 7</lotNumberText>
<{!— G.k. 4 r.7: Batch / Lot Number #2-1 ->
<{/productInstanceInstance>
<kind0fProduct classCode="MMAT" determinerCode="KIND">
{formCode code="G.k.4.1.9.2b” codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4.1.9. 2a™> ]
{I=- G.k.4.1.9. 2a: Pharmaceutical Dose Form TernID Version Date / Number #2-1 ~>
<1— G.k 4:1.9.2b: Pharmaceutical Dose Form TermID #2-1 —>
<originalText>G. k. 4. r. 9. 1{/originalText>
<l-- G,k 4.7.9.1: Pharmaceutical Dose Form (free text) #2-1 —>
{/formCode>
/kind0fProduct?
{/instance0fKind>
</consumable>
{inboundRelationship typeCode="REFR">
{observation classCode="0BS" moodCode="EVN">
<code code="28" cadeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="parentRouteOfAdministration”/> >
{value xsiitype="CE" code="G.k.4.r.11.2b" codeSystem="2, 16. 840, 1. 113883. 3. 989. 2. 1. 1. 14"
codeSystemVersion="G.k. 4 r. 11, 2a”> ’ i ‘
¢|— G.k.4.1.11. 2a: Parent Route of Administration TermID Version Date / Number #2-1
—>.
{l— G.x. 4.r. 11, 2b: Parent Route of Administration TermID #2-1 —>
<originalText>G. k. 4. r. 11. 1¢/original Text> .
{!-~ G.k 4.r.11.1: Parent Route of Adninistration (free text) #2-1 —>
{/value>
{/ohservation>
{/inboundRelationship?
{/substanceAdministration>.
{/outboundRelationship2> :
{outboundRelationship2 typeCode="COMP™>
{l— G.k.4.r: Dosage and Relevant Information {repeat as necessary) #2-2 —»
<substanceAdministration ¢lassCode="SBADM” moodCode="EVN">
{text>G. k. 4. r. 8¢/text>
!~ G.k.4.1.8: Dosage Text #2-2 —>
{effectiveTime xsi:type="IVL_IS">
<low value="20090101"/>
<l— G,k.4.r.4: Date and Time of Start of Drug #2-2 —>
<{width value="4" unit="G.k. 4. r. 6b"/>
<|— G.k.4.1.6a: Duration of Drug Administration (number) §2-2 —>
¢]l— G.k. 4.r.6b: Duration of Brug Administration (mit) #2-2 —>
{/effectiveTime>
<routeCode cede="5.k, 4. r. 10. 2b” codeSystem="2. 16. 840, 1. 113883. 3. 98%. 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 10. 2a™>



<l=— G.k.4.1.10. 2a: Route of Administration TermID Version Date / Number #2-2 —>
¢]l— G.k.4.r.10.2b: Route of Administration TermlID #2-2 —>
<originalText>G. k. 4. r. 10. 1{/originalText>
<d— Gk 4.1.10.1: Route of Administration (free text) #2-2 —>
{/routeCode>
<{doseQuantity value="10" unit="G.k. 4.r. 1b"/> .
{!— G.k.4.r. 1a Dose (number) #2-2 —>
<I— G.k.4.r.1b: Dose (unit) #2-2 —>
{constmable typeCode="CSM">
{instance0fKind classCode="INST™>
<productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™> .
<lotNumberText>G. k. 4. r. 7</lotNunberText> .
¢!— G.k.4.1.7: Batch / Lot Number #2-2 —>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.r.9.2b" codeSystem="TBD-DoseForm”
codeSystemVersion="G. k.4, r. 9. 2a™> '
€¢!— G.k.4.r.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-2 ——>
{l~= G.k.4.1.9. 2b: Pharmaceutical Dose Form TermID #2-2 —>
{eriginalText>G. k. 4. 1. 9. 1</originalText>
{l—- G.k.4.1.9.1: Pharmaceutical Dase Form (free text) #2-2 —>
- {/formCode>
</kind0fProduct>
</instanceOfKind>
</consumable>
{inboundRelationship typeCode="| REFR >
<observation classCode="0BS" moodCode="EVN"> .
{code code="28" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRoute(fAdninistration”/>
- ¢value xsi:type="CE” code="G.k.4.r.1l.2b" codeSysten="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 11. 2a™> .
{l-- G.k.4.1. 11 2a: Parent Route of Administration TermID Version Date / Number #2-2
—>
<l=- G,k.4.1. 11, 2b: Parent Route of Administration TermID #2-2 —->
{originalText>G. k. 4. r. 11. 1<{/original Text>
<!— G.k.4.r.11.1: Parent Route of Administration (free text) #2-2 —>
<{fvalue>
{/observation>
{/inboundRelationship>
{/substanceAdministration>
</otitboundRelationship2> .
{outboundRelationship? typeCode="COMP">
<{l— G.k.4.r: Dosage and Relevant Information (repeat as necessary) H2-3 =-->
{substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4. 1. 8<{/text>
<I— G.k.4.r.8: Dosage Text #2-3 —
{effectiveTime xsi:type="IVL_TS™>
<width value="4" unit="G. k. 4. r.6b"/>
<!— G.k.4.r.6a: Duration of Drug Administration (number) #2-3 -->
{I-- G.k 4.r.6b: Duration of Drug Administration (unit} #2-3 —>
<high value="20000101"/>
{l=~ G.k.4.1.5: Date and Time of Last Administration #2-3 —>
{/effectiveTime>
<routeCode code="G, k. 4.1, 10. 2" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 147
codeSystemVersion="G. k. 4. r. 10. 2a”>
<t— G.k. 4 r.10. 2a: Route of Administration TermID Version Date / Number ¥2-3 ——>-
<!~ G.k. 4.r.10. 2b: Route of Administration TermID #2-3 —->
{originalText>G. k. 4. r. 10. 1<{/originalText>
<I— G.k 4.1,10, 1: Route of Administration (free text) #2-3 —>
{/routeCode>
{doseQuantity value="10" unit="G. k. 4.r. lb"/>
(= G.k.4.1.1a Dose (number} £2-3 —>
{I-- 6.k 4 1. 1b: Dose (unit) #2-3 ——>
{consumable typeCode="CSM">
<instance0fKind classCode="INST">
<{productInstanceInstance classCode="MMAT” determinerCode="INSTANCE™>
{lotNumberText>G. k. 4. r. 7{/1lotNumberText>
¢l-- 6.k 4.r.7: Batch / Lot Number H2-3 —>
{/productInstancelnstance>



<kindOfProdict classCode="MMAT" determinerCode="KIND">
<&m%®cﬁﬁ%k4¢ﬂjvcwﬁwmwﬁwﬂwﬁwf
codeSystemVersion="G. k. 4. 1. 9. 2a™>
{— Gk 4.r.9. 2a: %ﬂmwﬂmﬂDwe%mTuﬂD%mwnhm/Mmmrﬂﬂuﬁ‘
¢I— G.k 4.1.9.2b: Pharmaceutical Dose Form TermID #2-3 —> .
. {originalText>G. k. 4. r. 9. 1</originalText>
] ¢l— 6.k 4.7.9.1: Pharmaceutical Dose Form (free text) #2-3 —>
* /foruCode>
{/kind0fProduct>
</instance0fKind> .
</consumable>
<inboundRelationship typeCode="REFR™>
{observation classCode="0BS" moodCode="EVN">
{code code="28" codeSystem="2.16. 840, 1. 113883, 3.989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="parentRouteQfadmninistration”/>
{value xsi:type="CE" code=”G.k.4=r.llh2b” cadeSysten="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 11.2a™> ’

{l— G.k.4.r.11. 2a: Parent Route.of Administration TermID Version Date / Number #2-3
_> .
{l—G. k. 4.r. 11. 2b: Parent Route of Administration TermID {2-3 -->
{originalText>G. k. 4. 1. 11, 1</original Text>
¢]= G.k.4.r.11.1: Parent Route of Administration {free text) #2-3 —>
&/valued
</observation>
{/inboundRelationship>
¢/substanceAdministration>
{/outboundRelationship2>
{outboundRelationship2 typeCode="COMP">
¢l— G.k.4.r: Dosage and Relevant Information {repeat as necessary) #2-4 —>
{substanceAdministration classCode="SBADM™ moodCode="EVN™>
{text>G. k. 4. r. 8</text>
{l— G.k.4.1.8: Dosage Text #2-4 —>
{effectiveTime xsi:type="SXPR_TS™>
{comp xsi:type="PIVL_TS™>
<period value="10" unit="G.k.4.1.3"/>

¢l— G.k.4.7.2: Number of Units in the Interval #2-4 —>
¢l— G.k. 4.1.3: Definition of the Time Interval Unit H2-4 —>
{/comp>

<comp xsi:type="IVL_TS” gperator="A">
<low value="20090101"/>
{!== 6.k 4. 1. 4: Date and Time of Start of Drug #2-4 —>
{/comp>
{/effectiveTime> :
<routeCode code- G. k. 4.r. 10, 2b” codeSystem="2. 16, 840, 1, 113883, 3, 989, 2.1, 1. 14~
codeSystemVersion="G, k. 4, r. 10, 2a™> .
{1— G.k 4.1.10.2a: Route of Administration TexrmID Vérsion Date / Number #2-4 -->
{1 G.k 4.7.10.2b: Route of Administration TermID #2-4 —>
<originalText>G. k. 4. x. 10, 1</originalText> -
¢{— G.k. 4.1.10. 1: Route of Administration (free text) #2-4 —>
<{/routeCode>
<doseQuantity value="10" wnit="G. k. 4.r. 1b"/>
¢l~= G.k.4.1. 12 Dose (number) #2-4 —>
<!— G.k.4.1.1b: Dose (unit) #2-4 —>
{consumable typeCode="CSH">
<instanceOfKind classCode="INST"> )
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE">
<lotNumberText>G. k. 4. r. 7</lotNumberText>
{l— 6.k 4.r.7: Bateh / Lot Number #2-4 —>
{/productInstanceIlnstance>
<kind0fProduct classCode="MMAT" determinerCode="KIND">
{formCode code="G.k.4.r.9.2b" codeSystew="TBD-DoseForm”
codeSystemVersion="G. k. 4.r. 9, 2a™>
: : {I— G.k.4.r.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-4 —
<I— G.k. 4.r.9.2b: Pharmaceutical Dose Form TernID #2-4 ~—>
<originalText>G. k. 4.x. 9. 1</originalText> )
¢l G.k.4.r.9. 1! Pharmaceutical Dose Form (free text) #2-4 ——>
{/fornCode>
£/kind0fProduct>
</instance0fKind>



</consumable>
{inboundRelationship typeCode="REFR">
<observation classCode="0BS” moodCode="EVN">

<code code="28" codeSystem="2, 16. 840. 1. 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion="1,1"

displayName="parentRouteCfAdministration”/>

{value xsi:type="CE” code="G.k. 4.r.11.2b" codeSystem="2. 16.840. 1. 113883.3.98%.2. 1. 1. 14"

codeSystemVersion="6.k-4.r.11. 2a”>

-
{}— G.k.4.r. 11, 2b: Parent Route of Administration TermID #2-4 —>
{originalText>G. k. 4. r. 11. 1{/originalText>
{I-- G.k.4.r. 11, 1: Parent Route of Administration (free text) #2-4 -->
</value>
{/observation
{/inboundRelationship>
"{/substanceAdwinistration>
{/outboundRelationship2>
{outboundRelationship2 typeCode="COMP™>
<l— G.k.4.r: Dosage and Relevant Information (repeat as necessary) H2-5 ——>
<{substanceAdministration c¢lassCode="SBADM” moodCode="EVN">
{text>G. k. 4. r. 8¢/ text>
¢l~— G.k 4.r.8: Dosage Text #2-5 —>
CeffectiveTime xsi:type="SXPR_TS">
{comp xsi:@type="PIVL_TS™>
{periced value="10" unit="G. k. 4.r.3"/>
<l— G.k.4.r.2: Number of Units in the Interval #§2-5 —>
<l— G.k.4.r.3: Definition of the Time Interval Unit #2-5 —
</comp>
{comp xsi:type="IVL_TS” operator="A">
<high value="20090101"/>
¢!— G.k.4.1.5: Date and Time of Last Administration #2-5 —>
</comp>
{/effectiveTime>
<LrouteCode code="G. k. 4. r. 10, 2b” codeSystem="2, 16. 840, 1. 113883. 3.989. 2. 1. 1. 14"
codeSystemVer31on~ G.k.4.1.10.2a™>
¢l— G.Kk. 4.r.10. 2a: Route of Administration TermID Version Date / Number #2-5 —>
<l— G.k 4.r.10. 2b: Route of Administration TermID #2-5 —>
<originalText>G. k. 4. r. 10. 1</originalText>
<!-- G.k 4.r.10.1: Route of Administration (free text) #2-5 —>
</routeCode>
{doseQuantity value="10" unit="G.k 4. r. 1b"/>
{!— G.k.4.r.1a Dose (number) #2-5 —>
{l— G. k. 4. 1. 1b: Dose (unit) #H2-5 —>
{consumable typeCode="CSH">
<instanceOfKind classCode="INST">
{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE™>
{lotNumberText>G. k. 4. 1. 7</lotNumberText>
¢!—— G.k.4,.r. 7! Batch / Lot Number #2-5 —>
</productInstancelnstance>
{kindOfProduct classCode="MMAT" determinerCode="KIND">
FormCode code="G. k. 4.r. 9. 2b” codeSystem="TED-DoseForm”
codeSystenVersion="G.k.4.1. 9. 2a”>

{l— G.k.4.r.11. 2a: Parent Route of Administration TermID Version Date / Number #2-4

¢l—— G.k.4.1.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-5 —>

{1— G.k. 4.1r. 9. 2b: Pharmaceutical Dose Form TernlID #2-5 —>
{originalText>G. k. 4. r. 9. 1<{/originalText>
<!-- G.k.4.71.9.1: Pharmaceutical Dose Form (free text) f2-5 —>
</formCode>
{/kindOfProduct>
</instance0fKind>
¢/consumable> .
{inboundRelationship typeCode="REFR™>
<observation classCode="0BS" moodCode="EVN">

<{code code="28" codeSystem="2.16. 340. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"

displayName="parentRouteQfAdministration”/>

<value xsi:type="CE” code="G.k.4.r.11.2b" codeSystem="2. 16. 840. 1. 113883.3.989.2.1.1.14"

codeSystemVersion="G. k.4.7. 11. 2a">

<l— G.% 4.r.11,2a: Parent Route of Administration TermIP Version Date / Number #2-5

-2
<= G. k. 4.7.11. 2b: Parent Route of Administration TermID #2-5 —>



{ariginalText>G. k. 4. r. 11, 1</originalText>
{!— G.k.4.r.11.1: Parent Route of Administration (free text) #2-5 —>
" {/value>
</cbservation>
</inhoundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
{outboundRelationship2 typeCode=" COMP >
{!—- G.k.4.1: Dosage and Relevant Information (repeat as necessary) #2-6 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{text 6. k. 4. 1. 8¢/text>
<]— G.k. 4.r.8: Dosage Text §2-6 —>
<effectiveTime xsi:type="SYPR_TS™>
{comp xsi:type="PIVL_TS™>
<{period value="10" unit="G. k. 4.r. 3 o
{I~~ 6. k.4.r.2: Number of Units in the Interval #2-6 —>
¢l— G lk.4.r 3: Definition of the Time Interval Unit #2-6 —>

</comp?
. Ccomp xsi:type="IVL_TS” operator="a"}
{width value="4" unit="G. k.4.r.6b"/">
<{|—— G.k.4.r. 6a: Duration of Drug Administration (number} #2-6 —->
<{!— G.k. 4. 1. 6b: Duration of Drug Administration (unit) #2-6 —>
{/comp>
feffectiveTimer
{routeCode code="G.k. 4. r. 10.2h" codeSystem— 2.16.840.1.113883.3.988.2.1. 1. 14"
codeSystenVersion="6. k. 4. r. 10. 2a"> - ‘ ) '
<d— G. k. 4. 1.10.2a: Route of Administration TermID Version Date / Number 42-6 —>
{!— G.k.4.r.10. 2b: Route of Administration TermID #2~6 -=>
{originalText>G. k. 4. r. 10. 1<{/criginalText>
<l— G.k.4.1.10. 1: Route of Administration (free text) #2-6 ——)
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r.1b"/>
<{l-— G.k. 4.r.1a Dose (number) #2-6 —>
{l— G.k.4.r. 1b: Dose (unit) H2-6 —>
<consumable typeCode="CSM">
{instance0fKind classCode="INST™>
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE">
{lotNumberText>G. k. 4. 1. 7¢/lotNumberText>
{I— G. k. 4.1.7: Batch / Lot Number #2-6 —>
</productInstanceInstance>
<kindCfProduct classCode="MMAT" determinerCode="KIND">
. {formCode code="G.k.4.r.9.2h" codeSystem="TBD-DoseForm”
codeSystenVersion="G. k. 4.1.9.2a"> .
¢!— 6.k 4.1. 9. 2a Pharmaceutical Dose Form TermID Version Date / Number #2-6 —>
¢!~ G.k 4.1.9.2b: Pharmaceutical Dose Form TermID #2-6 —>
CoriginalText>G. k. 4.r. 9. I{/original Text>
¢!— G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-6 —>
{/formCode>
</kindOfProduct?
{/instance0fKind}>
</consumable>
{inboundRelationship typeCode="REFR">
{ohservation classCode="0BS" moodCode="EVN">
{code code="28" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRoute0fAdrministration”/>
) <value xsitype="CE” code="G.k. 4. 1.11.2b" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 14"
codeSystenVersion="C.k 4.r.11. 2a">
<I— 6.k 4.x.11. 2a: Parent Route of Administration TermID Version Date / Number #2~6
-2
<}— G. k. 4.x.11.2b: Parent Route of Administration TermID #2-6 —>
<originalText>G. k. 4. r. 11, 1</eriginalTexty .~
<I— 6.k.4,r.11.1: Parent Route of Administration (free text) #2-6 —
<valued
</observation>
</inboundRelationship>
</substanceAdministration>
{/outboundRelationship2>
{outboundRelationship2 typeCode="COMP">
{i— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-7 —> -



{substanceAdministration classCode="SBADM” moodCade="EYN">
{text>G. k. 4. r. 8</text>
¢!— G.k. 4. r.8: Dosage Text #2-7 —>
<effectiveTime xsiitype="PIVL.IS">
<period value="10" unit="G.k. 4.r.3"/>
<{l— G.k.4.1.2! Number of -Units in the Interval #2-7 —>
)= G,k.4. 1. 3: Definition of the Time Interval Unit #2-7 —>
{/effectiveTime>
<routeCode code="G. k. 4.r.10. 2b" codeSysten="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r.-10, 2a™>
<!— G.k.4.1.10. 2a: Route of Administration TermID Version Pate / Number §2-7 -5
{l== G.k. 4. r.10. 2b: Route of Administration TermID #2-7 —>
<CoriginalText>G. k. 4. r. 10. 1<{/originalText> i
<l— G.k. 4.1r.10.1: Route of Administration {free text) #2-7 —
{/routeCode>
CdoseQuantity value="10" unit="G.k 4.r.1b"/>
¢!— G.k.4.r.1a Dose (number) 2-7 —>
¢l— G.k.4.r. 1b: Dose (unit) #2-7 —>
{consumable typeCode="CSM">
{instance0fKind elassCode="INST™>
<productInstanceInstance classCode="MMAT" determinerCode="TINSTANCE™>
{lotNumberText>G. k. 4. r. 7{/lotNumberText>
<l— G.k 4.1.7: Batch / Lot Number #2-7 —>
<{/productInstancelnstance>-
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="GC.k%. 4.r.9.2b" codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4. r. 9. 2a">
¢}~— G.k. 4.1, 9. 2a: Pharmaceutical Bose Form TermID Version Date / Number #2—7 —>
{!— G.k.4.1.9.2b: Pharmaceutical Bose Form TermID #2-7 ——>
<originalText>G. k. 4.1.9. 1{/originalText>
{l-- G.k.4.r. 9. 1: Pharmaceutical Dose Form (free text) #2-7 -
{/formCode>
- {/kind0fProduct>
</instance0fKind>
</consumable>
{inboundRelationship typeCode="REFR">
{observation classCode="0BS" moodCode="EVN">
" <code code="28" cheSystem=”2.16.840.1.113883.3.939.2.1.1.19” codeSystemVersion="1. 1"
displayName="parentRoute0fAduinistration”/> : ‘
<value xsi:type="CE” code="G.k 4.7.11.2b" codeSystem="2. 16.840. 1. 113883.3.989.2.1.1. 14"
codeSystenVersion="G. k. 4.r. 11. 2a”> - :
' {l— G.%. 4.1.11.2a: Parent Route of Administration TermID Version Date / Number #2-7
—
{J~~ G. k. 4 r. 11 2b: Parent Route of Administration TermID #2-7 —>
<originalText>G. k. 4. r.11. 1{/eriginalText>
¢l— G.k.4.r. 11 1: Parent Route of Administration (free text) #2-7 —>
<{/valued
{/observation>
</inboundRelationship>
{/substanceAdministration>
{/outbhoundRelationship2>
{outhoundRelationship? typeCode="COMP">
{!— G.k.4.r: Dosage and Relevant Information (repeat as necessary) H#2-8 —>
¢substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4. r. 8</textd .
' <I— G.k. 4.r.8: Dosage Text #2-8 —>
{effectiveTime xsi:type="IVL_T5">
<low value="20090101"/>
¢!— G.k.4.r.4: Date and Time of Start of Drug #2-8 —>
{/effectiveTime> ‘
routeCode code="G, k. 4. r, 10. 2b” codeSystem="2. 16.840. 1. 113883. 3.989.2.1.1, 14"
codeSystemVersion="G. k. 4. r. 10. 2a">
¢<l— G.k. 4.r.10. 2a: Route of Administration TermID Versicn Date / Number #2-8 —>
<1— G.k 4.1.10. 2b: Route of Administration TermID #2-8 ——>
<originalText>G. k. 4. 7. 10, 1</originalText>
<l-- G.k.4.7.10.1: Route of Administration (free text} #2-8 ——>
{/routeCode>
{doseQuantity value="10" unit="G. k. 4.1.1b"/>
<I— 6.k 4. 1. 1a Dose (mmber) #2-8 —>



{!— G.k.4.r.1b: Dose (unit) #2-8 —>
{consumable typeCode="CSH">
{instance0fKind classCode="INST”>
<productInstanceInstance classCode="MMAT” determinerCode="INSTANCE">
<lotNumberText>G. k. 4. r. 7¢/lotNumberText>
<!— G.k 4.1.7: Batch / Lot Number #2-8 —
{/productInstancelnstance)
<kind0fProduct classCode="MMAT” determinerCode="KIND™>
{formCode code="G.k.4.r.9.2b" codeSystem="TBD-DoseForn”
codeSystenVersion="G. k.4.r. 9. 2a”> '
<{I— G.k.4.1.9.2a! Pharmaceutical Dose Form TermID Version Date / Number #2-8 —»
<i—— G.k 4.7.9.%b: Fharmaceutical Dose Form TermID FZ"B -3 '
<or1g1nalText>G.k.4.r.9.1</or1g1nalText>
(!~ 6.k 4r.9.1: Pharmaceutical Dose Form (free text} #2-8 —
</formCode>
</kind0fProductd
{/instance(fKind>

</consumable}
<inboundRelationship typeCode="REFR™>
<observation classCode="0BS" moodCode="EVN™>
<code code="28" codeSystem="2. 16 840. 1, 113883, 3,989, 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="parentRoute0fAdninistration”/>
) {value xsiitype="CE" code="G.k.4. . 11.2b” codeSystem="2. 16.840. 1. 113883.3.989.2.1, 1. 14"
codeSystemVersion="G. k. 4.r. 11. 2a"> _
' <!— G.k. 4. r.11.2a: Parent Route of Administration TermID Version Date / Number #2-8
{!-- G.k 4. 1.11.2b: Parent Route of Administration TermID #2-8 —>
<originalText>G. k. 4. r. 11. 1</original Text>
<l— G.k.4.r.11. 1: Parent Route of Adm1n1strat10n (free text) H2-8 =->
</value>
{/observation>
</inboundRelationship?
</substanceAdministration
{/outboundRelationship2>
<outboundRelationship? typeCode="COMP”>
<!— G.k. 4.1! Dosage and Relevant Information (repeat as hecessary) #2-9 —
{substanceAdministration classCode="SBADM” moodCode="EYN*>
{text>G. k. 4. 1. B/ text>
<l-— G.k.4.r.8: Dosage Text #2-9 —>
<effectiveTime xsi:type="IVL_TS">
<high value="20090101"/>
<{l— G.k.4r.5: Date and Time of Last Administration #2-9 —>
{/effectiveTime>
{routeCode code="G.k. 4.r.10.2b" codeSystem— 2. 16, 840, 1. 113883, 3. 989. 2. 1. 1, 14"
codeSystemVersion="G, k. 4, r, 10. 2a™>
¢l—= G.k.4.r.10.2a: Route of Administration TermID Version Date / Number #2-8 —>
<{I— G.k 4.r.10. 2b: Route of Administration TermID #2-9 —>
<originalText>G. k. 4.r. 10. 1</original Text>
<{!1-- G.k.4.7.10. 1: Route of Administration (free text) #2-9 ——>
{/routeCode>
{doseQuantity value="10" unit="G.k 4.r.1b"/>
{l— G.k.4.r 1a Dose (number) #2-9 -->
<{I—G.k.4.r.1b: Dose {unit) #2-9 —>
{eonsumable typeCode="CSH">
<instance0fKind classCode="INST™>
<productInstancelnstance classCode="MMAT” determ1nerCode— INSTANCE >
. {lotNumberText>G. k. 4. r. 7¢/lotNumberText> .
<I-- G.k.4.r.7: Batch / Lot Number #2-9 —>
</productInstancelnstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND">
{formCode code="G.k. 4.r.9.2b" codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4. 7. 9.2a™>
' ¢{!— G.k. 4.7.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-9 >
{l— G.k 4.r. 9. 2b: Pharmaceutical Dose Form TermID #2-9 ——>
<originalText>G. k. 4.1.9. 1<{/original Text>
<}— 6G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-9 —>
{/formCode>
</kind0fProduct>
</instance0fKind>



</consumable>
<inboundRelationship typeCode="REFR">
{observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2. 16. 840. I. 113883. 3. 989, 2 1.1, 197 codeSystemVerslon» 1.17
displayNamé="parentRouteOfAdministration”/>
<valtte xsi:type="CE” code="G.k.4.r. 11.2b" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 14"

codeSystemVersion="G. k. 4. r. 11. 2a™>
¢!— G, k.4.r.11. 2a: Parent Route of Administration TermID Version Date / Number #2-9
¢!—— G.k. 4.1.11. 2h’ Parent Route of Administration TermID #2-9 —>
{originalText>G. k. 4. r. 11. 1</originalText>
{!— G.k. 4.r.11.1: Parent Route of Administration (free text} H2-9 —>
</value2
</observation>
</inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
[ {outboundRelationship2 typeCode="COMP">
¢{!— G.k.4.1r'! Dosage and Relevant Information (repeat as necessary) H#2-10 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4. r. B</text>
<!~ G.k.4.1.8: Dosage Text #§2-10 —>
{effectiveTime xsi:type="IVL_TS">
{width value="4" unit="G. k. 4.r.6b"/>
{!— G.k.4.r.6a: Duration of Drug Admipistration (number) H2-10 —>
<!— G.k. 4. r.6b: Duration of Drug Administration (unit) #2-10 --—>
{/effectiveTime>
{routeCode code="G.k. 4.r.10.2b” codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 147
codeSystemVersion="G.k. 4. r. 10. 2a”> .
<!— G.k 4.r 10. 2a: Route of Administratien TermID Version Date / Number #2-10 -->
<l— G.k.4.1.10. 2b: Route of Administration TermID #2-10 —>
<or1g1na1Text>G k. 4.r. 10. 1{/originalText>
<1— G.k.4.1.10.1: Route of Administration {(free text) #2-10 —>
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r.1b"/>
{l— G.k.4.r.1a Dose (number) #2-10 —>
I~ G.k. 4. r.1b: Dose (unit} ¥2-10 —>
{consumable typeCode="CSH™>
¢instance0fKind classCode="INST">
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™
{lotNumberText>G. k. 4. r. 7{/1lotNumberText>
.l 6.k 4.1.7: Batch / Lot Number f#2-10 —>
{/productInstancelnstance>
’ <kindOfProduct classCode="MMAT" determinerCode="KIND">
. {formCode code="GC.k. 4,r.9.2b" codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4.1. 9. 2a™>
¢!— G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-10 —>
{I— G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #2-10 —>
" originalText>G. k. 4.r.9. 1<{/originalText> ’
{I— G.k.4.7.9.1: Pharmaceutical Dose Form (free text) #2-10 —>
</formCode>
¢/kind0fProduct>
</instanceOfKind>
</consumahled
{inboundRelationship typsCode="REFR™>
{observation classCode="0BS" moodCode="EVN™> ~
<code code="28" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1 1. 19" codeSystemVersion="1.1"

displayName="parentRoute0fAdministration”/>
<value xsi:type="CE” code="G.k. 4.r.11.2b" codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 14" .

codeSystemVersion="G. k. 4.1. 11. 2a™> .
{l—— G.k.4.¥.11. 2a: Parent Route of Administration TermID Version Date / Number #2-10
-

¢{}— G.k.4.r. 11, 2b: Parent Route of Administration TermID #2-10 —>

<originalText>G. k. 4. r. 1. 1</originalText>

<I-— G.k.4.r. 1L t: Parent Route of Administration (free text) #2-10 ——>

<{fvalue>
{/observation>
{/inboundRelationship>
{/substanceAdministration>



{/outboundRelationship2>
{outboundRelationship2 typeCode="SUMM™>
{observation eclassCode="0BS" moodCode="EVN">
{code code="14" codeSystem="2.16. 840. 1. 113883, 3.989. 2. 1. 1. 19" codeSystemVersion="1.1
d1sp1ayName— cumulatlveDaseToReact1on />
<value xsi:type="PQ" value="10" unit="G.k. 5b"/> °
¢{!— G.k.Ba: Cumulative Dose to First Reaction (number) #2 —>
{I—G.k. 5b: Cumrlative Dose to First Reaction (unit) #2 —>
{/cbservation’
{/outboundRelationship2>
{outboundRelationship? typeCode="PERT">
{ohservation classCode="0BS" moodCode="EVN™>
<code code="16" codeSystem="2. 16. 840. I. 113883. 3. 089. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="gestationPeriod”/>
{value xsi:type="PQ" value="10" unit="G.k. 6b"/>
¢{!— G.k.Ba: Gestation Period at Time of Exposure (number) #2 —>
<}— G.k.6b: Gestation Period at Time of Exposure (unit) #2 s

»

{/observaticn>
{/outbotndRelationship2>
- <outhoundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN™>
{code code="31" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="recurranceCfReaction”/>
{value xsi:itype="CE” code="6.k.9.1i.4" codeSysten=" 2 16.840. 1. 113883, 3.989. 2. 1. 1. 16”
cadeSystemYersion="1, 0" />
d— G k. 9 i.4: Did Reaction Recur on Re-administration? Drug #2, Reaction #1 -
{outboundRelationshipl typeCode="REFR™>
<actReference classCode="0BS” moodCode="EVN">
<id root="154eb889-958b—4612~ab2f~42d4d6F4657F" />
{/actReference> .
</outboundRelationshipl>
{/observation>
£/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
{code code="31" codeSystem="2. 16. 840. 1. 113883, 3,989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="recurranceOfReaction”/>
<value xsi:type="CE” code="G. k. 9. i. 4" codeSystem="2, 16, 840. 1, 113883. 3.089. 2. 1. 1. 16"
codeSystemVersion="1. 0" /> '
<{!— G.k.9.i.4: Did Reaction Recur on Re—administration? Drug #2, Reaction #2 ——»
{outboundRelationshipl typeCode="REFR">.
{actReference classCode="0BS” moodCode="EVN™>
{id root="Zbaa23d6—c9e§-4e6c-93e9-5b860b314220" />
) </actReference>
4 : </outboundRelationshipl>
{/observation>
{/outboundRelationship2>
<outhoundRelationship? typeCode="REFR™>
{observation classCode="0B5" moodCode="EVN">
Ccode code="9" codeSysten="2. 16. 840. 1. 113883. 3. 989 2.1, 1. 19" cedeSystemVersion="1.1"
displayName="codedDrugInformation”/>
. {value xsiitype="CE” code="G.k. 10.r" codeSystem="2.16.340.1.113883.3.989.2.1.1.17"
codeSystemVersion="1.0"/>
<I-- 6.k.10.1: Additional Information on Drug (coded) {repeat as necessary) #2-1 —>
</observation> .
{/outhoundRelationship2>
{outboundRelationship2 typeCode="REFR">-
{ohservation classCode="0BS” moodCode="EVN">
{code eode="9" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19" codeSYstemVersLon‘ L1
displayName="cededDrugInformation”/>
<value xsi:type="CE" code="G.k. 10.»" codeSystem="2. 15, 840.1, 113883. 3. 989.2.1. 1. 17"
codeSystenVersion="1,07/>
¢l=- 6.k 10.1: Additional Informat1on on Drug (coded) (repeat as necessary) #2-2 —>
{/observation>
{/outhoundRelationship2>
{outboundRelationship2 typeCode="REFR">
<observation classCode="0BS” moodCode="EVN">
code code="2" codeSystem="2. 16. 840. 1. 113883.3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="additionalInformation”/>



Cvalue xsiitype="ST">G.k. 11<{/value>
{I-- G.k.11: Additicnal Information on Drug (free text) #2 -
</observation>
</outboundRelationship2>
<inhoundRelationship typeCode="RSON">
{observation classCode="0BS” moodCode="EVN"> .
{code code="19" codeSystem="2, 16. 840. 1. 113883. 3. 989.'2. 1. 1. 19" codeSystemVersion="1.1"
displayName="indication”/>
{value xsi:type="CE" code="G.k. 7.r.2b" codeSystem="2. 16. 840, 1. 113883, 6. 163"
codeSystemVersion="G. k. 7.r, 2a™> ) . '
{l— G.k.7.r.2a: MedDRA Version for Indication #2-1 —>
e~ G.k.7.1.2b: Indication (MedDRA code) #2-1 —>
<{originalText>G. k. 7. r. 1{/originalText>
¢!— G,k 7.1.1: Indication as Reported by the Primary Source #2-1 —
{/value> .
{performer typeCode="PRF">
{assignedEntity classCode="ASSIGNED">
{code code="3" codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 21" codeSystemVersion="1.0"
displayName="sourceReporter” />’ :
{/assignedEntity>
{/performer>
{/observation>
{/inboundRelationship>
{inboundRelationship typeCode="RSON">
<observation classCode="0BS” moodCode="EVN">
{code code="19" codeSystem="2, 16.840. 1, 113883. 3.989.2.1.1. 18" codeSystemVersion="1.1"
displayName="indication”/> '
' <value xsi:type="CE” code="G.k.7.r.2b" codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystemVersion="G, k. 7. 1. 2a™>
<l— G.k. 7.r. 2a: MedDRA Version for Indication #2-2 —>
<]— 6.k 7.r.2b: Indication (MedDRA code) #2-2 —>
* CoriginalText>G. k. 7. r. 1{/originalText>
<!— G.k.7.1.1: Indication as Reported by the Primary Source #2-2 —>
</value> '
{performer typeCode="PRF">
‘ ‘ <assignedBntity classCods="ASSIGNED">
' <code code="3" codeSystem="2. 16. 840, 1. 113883, 3. §89. 2. 1. 1. 21" codeSystemYersion="1.0"
displayName="scurceReporter”/> .
- {/assignedEntity>
4 {/performer>
’ {/observationd>
</inboundRelationship>
{inboundRelationship typeCode="CAUS">
<act classCode="ACT" moodCode="EVN"} .
<cade code="C, k. 8" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 15" codeSystemVersion="1.0"/>
{!— G.k.8: Action{s) Taken with Drug #2 —
</act> '
</inboundRelationship>
{/substanceAdministration>
{/component>
{/organizer)
{/subject0f2> .
{subject0f2 typeCode="SB]">
<organizer classCode="CATEGORY” moocdCode="EVN">
<code code="1" codeSystem="2. 16. 840. 1. 113883.3.989.5.1.3.2. 1. 11* codeSystemVersion="1.0
displayName="{88 DIEE" />
<component typeCode="COMP™>
{observation classCode="0BS” moodCode="EVN">
{code code="7" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1.0"
displayName="/8 HEX"/>
<value xsi:type="INT" value="1"/>
(l-- @08J2.13.r.1: fEHEEE #1 —>
<{/observation> :
{/component>
{component typeCode="COMP™>
{observation classCode="0BS” moodCode="EVN"> .
{code code="8" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5, 1. 3. 2. 1. 10" codeSystemYersion="1.0"

”

displayName="%2#%H"/>
o ¢value xsi:type="ED">J2.13.r. 2<{/valued



I-— 880J2.13.r. 2: WEES #1 —>
</observation>
{/component>
{compenent typeCode="COMP">
{observation classCode="0BS" moodCode="EVN">
{code code="97 codeSystem="2. 16.840; 1. 113883. 3. 989.5. 1. 3. 2. 1. 10" codeSystemVersion="1.0"
displayName="FR3%F2" /">
{value xsi:type="CE” code="]J2.13.1.3" codeSystem="2. 16. 840, 1. 113883.3.989.5.1.3.2.1. 77
codeSystemVersion="1. 0"/ ‘
: <i—— @@aJ2.13.r.3: PSR 1 -
{/ohservation>
L/ l-umpuu&lu./
{component typeCode- COMP™>
{observaticn classCode="0BS" moodCade="EVN">
{code code="10" codeSystem="2. 16.840. I. 113883, 3. 989.5.1.3.2.1.10 codeSystemVersion="1. 0"
displayNeme="{E P O EFOFE" />

{value xsi:type="BL" value="true"/}

d— @2 13T ¢ BEEFOREMNORE 81 —
{/ohservation’ ‘ ‘
</component>
{/organizer>
{/subject0f2>
(subject0f2 typeCode="SB]™> :
<organizer classCode="CATEGORY” moodCode="EVN">
{code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989.5.1.3.2.1. 11" codeSystemVersion="1. 0
displayName="{R B DIFZE" />
{component typeCode="COMP">
<observation classCode="0BS” moodCode="EVN">
{code code="7" codeSystem="2. 16. 840, 1. 113883. 3. 989.5.1.3.2. 1. 107 codeSystemVer51on— 1.0"
displayName="/8 Hi[E1¥" />
<value xsi!type="INT" value="1"/>
<— 6esJ2.13.1.1: BHENK #2 —
</observation>
{/component>
{component typeCode="COMP">
<observation classCode="0BS” moodCode="EVN">
) {code code="B" codeSystem="2. 16. 840, 1. 113883, 3,989, 5. 1. 3. 2. 1. 10" codeSystemVersion="1.0"
displayName="%B&EHB"/> .
<value xsi:type="ED">J2.13.r.2¢{/value>
<l— 2@BJ2. 13.r. 2: MBERE #2 —
{/observation>
</component>
<component typeCode="COMP">
<observation classCode="0BS" moodCode="EVN">
<code code="9" codeSystem="2. 16, 840. 1. 113883. 3.989. 5.1. 3. 2. 1. 10" codeSystemVersion="1.0"
displayName="PH%40"7/> .
<value xsi:type="CE” code="J2.13.r.3" codeSystem="2.16. 840.1.113883.3.989.5.1.3.2.1.7"
codeSystemVersion="1, 0" /> '
<I—- @8@J2.13.r. 3: FA%sdE 42 —
{/observation>
{/component>
{component typeCode="COMP™>
<observation classCode="0BS” moodCode="EVN">
<code code="10" codeSystem="2, 16, 840, 1. 113883. 3. 989.5.1.3.2.1.10 codeSystemVersion="1. 0"
displayName="1k P DEFIDEE"/> :
{value xsi:type="BL” value="false”/>
(l— @eaje, 13.1. 4: BEFOEFOFE #2 —
{/observation>
{/component>
{/organizer>
{/subject0f2>
{/primaryRele>
{fsubjectl>
{component typeCode="COMP™>
ScausalityAssessment classCode="0BS” moodCode="EVN">
{code code="20" codeSystem="2. 18, 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="interventionCharacterization”/>
{value xsi:type="CE" code="G.k. 1" codeSystew="2.16. 840, 1. 113883, 3. 989.2. 1. 1. 13"
codeSystemVersion="1. 07/>



<l~~ G.k.1: Characterisation of Drug Role Drug #1 —>
{subject? typeCode="SUB]™>
{productlUseReference classCode="SBADM” moodCode="EYN">
<id root="3¢c91b4d5-e038-4a7a—9c30-67671b0efoed” />
{/productUseReference>
{/subject2>
{/causalityAssessment>
{/component>
{component typeCode="COMP"> .
{causalityAssessment classCode="0BS” moodCode="EVN"> .
<code code="20" codeSystem="2. 16.840. 1, 113883, 3, 989, 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="interventionCharacterization”/> '
<value xsiltype="CE” code="G.k.1” codeSystem="2.16. 840, 1.113883.3.989.2.1. 1. 13"
codeSystemVersion="1,0"/> }
{!— G.k.1: Characterisation of Drug Role Drug #2 —>
{subject? typeCode="SUBJ">
{preductlUseReference classCode="SBADM” moodCode="EVN">
{id root="68d6f5ce—3b3b~45¢7-92dd-69e06730c3ad” />
</productUseReference>
{/subject2>
{/causalityAssessment>
</component>
{component typeCode="COMP”">
{causalityAssessment classCode="0BS” moodCode="EVN">
{code code="39" codeSysten="2, 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="causality”/>
. {value xsi:type="ST">G.k.9.i.2.r. 3<{/value>
¢l-— 6.k 9. 1. 2.r. 3: Result of Assessment Drug #1, Reaction #1, Assessment #1 —>

<methodCode>

originalText>G. k. 9. i, 2. r. 2{/eriginal Text>

¢l-— 6.k 9.i.2.r.2: Method of Assessment Drug #1, Reaction #1, Assessment #1 —>
{/methodCode>

{author typeCode="AUT">
{assignedEntity classCode="ASSIGNED">
{code> .
<originalText>G. k. 9. 1. 2. r. 1{/originalText>
¢l— 6. k.9.i.2.r.1: Source of Assessment Drug #1, Reaction #1, Assessment #1 —>
{/code>
{/assignedEntity>
{/author>
{subject] typeCode="SUBJ">
CadverseEffectReference classCode="0B5" moodCode="EVN">
<id root="154eb889-958b-45f2-a02f-42d4d6£4657F" />
{/adverseEffectReference>
{/subjectl>
{subject2 typeCode="SUBJ">
{productlUseReference classCode="SBADM” moodCode="EVN">
<id root="3c91b4d5—e039-4a7a~3c30~67671b0efIed” />
</productUseReference>
{/subject2>
{/causalityAssessment>
{/component> -
{component typeCode="COMP”>
<causalityAssessment classCode="0BS” moodCode="EVN™>
<code code="39" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="causality”/>
Cvalue xsiitype="ST72G. k. 9. 1. 2.r. 3</valued
{I--6.k.9.i.2.1. 3! Result of Assessment Drug #1, Reaction #2, Assessment #1 -->
<{methodCode>
<originalText>G. k. 9.1, 2. r. 2</originalText> )
3-6.% 9.1,2.r.2: Method of Assessment Drug #I, Reaction #2, Assessment #1 —>
</methodCode>
{author typeCode="AUT">
{assignedEntity classCode="ASSIGNED">
{coded
<originalText>G. k. 9. i. 2. 1. 1{/originalText>
A-- Gk 9.i.2.1. 1: Source of Assessment Drug #1, Reaction #2, Assessment §1 —>
code>
{/assignedEntity>



<fauthor>
¢subijectl typeCode="SUBJ™>
{adverselffectReference classCode="0BS” maodCode— EVN™>
<id root="2baa28d6-cHe8—4ebc—33e8-5b860b3142207 />
</adverseEffectReference>
</sub ject1>
{subject? typeCode="SUB]">
{productUseReference classCode="SBADM” moodCode="EVN">
{id root="3c91h4d5-e039-4a7a-9c30-67671b0cf9ed” />
</productUseRéferance>
{/subject2>
{feausalityAssessment?
</component>
{component typeCode="COMP">
{causalityAssessment classCode="0BS" moodCode="EVN™>
{code code="39" codeSystem=”2.16.840.1.113883.3.989.2.1.1.19’ codeSystemVersion="1. 1"
displayName="causality”/> .

{value xsi:type="ST">G.k. 9, i. 2. r.3¢/value>

4G k. 9.i.2.r. 3: Result of Assessment Drug #2, Reaction #2 Assessment §1 —>
<methodCode>

<originalText>G. k. 9. 1.2, r. 2{/originalText>

{l=~G.%.9.1.2.r.2: Method of Assessment Drug #2, Reaction #2, Assessment #l ->
</methodCode>

<auther typeCode="AUT™>
<assignedEntity classCode="ASSIGNED">
{code>
<originalText>G. k. 9. 1. 2.r. }{/originalText>
{le= 6.k 9.1.2.1.1: Source of Assessment Drug %2, Reactlon #2, Assessment i —>
{fcode>
{/assignedEntity>
</author> 7
¢subjectl typeCode="SUBJ">
<adverseEffectReference classCode="0BS” moodCode="EYN">
<1d root= 2baa28d6-c9e8—4e60—93e9—5b860b314220 />
{/adverseEffectReference>
{/subjectl>
{subject? typeCode="SUBI">
{productUseReference classCode="SBADM" moodCode="EVN">
{id root="63d6f5¢ce~3b3b—45c¢7-92dd-69e06730c3a9” />
{/productUseReference>
<{/subject2>
{/causalityAssessment>
{/component?
{component typeCode="COMP">
{causalityAssessment classCode="0BS” moodCode="EVN">
<code code="39" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="causality”/>
<value xsi'type="ST">G. k. 8.1.2.r.3¢/value>

{I~=6.k.9.i.2.r. 3! Result of Assessment Drug #2, Reaction #2, Assessment #2 ——>
{methodCode>

<originalText>G. k. 9. i. 2. r. 2{/originalText>
L, G k.9.i.2.7.2: Method of Assessment Drug #2, Reaction #2, Assessment #2 —>
</methodCode> ‘

{author typeCode="AUT">
{assignedEntity classCode="ASSIGNED">
{code>
<originalText>G. k. 9. 1. 2. r, 1</originalText>
A— G,k 9.1.2.r.1: Source of Assessment Drug #2, Reactlon #2, Assessment §2 —>
{/code>
{/assignedEntity>
<fauthar?
<subjectl typeCode="SUB]"™>
{adverseEffectReference classCode="0B3" moodCode="EVN™>
<id root="2baa28d6-cYe8~4e6c-93e9-5b860b3142207/>
{/adverseEffectReference>
{/subjectl>
{subject2 typeCode=" SUBJ ) R
{productUseReference classCode="SBADM" moodCode="EVN™>
<id root=”68d6f50e-3b3h—45¢7—92dd—69906730c3a9"/)



{/preductUseReference>
{/subject2>
{/causalityAssessment>
{/component>
{coemponentl typeCade="COMP">
{observationEvent classCode="0BS” moodCode="EVN">
<code code="10" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="comment”/>
{value xsi:type="ED">H. 2¢{/valued
¢{l— H.2: Reporter’ s Comments —>
<author typeCode="AUT™>
{assignedBntity classCode="ASSIGNED">
<code code="3" codeSystem="2. 16. B40. 1. 113883. 3. 889. 2. 1. 1. 21" codeSystemVersion="1.0"
displayName="sourceReporter”/>
{/assighedEntity>
_ {/authar>
{/observationEvent>
{/componentl>
{component1 typeCode="COMP">
<observationEvent ¢lassCode="0BS" moodCode="EVN™>
{code code="15" codeSystem="2. 16. 340, 1. 113883, 3. 989. 2. 1. 1. 19" codeSystenVersion="1.1"
displayName="diagnosis”/> )
{value xsi:type="CE” code="H. 3.r.1b” codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystemVersion="H. 3. 1. 1a"/> :
¢l— H.3.r. la: MedDRA Version for Sender’s Diaghosis / Syndrome and / or Reclassification of Reaction /

Event #1 —
(]-- H.3.r. 1b: Sender’ s Diagnosis / Syndrome and / or Reclassification of Reaction / Event {(MedDRA
code) #1 —>
<author typeCode="AUT™>
{assignedEntity classCode="ASSIGNED™>
<code code="1" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 21" codeSystenVersion="1. 0"
displayName="sender”/> ’
{/assignedEntity>
{/author>
{/observationEvent>
{/componentl>
{componentl typeCode="COMP">
{cbservationEvent classCode="0BS" moodCode="EVN">
(code code="15" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="diagnosis"/>
{value xsi:type="CE” code="H.3.r. lb codeSystemn="2, 16. 840. 1. 113883. 6. 163"
codeSystemVersion="H. 3. 1. 1a"/>
{l=- H.3.r. 1a: MedDRA Version for Sender' s Diagnosis / Syndrome and / or Reclassification of Reaction /
Event' #2 —> -
<l— H.3.1.1b: Sender's Diagnosis / Syndrome and / or Reclassification of Reaction / Event (MedDRA
code} #2 —> o ‘
<author typeCode— AUT >
<asslgnedEnt1ty classCode— ASSIGNED™>
{code code="1" codeSystem="2. 16. 840. 1, 113883, 3. 989. 2.1, 1. 21" codeSystemVersion="1.0"
displayName="sender”/>
<{/assignedEntity>
{/author>
¢/cbservationEvent>
<fcomponent1>
{componentl typeCode="COMP™>
{phservationEvent classCode="0BS” moodCode="EVN™>
{code code="10" codeSystem="2, 16.840. 1. 113883. 3. 989. 2. 1. 1. 197 codeSystemVersion="1.1"
displayName="comment”/>
<value xsi:type="ED">H.4</value>
(1= H.4: Sender’s Comments —->
<author typeCode="AUT">
{assignedEntity classCode="ASSIGNED">
<code code="1" codeSystem="2. 16.840. 1. 113883, 3.989. 2. 1. 1. 21" codeSystemVersion="1.0""
displayName="sender”/> '
{/assignedBntity>
</author>
{/ebservationEvent>
¢/component]?
{componentl typeCode="COMP">



¢observationEvent classCode="0BS" moodCode="EVN">

{code code="3" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10~

RETIEHTDIIAL L
<value xsi:type="ED">J2.7.2¢/value>
<I-- 8@eJ2.7.2: RETIHTHIA LV —>
</cbservationEvent>
{/conponentl>
{componentl typeCode="COMP">
{observationEvent classCode="0BS” moodCode="EYN">

{code code="4" codeSystem="2. 16. 840. 1. 113883. 3. 989.5.1.3.2.1.10

@E’éﬁ@ﬁ&iﬁﬁ’h
{value xsi:type="ED")»J2.9<{/vaiue)
< edere. 9 BRUEOWRNE —
{/ochservationEvent>
{/componentl1>
{componentl typeCode="COMP">
{observationEvent classCode="0BS" moodCods=" EVN >

codeSystemVersion="1. 0 displayName="

codeSystemVersion="1, 0" displayName="

{code code="5" codeSystem="2. 16.840. 1. 113883, 3. 989. 5. 1. 3. 2. 1. 10" codeSystenVersion="1.0" displayName="

LB DU/
{value xsi:type="ED">]2,10</value>
<! @eajre. 10: SH%OIE —
{/observationBvent} .
{/component1>

{componentl typeCode="COMP">
<observationEvent classCode="0B5" moodCode="EVN">

Ycode code="6" caodeSystem="2, L6, 840, 1. 113883, 3. 989.5.1.3.2.1.10

TOMBEBREE" />
<value xsi:type="ED">J2.11<{/value>
<l— @8er2. 11: *OhBEEES —
{/observationEvent>
</component1>
{componentl typeCode="COMP">
{observationEvent classCode="0BS” moodCode="EVN">

BENEOEE"
{value xsi:type="ED">J2.16</value}
<I-- 2@8]2.16: |EAFOESR —
{/observationEvent>
{/conponentl>
{componentl typeCode="COMP">
{observationEvent classCode="0BS" moodCode="EVN™>

{code code="13" codeSystem="2, 16. 840. 1. 113883. 3

w517
’ <value xsi:type="ED">]J2.19</value>
¢l— @@ayz. 19: fHE1 —>
</observationEvent>
<{/component1>
{componentl typeCode="COMP")>
{observationEvent classCode="0BS" moodCode="EVN™>

{code code="14" congystem="2.16.840.1.113883.&

®BE 2 '
) {value xsi:type="ED">J2.20</value>
<1 @@eJz, 20: fEE2 -
{/ohservaticnEvent>
{/componentl>
<componentl typeCode="COMP™>
{cbservationEvent classCode="0BS” moadCode="EVN™>

{code code="15" codeSystem="2. 16. 840. 1. 113883. 3

53"/ 7
) <value xsi:type="ED"»J2.21</value>
<1 e@eje. 21: fFE3 -
{/observationEvent)
</component1>
{compaonent]l typeCode="COMP™>
<observationEvent classCode="0BS" mocdCods="EVN">

{code code="16" codeSystem="2. 16. 840, 1. 113883. 3.

®E4
{value xsi:type="ED">J2.22<{/value>
(I-- @eajz. 22: {EE4 —>

{code code="12" codeSystem="2. 16. 840. 1. 113883. 3.

989.5.1.3,2. 1. 107

989.5.1.3.2.1. 10"

989.6.1.3.2. 1. 107

989.5.1.3.2, 1. 107

989.5.1.3.2. 1. 107

codeSysteﬁVersion="1.0" displayName="

e

codeSystenVersion="1.0

codeSystemVersion="1,0" displayName="

codeSystemVersion="1.0" displayName="

»

codeSystemVersion="1.0

codeSystemVersion="1.0" displayName="

displayName="

displayName="



{/observationEvent>
{/component1>
{/adverseEventAssessment>
{/companent>
{component typeCode="COMP"> ‘
<observationEvent classCode="0BS” moodCode="EVN">
{code code="1" codeSystem="2. 16.840. 1. 113883. 3.989.2. 1. 1. 19" codeSystemVersion="1.1"
displayName="additionalDocumentsAvailable”/>
{yalue xsiitype="BL" value="true”/>
<{l— C.1.6.1: Are Additional Documents Available? ——>
{/observationBvent)
</component>
<component typeCode="COMP">
{observationEvent classCode="0BS" moodCode="EVN™>
{code code="23" codeSystem="2. 16, 840. 1. 113883. 3. 98%. 2. 1. 1. 19" codeSystenVersion="1.1"
displayName="1localCriteriaForExpedited” />
{value xsi:type="BL” value="true”/>
{!— C.1.7: Does This Case Fulfil the Local Criteria for an Expedited Report? —>
</observationEvent>
</component>
{component typeCode="COMP™>
{observationEvent classCode="0BS" moodCode="EVN">
{code code="36" codeSystem="2.16.840. }. 113883.3.989.2.1. 1. 19" codeSystemVersion="1.1"
displayName="sumnar yAndComment” />
<{value xsi:type="ED” language="H. 5. r.1b">H. 5. 1. 1a{/value>
¢{l— H.5.r. la: Case Summary and Reporter’s Comments Text  #1 —>
{l— H.5.r.1b: Case Summary and Reporter’ s Comments Language #1 —>
<author typeCode="AUT">
¢assignedEntity classCode="ASSIGNED">
{code code="2" codeSystem="2.16. 840. 1. 113883. 3.980. 2. 1. 1. 21" codeSystemVersion="1,0"
displayName="reporter”/> )
: {/assignedEntity>
{/author>
{/observationEvent>
{/component>
{component typeCode="COMP">
{chservationEvent classCode="0BS” moodCode="EVN™>
{code code="36" codeSystem="2. 16. 840. 1, 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="summaryAndComment” />
<value xsi:type="ED” language="il.5.r. 1b">H. 5. 1. 1a</value>
{l—— H.5.r.1a: Case Summary and Reporter’s Comments Text #2 ——>
{l=~ H.5.r.1b: Case Summary and Reporter’ s Comments Language #2 —>
{author typeCede="AUT™>
{assignedEntity classCode="ASSIGNED">
<code code="2" codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 21" codeSystemVersion="1.0"
displayName="reporter”/>
{/assignedEntity>
</author>
{/observationEvent>
{/component>
{outboundRelationship typeCode="SPRT"> . .
{relatedInvestigation classCode="INVSTG” moodCode="EVN™>
<code code="1" codeSysten="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 22" codeSystenVersion="1.0"
displayName="initialReport”/>
{subject0f2 typeCode="SUBJ">
{controlActEvent classCode="CACT” moodCode="EYN">
<author typeCode="AUT™>
{assignedfntity classCode="ASSIGNED">
{code code="C.1.8. 2" codeSysten="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 3" codeSystenVersicn="1.0"/>
¢!— C.1.8.2: First Sender of This Case ——>
{/assignedEntity>
</author>
{/controlActEvent>
{/subject0f2>
{/relatedInvestigation>
</eutboundRelationship>
{outboundRelationship typeCede="SPRT™> )
<relatedInvestigation classCode="INVSTG” moodCode="EVN">
{code nullFlavor="NA"/>

P



{subject0f2 typeCode="SUB]">
<controlActEvent classCode="CACT" moodCode="EVN™>
<id extension="C.1.10.r" root="2, 16, 840, 1. 113883. 3.989.2.1.3.2"/>
¢l— C’1.10.1: Identification Number of the Report Which Is Linked to This Report (repeat as necessary)
#1 ->
</controlActEvent) .
{/subject0f2> - R N
{/relatedInvestigation?
{/outboundRelationship>
<outboundRelationship typeCode=" SPRT >
<{relatedInvestigation classCode— INVSTG” moodCode— EVN”)
{code nuiiFlavor="wa"/>
{subject0f2 typeCode="SUB]">
{controlActEvent classCode="CACT” moodCode— EVN">
<id extension="C.1.10:r” root="2.16.840.1.113883.3.989.2.1.3.2"/>
<l-- C.1.10.r: Identification Number of the Report Which Is Linked to this Report (repeat as necessary)
B —>

" /controlActEventy
</subject0f2)>
{/relatedInvestigation>
</outhoundRelationship>
{outboundRelationship typeCode="SPRT">
{priorityNumber value="1"/>
<!— C.2.r.5: Primary Source for Regulatory Purposes #1 ——>
<relatedInvestigation classCode="INVSTG” moodCode="EVN">
{code code="2" codeSystem="2, 16. 840, 1. 113883. 3. 989. 2. 1. 1. 22" codeSystenVersion="1. 0"
displayName="sourceReport”/> ‘
<{subject0f2 typeCode="SUBI">
{controlActEvent c¢lassCode="CACT” moodCode="EVN">
<avthor typeCode="AUT™>
<assignedEntity classCode="ASSIGNED">
<addr> \
{streetAddressLine>C. 2. r. 2. 3¢/streetAddressLine>
<= C.2.r.2.3: Reporter's Street §1 —>
eity>C. 2. 1. 2. 4/city>
<l— C. 2.7 2.4: Reporter's City #1 —>
<state>C. 2.r. 2. 5¢/state>
{l=- C.2.r.2.5: Reporter’s State or Province #1 —>
{postalCode>C. 2.x. 2. 6¢/postalCode>
<!— C.2.r.2.6: Reporter' s Postcode #1 —>
{/addr>
{telecom value="tel:C.2.1.2.7°/>
{!— C.2.r.2.7: Reporter’s Telephone #iI —>
{assignedPerson classCode="PSN” determinerCode="INSTANCE">
{name>
<prefix>C. 2, r. 1. 1</pref1x>
{le=C.2.r.1.1: Reporter's Title #1 —>
{given>C. 2.r. 1. 2¢/given>
{l-- C.2.r.1.2: Reporter’s Given Name #1 —>
{given>C.2.r, 1. 3¢/given>
{1~ €. 2.r.1.3: Reporter’'s Middle Name #1 -->
{familydC. 2. 1. 1. 4{/Tanily>
<!— € 2.r.1.4: Reporter’ s Family Name #1 —
</name>
<asQualifiedEntity c¢lassCode="QUAL">
{code code="C.2.1.4" codeSystem="2. 16, 840, I. 113883. 3.989. 2. 1. 1. 6" codeSystemVersion="1.0"/>
<I— C.2.r.4: Qualification #1 —>
</asQualifiedEntity>
{asLocatedEntity classCode="LOCE">
Klocation ¢lassCode="COUNTRY” determinerCode="INSTANCE™>
{code code="C.2.1.3" codeSystem="1, 0, 3166.1.2. 2"/
¢{1— C.2.r.3: Reporter’s Country Code #1 —>
</location>
{/aslocatedBntity>
{/assignedPerson)
{representedOrganization classCode="0RG” determinerCode=" INSTANCE >
<nzme>C. 2. 1. 2. 2{/name>
¢l-= €.2.1.2.2: Reporter’s Department 1 —
{assignedBntity classCode="ASSIGNED">



{represented0rganization classCode="0RG" determinerCode="INSTANCE">
<name>C. 2. r. 2. 1¢{/name>
{I— C.2.1r.2,1: Reporter’ s Organisation #1 —
{/representedOrganization>
</assignedEntity>
{/representedOrganization>
{/assignedEntity>
{/author>
{/controlActEvent>
{/subjectQf2>
{/relatedInvestigation>
</outboundRelaticnship>
{outboundRelationship typeCode="SPRT™>
{relatedInvestigation classCode="INVSTG" moodCode="EVN">
{code code="2" codeSystem='2.16.§4D.1.113883.3.989.2.1.1.22' codeSystemYersion="1. 0"
-displayName="sourceReport” />
{sub ject0f2 typeCade="SUBJ">
<controlActEvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT">
{assignedEntity classCode="ASSIGNED">
{addr> .
{streetAddressline>C. 2. 1. 2. 3{/streetAddressLine>
¢{l-- C.2.r.2.3: Reporter s Street 2 —>
<eity>C. 2.r. 2. &/city>
{}— C.2.r.2.4: Reporter's City #2 —>
<state>C. 2.r. 2. 5¢/state>
I-- C.2.1.2.5: Reporter's State or Province #2 —>
<postalCode>C. 2. r. 2. 6</postalCode>
<I— C.2.r.2.6: Reporter's Postcode #2 —>
{faddr> ‘ )
<{telecom value="tel:C.2.r.2.77/>
{|— C 2.1r.2.7: Reporter' s Telephone #2 —>
{assignedPerson classCode="PSN” determinerCode="INSTANCE™>
<name>
<{prefix>C, 2. r, 1, 1</prefix> )
<!--¢C.2.1.1.1: Reporter's Title #2 —>
{given>C. 2.r.1. 2{/given>
Kl— €.2.r.1.2: Reporter’ s Given Name #2 —->
{given>C. 2. r. 1. 3</given>
¢l== C.2.r.1.3: Reporter’s Middle Name &2 -->
{family>C. 2. v. 1, 4¢/Family>
<i-— C.2.r.1.4: Reporter’ s Family Name #2 ——>
{/name>
<asQualifiedEntity classCode="QUAL">
{code code="C.2.r.4" codeSystem="2.16. 840. 1, 113883, 3. 989. 2. 1. 1. 6" codeSystenVersion="1.0"/>
€l C.2.r.4: Qualification #2 —>
<{/asQualifiedEntity>
<asLocatedEntity classCode="LOCE">
<location classCode="COUNIRY” determinerCode="INSTANCE™>
<code code="C.2.1.3" codeSystem="1. 0. 3166.1.2.2"/>
{l-- C.2.r.3: Reporter’ s Country Cods #2 —>
{/location>
{/asLocatedEntity>
{/assignedPerson> :
{representedOrganization classCode="0RG" determinerCode="INSTANCE™>
<{name>C, 2. r, 2. 2{/name>
¢l— C.2.1.2.2: Reporter’ s Department #2 —>
<assighedEntity classCode="ASSIGNED">
{representedOrganization classCode="0RG” determinerCode="INSTANCE">
<name>C, 2. r. 2. 1</name> :
{I-- C.2.r.2.1: Reporter's Organisation #2 —>
{/representedfrganization>
{/assignedEntity>
{/representedOrganization>
(/assignedEntity>
</author> ;
{/controlActEvent>
{/subject0f2>
</relatedInvestigation®



{/outboundRelationship>
{subjectOf1l typeCode="SUBJ">
<controlActEvent classCode="CACT” moodCode="EVN">
{author typeCode="AUT™>
<assignedBntity classCode="ASSIGNED™>
<code code="C. 3.1” codeSystem="2, 16.840. 1. 113883.3.889.2.1. 1. 7" codeSystem¥ersion="1.0"/>
<I— C.3.1: Sender Type —>
<addr> \
{streetAddressLine>C. 3. 4. 1{/streetAddressLine>
¢l— €.3.4.1: Sender’s Street Address —
CeitydC. 3. 4. 2¢/city>
{}~= C.5.4.2! Sender's City —»
{(state’C, 3. 4, 3¢/state>
<!-- C.3.4.3: Sender’s State or Prov1nce —>
<postalCode>C, 3. 4. 4{/postalCode>
{]—.C.3.4.4: Sender’ s Postcode —>
= &faddr>

{telecon value="tel:(, 3. 4,67/
{l=~ C.3.4.6: Sender’s Telephone —>
<telecom value="fax:C.3.4.7"/>
¢!-- C.3.4.7: Sender’s Fax —> .
{telecom value="mailto:C.3.4.8"/>
¢l~= €.3.4.8: Sender' s E-mail Address —>
{assignedPerscn classCode="PSN” determlnerCode— INSTANCE™>
{hame>
{prefix>C. 3. 3. 2{/prefix>
{l— C.3.3.2: Sender’s Title —>
<given>C, 3. 3. 3<¢/given>
¢(!1— . 3.3.3: Sender’s Given Name —>
<given>C. 3. 3. 4¢/given>
¢l— C.3.3.4: Sender’ s Middle Name —>
(family>C. 3. 3. 5¢/fanily>
¢4~ C.3.3.5: Sender’ s Family Name —>
</name?
{(asLocatedEntity classCode="LOCE">
{location classCode="COUNTRY" determinerCode="INSTANCE">
<code code="C.3.4.5" codeSysten="1. 0. 3166. 1. 2.2"/>
{l— €.3.4 6: Sender’s Country Code —>
{/location> ;
{/asLocatedEntity> )
{/assignedPerson> ' t 1
{represented0rganization classCode="0RG" determinerCode="INSTANCE™>
<name>C. 3. 3, 1</name>
<!-- (.3.3.1: Sender’s Department -—>
<assignedEntity classCode="ASSIGNED™>
{representedOrganization ¢lassCode="0RG" determ1nerCode— INSTANCE™>
<name>C, 3. 2¢/name>
¢t-— C.3.2: Sender’s Organisaiion —>
<{/representedCrganization?
{/assignedBntity>
{/representedOrganization>
</a551gnedEnt1ty>
{/author>
{primaryInformaticnRecipient typeCode="PRCP">
{assignedEntity classCode="ASSIGNED">
{assignedPerson classCode— PSN” determinerCode="INSTANCE">
<name>
(preflx)JE.lS.Z(/prefix)
<l-- 08872, 18.2: XiFH HAEE —
<family>J2.18. 3¢/family>
<1-- 88872, 18.3: ZEE B —>
{given>J2. 18. 4</given>
(I— @e8J2. 18. 4 HfEE & —
</name>
{/assignedPersony
{represented0rganization classCode="0RG" determinerCode=" INSTANCE™
<name>]J2. 18. 1</name>
<I— 068218, 10 BFE BAA —

{/representedOrganization> .



{/assignedBntity>
{/primaryInformationRecipient>
{/contralActEvent>
</subject0fl>
<subjectOf1 typeCode="SUBJ">
<controlictEvent classCode="CACT” moodCode="EVN"> . .
<id assigningAuthorityName="C,1.9. 1. 1. 1" extension="C.1,9.1.r. 2" root="2,16.840. 1. 113883.3.989,2.1.3.3° /">
¢1— C.1.9.1.r. 1: Source(s) of the Case Identifier (repeat as necessary} #1 —>
{!— C.1.8.1.r.2 Case Identifier(s) #1 —>
</controlActEvent>
¢/subjoct0f1>
{subject0f1 typeCode="SUBJ">
<controlActEvent classCode="CACT” moodCode="EVN"> )
¢id assigningAuthorityName="C.1.9.1.1.1" extension="C.1.9.1.r.2" root="2.16.840. 1. 113883.3.989.2.1.3.3"/>
{d=— C.1.9.1.r. 1: Source(s) of the Case Identifier (repeat as necessary) #2 —>
— C.1.9.1.1.2 Case Identifier(s) #2 —>
</controlActEveni>
{/subject0f1>
{subject0f2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS" moodCode="EVN™>
{code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 23" codeSystemVersion="1.0"
displayName="ichReportType”/>
{value xsi:type="CE” code="C.1.3" codeSystem="2. 16, 840, 1. 113883, 3. 989. 2. 1. 1. 2" codeSystemVersion="1.0"/>
<l— C.1.3 Type of Report —>
{/investigationCharacteristic>
</sub ject0f2>
{subject0fZ typeCode="SUB]">
{investigationCharacteristic classCode="0BS" moodCode="EVN">
{code code="2" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 23" codeSystenVersion="1.0"
displayName="otherCaselds”/>
<value xsi:type="BL” value="true”/>
¢l— C.1.9.1 Other Case Identifiers in Previous Transmissions —>
{/investigationCharacteristic>
</subject0f2>
{subject0f2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS” moodCode="EVN"> .
{code code="3" codeSystem="2. 16. B40. 1. 113883, 3. 989. 2. 1. 1. 23" codeSystemVersion="1.0"
displayName="nullificationAmendmentCode” />
{value xsi:type="CE” code="C.1.11.1" codeSystem="2, 16, 840, 1, 113883, 3. 989, 2. 1. 1. 5" codeSystemVersion="1.0"/>
¢!— C.1.11.1: Report Nullification / Amendment —> .
{/investigationCharacteristic>
{/subject(f2>
{subject0f2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS” moodCade="EVN")>
<code code="4" codeSystew="2, 16. 840. 1. 113883. 3, 989, 2, 1, 1, 23" codeSystemVersion="1, 0"
displayName="nullificationAmendmentReason”/>
¢value xsi:type="CE™>
<originalText>C, 1, 11, 2</originalText>
¢!— C.1.11.2: Reason for Nullification / Amendment —>
{/value>
<{/investigationCharacteristic>
{/subjectOf2>
{subject0f2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
{code code="1" codeSystem="2. 16. 840. 1. 113883, 3. 989. 5. 1. 3. 2. 1. 12" codeSystemVersion="1.0" displayName="5&5!
EE (s8R N '
<value xsi:type="CE” code="J2. 1a” codeSystem="2. 16. 840. 1. 113883.3.989.5.1.3.2. 1,17
codeSystemVersion="1,0"/>. '
<I-- egej2. 1a: WMBIEE (BERZE
{/investigationCharacteristic>
{/subject0f2>
{subjectOf2 typeCode="SUB]">
{investigationCharacteristic classCode="0BS” maodCode="EVN">
{code code="2" codeSystem="2. 16.840. 1, 113883.3.98%.5.1.3.2. .. 127 codeSystemVersicn=”1.0” displayName="#R4
BER"/
<value xsiitype="TS” value="20130107"/>
<I-—- geeyz.2.1: WMERAER — .
{/investigationCharacteristic>
{/subjectOf2>



{subjectOf2 typeCode="SUB]">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="3" codeSystemn="2. 16, 849, 1,113883. 3. 989. 5. 1. 3. 2. 112" codeSystemVersion="1. 0" displayName="iR&
ERERZBETRaA N '
- {value xsi:type="ED">J2.2.2<{/value>
<I— éeeJz. 2.2: B}EBHERICET AV —
- {finvestigationCharacteristic>
</subject0f2>
{subject0f2 typeCode="SUB]™>
{investigationCharacteristic classCode="0BS” mocdCode="EYN">
{code code="4" codeSystem="2, 16, 840, 1. 113883, 3.989. 5. 1. 3. 2. 1. 12" codeSystenVersion="1.0" displayName="FNfF

1

/2

g

BEZZ .

<value xsi:type="CE” code="]J2.3" codeSystem="2. 16.840. 1. 113883. 3.989.5. 1. 3. 2. 1. 2" codeSystemVersion="1.0"/>

<I— edey2.3: EMFBE TS —
{/investigationCharacteristic>

{/subject0f2>

{subject0f2 typeCode="SUB]">

{investigationCharacteristic classCode="0BS” moodCode="EVN">
{code code="5" codeSystem="2, 16. 840, 1. }13883. 3. 989. 5. 1. 3. 2.1, 12" codeSystenVersion="1.0" displayName="${&
ABATZINH :
¢value xsi!type="CE" code="J2.8. 1" codeSysten="2, 16, 840, 1, 113883, 3,989.5.1.3. 2. 1. 6"
codeSystemVersion="1.0"/> '
{I-— @@eJs.8.1: |EHSHTFS Y —
{/investigationCharacteristic’
{/subjectOf2>
<{subject0f2 typeCode="SUB]">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
] {code code="6" codeSystem="2, 16. 840. 1, 113883.3.989.5.1.3.2.1. 12" codeSystemVerssun— 1. 0" displayName="$}%
sEsOER"/S
<value xsi:type="ED">]J2.8.2<{/value>
l-- @eaye. 8.2: WERBAOEHR —
{/investigationCharacteristic>
<{/subjectOf2>
</investigationBvent>
{/subject>
</controlActProcess>
(/PORR_INO4901§UV)
<!-— Message #1 —>
{I-- Message #2 —>
<!—— PORR_IN0O49016UV ——>
{l— /PORR_INO4S016UV —>
¢l-— Message #2 —>
{receiver typeCode="RCV"> .
{device classCode="DEY" determinerCode="INSTANCE™>
¢id extension="N. 1.4" root="2, 16.840. 1. 113883. 3. 989. 2. 1 3.147/5>
<i— N.1.4: Batch Receiver Identifier —>
{/device> .
{/receiver)
<sender typeCode="SND">
<device classCode="DEV” determinerCode="INSTANCE™>
<id extension="N.1.3" root="2.16.840.1.113883.3.989.2.1.3.13"/>
<!— N.1.3: Batch Sender Identifier —>
{/device>
{/sender>
</MCCI_IN200100UVOL>
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VN'l/component[@typeCode='COMP'][substanceAdministration/idl[kl/substanceA
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MCCI_IN200100UV01.xsd'/PORR_IN049016UV{r]/controlActProcessi@classCod
e='CACT'][@mood Code=EVN'//subjectl@type Code='SUBJ'|[1)/investigationEvent
[@classCode="INVSTG'][@mood Code='"EVN']/component[@type Code='"COMP'][adv
erseEventAssessment][1]/adverseEventAssessment[@classCode=TNVSTG'[@mo
odCode="EVN"V/subject 1{@typeCode='SBJ'l[1]}/primaryRole[@classCode=TNVSBJ'
J/subjectOf2[@typeCode="SBJ'| [organizer/codel@code="41{@codeSystem="2.16.840.
1.113883.3.989.2.1.1.201][1)/organizer[@classCode='CATEGORY'][@mood Code="E
VN'l/component[@typeCode="COMP'] [substanceAdministration/id] [k)/substanceA
dministration[@classCode="SBADM'l[@moodCode="EVN'l/consumablel@typeCode
='CSM'l{1}/instanceOfKind[@class Code="INSTV/kindOfProductl@classCode="MM




AT'][@determinerCode="KIND'//asManufacturedProductl@classCode="MANU/su
bjectOfl@typeCode="SBJ "l [approvall [1)/approvall@classCode='CNTRCT'li@mood
Code='EVN']/pertinentInforﬁlation[@type Code="PERT'][1}/policyl@classCode="PO
LICY'[@moodCode="EVN'l/code[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.
4'/@codeSystem Version

J2.6k —RAERLSOAFRE

5 B AR ﬁ'(' DHEREDH>H, 8 :H:Eﬁje_un BR—ixH E%unl@i% B EERL OFEOAFRE
ERT, '

FLELF & kS L@ a— FMEZEBR L TEKTHZ &,

Vit ki 1A ' o

FFAE BUHE 5 B

XPath /MCCI IN200100UV01[@ITSVer51on'"‘XML 1. U‘] [@xsischemaLocation="urn:hl7-
org-v3

(value)

, MCCI_IN200100UV01.xsd']/PORR_INOLlQOIGUV[r]/contrblActProcess[@classCod

e="CACT'|[@moodCode='"EVN'l/subjectf@typeCode="SUBJ'l[1)/investigationEvent
[@classCode=TNVSTG'] [@moodCode="EVN'l/component[@typeCode='"COMP'][adv
erseEventAssessmentl[1)/adverseEventAssessment[@classCode='INVSTG] [@mo
0dCode="EVN' ]/sub]eqtl [@typeCode="SBJ'|[1)/primaryRolel@classCode=TNVSBJ'

| VsubjectOf2[@typeCode='SBJ[organizer/code@code='4][@codeSystem='2.16.840.

1.113883.3.989.2.1.1.20'1][1]/organizerl@classCode='"CATEGORY'] [@moodCode="E
VN'l/component[@type Code='COMP'] [substanceAdministraﬁon/id] [k]/substanceA
dministration[@classCode='"SBADM'l[@mood Code="EVNl/consumable[@typeCode
='CSM'][1]/instanceOfKind[@classCode="TNSTl/subjectOfl@typeCode="SBJ'l/obse
rvationEvent[code[@code="2[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'
J[1]f@classCode='"OBSl [@mood Code="EVN/value[@xsi:type="CE'l[@codeSystem
=;2. 16.840.1.113883.3.989.5.1.3.2.1.5'/@code -




XPath
(null

flavor)

/MCCI_IN200100UV01{@ITSVersion="XML,_1.0'l[@xsi:schemalLocation="urn:h17-
orgvad '
MCCI_IN200100UV01.xsd'}J/PORR_IN049016UV(rl/controlActProcessl@classCod
e='CACT'][@moodCode="EVN'}/subjectl@typeCode="SUBJ'][1]/investigationEvent
[@class Cociei'INVSTG'] {@moodCode="EVN'l/component[@typeCode='COMP'] [adv
erseEventAssessment][1)/adverseEventAssessment[@classCode='INVSTG'l[@mo
0dCode="EVN"V/subject 1[@typeCode='SBJ1[1)/primaryRole[@classCode="INVSBJ'
l/subjectOf2[@typeCode="SBJ [organizer/code[@code="41[@codeSystem="2.16.840.
1.113883.3.989.2.1.1.2011[1]/organizerl@classCode='CATEGORY'l [@moodCode="E
VN'l/componentl@type Code="COMP'] [substanceAdministration/id][1)/substanceA .
dministration[@classCode="SBADM'][@mood Code="EVN'l/consumable[@typeCode
='CSM1[1)/instanceOfKind[@classCode='INST')/subjectOfl@typeCode="SBJ'l/obse
rvationEvent{codel@code='2"] [@codeISystem='2. 16.840.1.113883.3.989.5.1.3.2.1.1¢
l[1l{@classCode="OBS'][@moodCode="EVN'l/value[@xsi:type="CE'| [@codeSystem
='2.16.840.1.113883.3.989.5.1.3.2.1.5T/@nullFlavor

XPath
(codeSystem

Version)

/MCCI_IN200100UV01[@ITS Version="XML, 1.0'[@xsi:schemaLocation="urn:hl7-
org:v3 ' ‘ ‘
MCCI-IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcess[@classCod
e='CACT][@moodCode="EVN'V/subject[@typeCode='"SUBJ'][1)/investigationEvent
[@classCode="INVSTG')[@moodCode="EVN'l/component[@type Code="COMP'][adv
erseEventAssessment][1]/adverseEventAssessment[@classCode="TNVSTG'J[@mo
0dCode="EVN'l/subject1[@typeCode="SBJ'|{1]/primaryRole[@classCode="INVSBJ'
l/subjectOf2[@typeCode='SBJ'l{organizer/code[@code="4'1[@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20T][1)/organizer(@classCode='"CATEGORY 'l [@mood Code='E
VN"Y/componentl@typeCode="COMP'][substanceAdministration/id] [k]/substanceA
dministration[@classCode='SBADM')[@mood Code="EVN'l/consumable[@typeCode
='CSM'[1)/instanceOfKind[@classCode="TNSTV/subjectOf@type Code="SBJ'}/obse
rvationEventlcode[@code="21[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'
1) [@classCode="0BS'[@mood Code="EVIN'}/value[@xsi:type='CE'] [@codeSystem
='2.16.840.1.113883.3.989.5.1.3.2.1.5'V@codeSystem Version

J2.:7.1 =T

. RET RS

HABHH

LHBMEILOWT, RETHEXRETREORS 7T,

FEHA I

BETNEFHORESTT LTWRVEER, RETHS L LTRET S L. 72
B, BTRERICH-AHEREAFLEZERE, WO TETHREL LTHRET S,
HL7 Iz XY EgESnra— FEAWTRET2 2 L, |

HL7 =—F 10A

active=3R5T

completed=5T

-




XPath

/MCCI_IN200 IOOU_VO 1{@ITSVersion=XML_1.0"{@xsi:schemaLlocation="urn:hl7-

org'v3 o

MCCI_IN200100UV01.xsd VPORR_IN049016UV[x)/controlActProcess@classCod
e='CACT'1[@mood Code="EVN'/subjectl@typeCode="SUBJ'] [1]/1nvest1gat10nEvent
[@classCode=TNVSTG'][@moodCode= 'EVN‘]/statusCode/@code

J2.72 RETIETB= ALk

IEEB?.EE RETHEOBEIL. RETHEDEH %‘T'ﬂ"a
TR | 2L
A 10000AN
HAE =F:ckErh
XPath MCCI _IN200100UV01[@ITSVersion=XML, 1.0’ ][@xm schemal.ocation="urn:hl7-
org-vad
MCCI_IN200100UV01. xsd]fPORR IN049016UV[r]/controlActProcess[@classCod
e='CACT'][@mood Code="EVN"Y/subjectl@typeCode="SUBJ'I[1)/investigationEvent
[@classCode="INVSTG'l [@mood Code="EVN'l/component{@typeCode='COMP'l[adv
erseEventAssessment] [1]/adverseEventAssessment[@c_lassCodeZ'iNVSTG'] [@mo
0dCode="EVN'/component [@typeCode='COMP'l[observationEvent[code[@code="
3'l[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10']/[1)/observationEventl@c
_ lassCode="OBS'l[@moodCode=EVN'Wvaluel@xsi:type=ED/text0
J2.8.1 BERSNTZTT .
1 IEE LA BIVE FERI S UL R IR 12380 T, WX BRI OBIMBE OHE IR
‘ | B,
REEE | Ry TABE0H [1=EXSHA) 2RETH L,
F—#F | IN |
FEE 1=#Exi g4t
XPath /MCCI_IN200100UVO01[@ITS Version=XML_1.01[@xsi:schemaLocation="urn:hl7-
| org:v3 :
MCCI_IN200 lOOUVOl xsd']/PORR IN049016UV[r]/controlActProcess[@classCod .
e="CACT"][@moodCode=EVN'//subject[@typeCode="SUBJ"I[1]/investigationEvent
[@classCode="INVSTG][@mood Code="EVN'l/subjectOf2[@type Code="SUBJI[inve
stigationCharacteristic/code[@code='5"[@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.1211{1)/investigationCharacteristic[@class Code="OBS'l [@mood Code="EVN'
: Vvaluel@xsi‘type="CE'|[@codeSystem="'2.16.840.1.113883.3.989.5.1.3.2.1.6'l/@code
XPath /MCCI INZOOIOOUVOI[@ITSVersmn—'XML 1.0li@ssischemalocation="urnhl7-
(codeSystem | orgiv3
Version) MCCI_IN200100UV01.xsd'V/PORR INO49OIGW[r]fcontrolActProcess[@classCod

e='CACT'][@moodCode="EVN'/subject@typeCode='SUBJ'][1}/investigationEvent




{@classCode='INV STG'[@moodCode="EVN'/subjectOf2[@typeCode="SUBJ'] linve
_stigationCharacteristicfcode [@code="5"l[@codeSystem="2.16.840.1.113883.3.989.5.
1.3.2.1.121[1)/investigationCharacteristic[@class Code="OBS'l [@mood Code="EVN'
Ivaluel@xsitype="CE}l[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.61/@

codeSystem Version

J2.8.2 MiEaSsomeE

H B e BIMEFREGIRE X IR P E RIS OB T iSRS 0 BMEE £1T 5 HE IR
HEHBENTHHIBEHETRET 5 '
I E 7L
—F R 10000AN
FAE | ABER
XPath /MCCI_IN200100UV01[@ITS Version="XML,_1.0'][@xsi:schemaLocation="urn‘hl7-

org-v3a
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVI[rl/controlActProcess[@classCod
e='CACT'][@moodCode="EVN'l/subject(@type Code="SUBJ'I[1])/investigationEvent
[@classCode="INVSTG'][@mood Code="EVN'V/subjectOf2[@typeCode="SUBJ Ilinve
stigationCharacteristic/code[@code—'ﬁ'] [@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1. 12']][1]/1nvest1gat10nCharactemstlc[@classCode—'OBS'] [@moodCode—'EVN'
Ivaluel@xsiitype="ED/text( '

J2.9 RBUGEOWRFE

HH 5 REYEEFIRE DEAIL, T 24 ﬁz 3 B 6 AfHTEERT 0306 BELEFBHEEEES

FEELS [MEEASCRIMRFES A K74 ] O—FHEEITOVTE DFIE
RS TR ABRTRET A FT4 2] IWE W RENEHEANFTERLEHKT D,

mHEFE | RL |

F— i Bl 10000AN

AR B iR

| XPath /MCCI_IN200100UV01[@ITSVersion="XML,_1.0')[@xsi:schemaLocation="urn‘hl7-

orgv3

MCCI_IN200100UV01.xsd'l/PORR_IN0490 16UV[rl/controlActProcess [@classCod
e='"CACT'| [@mood Code="EVN'/subject[@typeCode="SUBJ'][1)/investigationEvent
[@classCode=TNVSTG][@mood Code="EVN'l/componentl@type Code="COMP'][adv
exseEventAssessment][1]/adverseEventAssessmentl@classCode=TINVSTG[@mo
0dCode="EVN")/component1[@typeCode='"COMP']{observationEvent[code[@code="
41[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.107])[1)/observationEvent[@c

lassCode="0BS'l[@moodCode="EVN'l/value[@xsi‘type="ED'I/text(

J2.10 SROHIE

TH H 3t

LHMEDR Wﬁ%uﬁTé*V%®&ﬁL%O<ﬂ%& B OIS OWTRE




3—50

FEITE | L

T—5R 10000AN

HEME H R

XPath | /MCCI_IN200100UV01[@ITSVersion="XML,_1.0' [@Xsiischem al.ocation="urn:hl7-

org-va

MCCI_IN200100UV01.xsd' VPORR,_IN049016UV[r)/controlActProcess[@classCod
e='CACT][@moodCode="EVN/subjectl@typeCode="SUBJ[1}/investigationEvent
[@classCode="INVSTG'l[@mood Code="EVN'l/component[@type Code=" COMP[adv
erseEventAssessment][1]/adverseEventAssessment[@classCode=TNVSTG'][@mo

0dCode="EVN'l/component1[@typeCode='COMP'][observationEvent[code[@code="
5'1[@codeSystem='2.16.840.1.113883.8.989.5.1.3.2.1.10']1[1]/observationEvent[@c
lassCode="OBS"{@moodCode="EVN'valuel@xsi:type=ED'l/text(

J2.11 FoOihBEEEes .

TH B FEOMBEL RBEERERET D,

oG L

T—a 10000AN

HEE ER:EGF :

XPath /MCCI_IN200100UV01[@ITS Version="XML_1.0'] [@xsiischemaLocation='urn5h17 -

org-v3 :

MCCI_IN 200IOOUVOi.xsd']/PORR—_INO49016UV[r]/c0ntrolActProce-ss[@qlassCod
e='CACT] [@mood Code="EVN"/subject(@type Code="SUBJ'I{1]/investigationEvent
[@classCode=TNVSTG'][@mood Code="EVN'}/component[@typeCode='COMP[adv
erseEventAssessment][1)/adverseEventAssessment(@classCode="INVSTG' [@mo

| 0dCode=EVN/component1[@typeCode='COMP’] [observationEvent[colde'[@code='

61[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.101]{ L}/observationEventl@c
lassCode='"0BS'l[@mood Code="EVN'I/value[@xsi:type="ED/text( |

J2.12 BBESTRE |

HAMA | IREREEEEICER LTb‘Z)?‘“%%EEﬁJ\*EF%TT

i ke ERFHERELRH L T AWEEICE, BREMGESICRH L TV IREBE2—F
EREETDLZL,

F—4&% | 7T0AN '

A B B




XPath -

/MCCI_IN200100UV01[@ITSVersion="XML,_1.0'l[@xsi:schemal.ocation="urn:hl7-
0rg2v37 ‘ .
MCCI_IN200100UVO 1.xsd'I/PORR,_IN049016UV{rl/controlActProcess[@classCod
e='CACT][@moodCode="EVN'l/subject[@type Code="SUBJ'I[1]/investigationEvent
[@classCode="INVSTG'][@mood Code="EVN')/component[@type Code="COMP'l[adv
erseEventAssessment][1]/adverseEventAssessment[@classCode=INVSTG[@mo
0dCode="EVN')/subject1[@typeCode='SBJ'[1]/primaryRole[@classCode=TNVSBJ' -
VsubjectOf2l@typeCode="SBJ'] [organizer/code[@code="4"] [@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20'T][1]/organizerl@classCode='"CATEGORY'l[@mood Code="E
VN'/component[@typeCode="COMP] [substanceAdministration/idl/substanceAd
ministration[@classCode='SBADM1[@mood Code="EVN'l[consumable/instanceOf
Kind/kindOfProduct/asSpecializedKind/generalizedMaterialKind/code/originalTe
xt)[1)/consumablel@type Code='CSM'I[1]/instance OfKind[@classCode="TNST')/kin
dOfProductl@classCode=MMAT'][@determinerCode='KIND'//asSpecializedKind|
@classCodéfGEN'] [1)/generalizedMaterialKind[@classCode="MAT']l[@determiner
Code="KIND'l/code/original Text/text()

J2.13.r.1 JEHMEH

BRI LI, IRREFEREOCRHERZEH# T 5,

THEMA

THRFE | BRRAEBEZREL TCORWVESICE, EMeTa L,

F—&F 2N

A E YL .

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0"][@xsi:schemal.ocation="urn:h17-
org-v3

MCCI_IN200100UV01.xsdl/PORR_IN049016UVIrl/controlActProcess[@classCod
e='"CACT'][@moodCoede="EVN'/subjectl@typeCode="SUBJ'l[1)/investigationEvent
[@classCode="TNVSTG'][@mood Code=EVN'l/componentl@typeCode='"COMP'l[adv
erseEventAssessmentl[1]l/adverseEventAssessment[@classCode='INVSTG'][@mo

0dCode="EVN'l/subject1{@typeCode="SBJ'l[1]/primaryRole[@classCode=TNVSBJ'
/subjectOf2[@typeCode="SBJ'] [organizer/code[@code="1"1{@codeSystem='2.16.840.
1.113883.3.989.5.1.3.2.1.11']][r)/organizer[@classCode='CATEGORY | [@moodCode
="EVN/component[@typeCode="COMP')/observation[@classCode="OBS'l[@mood

Code=EVN[codel@code="71[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'

1Ivalue [@xéiitypez'INT']/@value

J2.13.x.2 * REIEA

BRILIC, BRFHERFICCH STV I HFRELZTHT D,

TH B &8
FLELT I TRBREHIE HF 2R L OV D RAICE, THEERT IR TE S, 2B, BR

BHEVR 5 T LTV AV AT, IRREAR B R L T B SR 2 TR
T5 0L, A—OBBRENHEE CORRDRBEMNS L THHEE, H o~ TKY |

11




STRETHI &,

1000AN

EREERE:

/MCCI_IN200100UV01[@ITS Version="XML_1.0'{@xsi:schemalocation="urn:hl7-
orgfv3 : .

MCCI_IN2001000V01.xsd'l/PORR_IN049016UV r]/controlActProcess[@classCod
e='CACT'l[@moodCode="EVN'}/subject[@typeCode="SUBJ'|[1)/investigationEvent
[@classCode="INVSTG'l[@moodCode="EVN'l/component[@typeCode='COMP'][adv
erseEventAssessment][1]/adverse EventAssessment[@classCode="INVSTG'[@mo
odCode="EVN/subject1[@typeCode='SBJ}[1])/primaryRole [@classCode="INVSBJ'
V/subjectOf2[@typeCode='SBJl{organizer/codel@code="1'l[@codeSystem='2.16.840.
1.113883.3.989.5.1.3.2.1.11'N[r}organizerl@classCode='"CATEGORY'l[@moodCode
=‘EVN']lcomponent[@typéCode=‘COMP']/observation[@classCode='OBS'] [@mood
Code="EVN'][code[@code="8[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10’
Nlivaluel@xsitype="ED'l/text0

J2.13.r.3 BARH '

IR B &HA

BBRHERBCERSN TV BEBEERT,

CEF R

faREHERE HEF Rl L TV O EEIT. EEAEETHIENTED, 2B, 168
HEBEZRHLTHARWVESIX, S XV ENR=— MEZBR LU TREH#T D
e, '

F— 57

IN

FFEE

| BUAK 5 2R

| XPath

/MCCI_IN200100UV01[@ITSVersion=XML_1.0"] [@Xsi:schemaLocation='urn5hl7'
orgv3 . ‘
MCCI_IN200100UV01.xsd'l/PORR,_IN049016UV[r}/controlActProcess[@classCod
e="CACT"] [@moodCode='EVN‘]/subject[@typeCode='SUBJ 1[1]/investigationEvent
[@classCode=TNVSTG H@moodCode="EVN'l/component[@type Code='COMP'][adv
ersefventAssessment]{1)/adverseEventAssessment[@classCode='INVSTG'][@mo
0dCode="EVN'¥/subject1[@typeCode="SBJ'I[1}/primaryRole[@classCode=INVSBJ'
]/subj ectb&[@typeCodefSBJ 'Jlorganizer/codel@code="'1"[@codeSystem="2.16.840.
1.113883.3.989.5.1.3.2.1.11'l][r)/organizer[@classCode='CATEGORY }[@mood Code
='EVN‘]/corhponent[@typeCode='COMP']/obse‘rvation[@class Code="OBS'][@mood
Code=EVN'[code[@code='9"][@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'
JI/valuel@xsitype='CEl[@codeSystem="'2.16.840.1.113883.3.989.5.1.3.2.1.7'/@cod

e




XPath

(codeSystem

Version)

/MCCI_IN200100UV0D 1[@ITSVers1on—'XML 1.0'1[@xsi: schemaLocatlon—'urn h17-
orgva

MCCI_IN200100UV01. xsd']/PORR IN04901GUV[r]fcontrolActProcess[@classCod
e="CACT'][@moodCode="EVN'/subjecti@typeCode='SUBJ'|[1]/investigationEvent
[@classCode="INVSTGll@mocdCode="EVN'l/component[@typeCode="COMP[adv
erseEventAssessmentl[1l/adverseEventAssessment[@classCode=INVSTG'l[@mo
odCode='"EVN"l/subject1{@type Code="SBJ] [1]/pr1maryR01e [@classCode="INVSBJ'
J/subjectOf2[@type Code="SBJ'l[organizer/code [@code='1" [@codeSystem“'Z 16.840.

| 1.113883.3.989.5.1.3.2.1.11']] [r}/organizer[@classCode='CATEGORY'l{@moodCode

="EVN"/component[@type Code='COMPl/observation[@classCode="OBS'l[@mood
Code="EVN'[code[@code='9'" [@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'
l/valuel@xsi:type="CE'l[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.7')/@cod

eSystemVersion

J2.13.r.4 BWEPDEHOFE

TH H A LHREDIEBRR R 2 REROWEREOFELTT,
LR TE R TiL72 < Boolean TAME NN AHEEIX Mtrue=F 1 &, W\ R WIFE 13 Malse=
| E RBIRTBIE,

F—& A Boolean 10A

HEE true=4
false=4E

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'[@xsi:schemaLocation="urn:hl7-
org v3
MCCI_IN200100UV01.xsd'J/PORR_ IN049016UV[r]/controLActProcess [@classCod
2='"CACT'}{@mood Code="EVN'//subject[@typeCode="SUBJ']{1)/investigationEvent
[@classCode="INVSTG'1[@moodCode="EVN'l/component[@typeCode='COMP'] [adv
erseEventAssessment] [1]/adverseEventAssessment[@blassCodefINVSTG'] [@mo
0dCode="EVN')/subject1[@typeCode="SBJ'l[1)/primaryRole[@classCode=TNVSBJ'
J/subjectOf2[@typeCode='SBJ'l{organizer/codel@code="1'l[@codeSystem="2.16.840.
1.113883.3.989.5.1.3.2.1. 11Tl [r}/organizer[@classCode='"CATEGORY'] [@mood Code
="EVN')/component{@typeCode="COMP'l/observation[@classCode='"OBS'][@mood
Code="EVN'|[code[@code='10"}[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.1
01l/valuel@xsi:type='BLl/@value ‘

J2.141 K5 - B

T8 A SiER BROBE YHREORERSPBEREFEE L TR TERVWLOTHLEHFIX

Fi, FOMOES IS E T3, B2BHE® Ei.2.1b BIfER . HEFZ (MedDRA
o— R} FEE-ST b, BHEREICRE - BaE 515, (FHRIMEOBBrERET,
ABEBERD (8. TOMOEBREHERSHEICELTOEESHE) © (1) 228
TB5-E) |

13




SRR

S MEFLBRUTRET S L.

F— 47

1N

AR

1=23k4n
2=EE4n

XPath

/MCCI_IN200100UVO1[@ITSVersion="XML_1.0'{@xsi'schemalocation="urnhl7-

orgvd _ ' ' ,
MCCI_IN200100UV01.xsd' /PORR._IN049016UV[rl/controlActProcessl@classCod
e='CACT'l[@moodCode="EVN'l/subjectl@typeCode="SUBJ'|{1)/investigationEvent
[@classCode="INVSTG'l{@moodCode="EVN"/component[@typeCode='COMP'] [adv
erseEventAssessment)[1]/adverseEventAssessment[@classCode=TNVSTG'[@mo

0dCode=EVN'l/subject1[@typeCode="SBJ'l[1]/primaryRolel@classCode=TNVSBJ"
J/subjectOf2[@typeCode='SBJ'|[observationlid][codel@code='29'l [@codeSystem="2.
16.840.1.113883.3.989.2.1.1.197]][i)/observation[@classCode="OBS'l[@mood Code=
'"EVN'/outboundRelationship2[@type Code=PERT'| [observation/code[@code="11'1[
@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'[1]/chservation[@classCode=
'OBS'] [@moodCOde—'EVN']/value[@xsi:type='CE'] [@codeSystem='2.16.840.1.11388

13.3.989.5.1.3.2.1.8'/@code

XPath
(codeSystem

Version)

/MCCI_IN200100UVO01[@ITS Version="XML 1. 0][@x31 schemaLocation="urn‘hl7-
org:v3

MCCI_IN200100UV01.xsdl/PORR_. IN04901GUV[r]/controlActProcess[@classCod
e='CACT'][@mood Code="EVN'//subject[@type Code='SUBJI[1]/investigationEvent
[@classCode="INVSTG'][@moodCode="EVNY/component[@type Code="COMP'][adv
erseEventAssessment]{1l/adverseEventAssessment[@classCode=TNVSTG'[@mo
0dCode=EVN"l/subject1[@type Code="SBJ'1{1]/primaryRole[@classCode=TNVSBJ'
J/subjectOf2l@typeCode="SBJ'l[observationlidllcode[@code="29"l [@codeSystem="2.
16.840.1.113883.3.989.2.1.1.19' 1] [il/observation[@classCode='"OBS' [@mood Code=
"EVN/outboundRelationship2[@typeCode=PERT' [observation/code[@code="11'l{
@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10']{1)/observation[@classCode=
'0BS1[@moodCode="EVN/valuel@xsi:type="CE][@codeSystem='2.16.840.1.11388
3.3.989.5.1.3.2.1.81/@codeSystem Version

Jo.asr AEH

H%%ﬁkﬁﬂlﬁﬁﬁ%tﬁwf\%@Kﬁwfﬁ%W§ﬁﬁﬁénTwé%é

8 H AR
AREETRT,
E=— Fao@ifliga— FeRRUTERTDHZ &,

T

HEREDEE, BEF/LHEZLSOFBIT. RBREGBFTOEL IR TIZ L,
T, HEWBREOES. BEAToREREHTA L, '
#‘h%%icl—j’ob\—( ?’Ei’ﬁ.@iﬁﬁﬂéﬁkiofﬂ @?&%ﬂ‘f.ﬁ é/’hvt.aﬁ:l . 1 "D@iﬁ
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HELTHELTELIARY, £DF kﬁﬁ%l%l%ﬁk?ﬁb ﬁb@b%ﬂ
ALT, ZHRBUBRIZZODMOAREZFEHTLHZ &, '
ﬁE\H-®%ﬁ#@@?&éhi%éhm\éﬁﬁ%@momTEMﬂmTé z
ORI, FIEREORICHE T CUZBMBEOREFRLERT L2 &, YFRED
AREPERHEHETRVELENAT L & :
7, SEOBBRNENRERHHEE, BlHELTHI L,

7 —& 2A
FAME IS0 3166-1 77 7-2 DE=—F, EU
XPath /MCCI_IN200100UVO01[@ITSVersion="XML_1.0'l[@xsi'schemaLocation="urn:hl7-

orgiv3
MCCI_IN200100UV01.xsd'/PORR_IN049016UV[rl/controlActProcess[@classCod
e='CACT1[@moodCode="EVN'})/subject(@typeCode="SUBJ'][1]/investigationEvent
[@classCode=TNVSTG'[@mood Code='"EVN'/referencel@typeCode=REFR' 1[docu .
ment/codel@code="2'] [@codeSystem="2.16.840.1.113883.3.989.2.1.1.27]][x)/docum
entl@classCode="DOC| [@mood Code="EVN']/participation[@typeCode="AUT/assi
gnedEntityl@classCode='ASSIGNED')/representedOrganization{@classCode="OR
G'l[@determinerCode=TNSTANCE1/asLocatedEntityl@classCode=LOCEVlocatio
n[@classCode='"COUNTRY l[@determinerCode="INSTANCEl/codel[@co deSystem=
'1.0.3166.1.2.2'1/@code

J2.16 MERNEDEXN

MEHE | FERERUSEHEERSICBWT, THIRSEGINEIC KT 2HBOBE (H.1)
WRBLENFOEREFREHIIRT,
ST 7zl
7—FE 5O0AN
| B B iE
XPath /MCCI INZOOIOOUVOI[@ITSVersmn—'XML 1.0'[@xsischemal.ocation="urn: h17
org w3
MCCI_INZOO100UV01.Xsd']/PORR_INO4901GUV[r]/controlActPi'ocess[@classCod
e='CACT'][@moodCode="EVN"/subj ect[@typeCodé"'SUBJ "I[1)/investigationEvent
[@classCode="INVSTG'][@moodCode="EVN/component[@type Code="COMP" I[adv
erseEventAssessmentl[1]/adverseEventAssessment[@classCode="INVSTG'][@mo
0dCode="EVN")/component1[@typeCode='COMP'l[observationEvent[code[@code='
12'][@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'1]][1)/observationEvent[@
classCode="OBS1[@moodCode="EVN'l/valuel@xsi:type="EDN/text(
J2.17r BB HROHE _
TH B FiEA FTEME DRSS, THHRAE B XX TFERKRER L] OME2FT,
RE A 7L
T—F R iIN
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AR 1=fER A5k, 5
=FFER R ER T3 _

XPath /MCCI_IN200100UV01[@ITS Version="XML,_1.0'l[@xsi:schemaLocation="urn:h17-
org:v3 | - . .
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[r]/controlActProcess[@classCod
e='CACT][@moodCode="EVN'/subjecti@typeCode="SUBJ'I[1}/investigationEvent
[@classCode=INVSTG'l[@moodCode="EVN'l/reference[@typeCode=REFR]{docu

| ment/code[@code='21[@codeSystem="2.16.840.1.1138883.3.989.2.1.1.271[r])/docum
.| entl@classCode="DOC'][@mood Code="EVN/title/text

J2.18.1 ZEHMA _

EHEME | ICSR 0REEFEQMEBSETT.

FOB T MSTFTBOE A EEE S ERE SRR ORI L B8 5,

T—FH 100AN

FrAE B o, _

XPath /MCCIL_IN200100UV01[@ITS Version=XML,_1.01[@xsi:schemalocation="urn:hi7-
org-v3 _ _ ‘
MCCI_IN200100UV01.xsd'//PORR_IN049016UVIrl/controlActProcessl@classCod
e='CACT[@moodCode="EVN/subjectl@typeCode="SUBJ'[1}/investigationEvent

| [@classCode="TNVSTG) [@moodCode="EVNI/subjectOf 1 [@typeCode="SUBJ| [cont
rolActEvent/primaryInformationRecipient][1)/controlActEventl@classCode='CAC
T'l[@moodCode="EVN')/primarylnformationRe cipient[@typeCode="PRCP"V/assign
edEntity[@classCode="ASSIGNED')/representedOrganization[@classCode="ORG']
[@determinerCode="INSTANCE/name/text()

J2.18.2 R{EEWA

HEHHA ICSR DEEEDEEZZTFT,

fEFE | BERIERT D,

F—zH 100AN

HEE H FFo

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemalocation="urn’hl7-
org:v3 ; ’ .

| MCCL_IN200100UV01.xsd')//PORR_IN049016UV{r)/controlActProcessi@classCod
e='CACT'l[@moodCode="EVN'l/subject@typeCode='SUBJI[1}/investigationEvent
[@classCode="INVSTG H@moodCode="EVN/subjectOf1[@type Codé='SUBJ Ncont
rolActEvent/primaryInformationRecipient][1)/control ActEvent[@classCode='CAC
T'[@mood Code=EVN'l/primaryInformationRecipienti@typeCode="PRCP")/assign
edEntity[@classCode="ASSIGNED/assignedPerson[@classCode="PSN'}{@determ
inerCode="INSTANCEl/name/prefix[1]/text()

J2.18.3 ZIZEM |




TR H & ICSR OZ{EEOHE 7T,

MRFE | BEoHEROBE T D,

7F—#%Z | 100AN '

TFAEE B REH

XPath /MCCI_IN200100UV01[@ITS Version="XML,_1.0{@xsi:schemaLocation="urn:hi7-

! orgv3 7
MCCI_IN200100UV01.xsd'I/PORR._IN049016UV[r]l/controlActProcess[@classCod
e='CACT][@moodCode="EVN/subject[@typeCode='SUBJI[1)/investigationEvent |
[@classCode="INVSTG'/[@mood Code="EVN/subjectOf1[@typeCode="SUBJ'llcont
rolActEvent/primaryInformationRecipient][1]/controlActEvent[@classCode="CAC
T'l[@moodCode="EVN'l/primaryInformationRecipient[@typeCode="PRCP')/assign
edEntity[@classCode=‘ASSIGNED']/assignedPerson[@ciassCode='PSN‘] [@determ

“inerCode="INSTANCE'/name/family[1]/text(
J2.184 ZFEA
TE H 7 BA ICSR DZAFHE DL ETT,
L | BoEEREOAETERT S,
F—4% | 100AN
AU B H e _
XPath /MCCI_IN200100UV01 [@ITSVersion="XMJ._1.0'l[@xsi:schemal.ocation="urn‘hl7-
org:v3 .
MCCI_IN200100UV01.xsd'//PORR_IN049016UVIr)/controlActProcess[@classCod
e='CACT'][@mood Code="EVN'l/subjectl@typeCode="SUBJ'[[1}/investigationEvent
[@classCode="INVSTG'][@mocd Code="EVN'l/subjectOf1[@typeCode="SUBJ"l[cont
rolActEvent/primaryInformationRecipient][1l/controlActEvent[@classCode="CAC
T1[@moodCode="EVN'l/primaryInformationRecipient[@typeCode=PRCP'/assign
edEntity[@classCode:‘ASSIGNED']/assigne.dPerson[@class Code="PSN'][@determ
\ inerCode=TNSTANCET/name/given[1]/text() |
J2.19 51
HB WA FHEE
SO 2L
F—sH 10000AN
FEE HEFCE
XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0[@xsi:schemaLocation="urn:hl7-
org:v3
MCCI_IN200 lOOUVO1.xsd']/PORR_IN049016UV[r]/controlActProéess[@claséCod
e='"CACT'1[@mood Code="EVN"/subject[@typeCode="SUBJ'l[1}/investigationEvent
[@classCode='INVSTG'[@mood Code="EVN'] /component[@typeCode=‘COMPT] [adv
erseEventAssessment][1])/adverseEventAssessment[@classCode=TNVSTG'[@mo




0dCode="EVN'Vcomponent1{@type Code='"COMP'][observationEvent[codel@code="
13'1[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10']]][1)/observationEvent[@

classCode='0BS'] [@moodCodeé"EVN']/value [@xsitype="ED/text()
J2.20 &2 | o -

HRE#HHA THE R

REFE 2L

5 7 10000AN

HAE HEicH -
XPath MCCI_IN200100UV01{@ITSVersion="XML_1.0'] [@xsiischemaLocatiorF'urnihl’Z -
org:v3

MCCI_IN200100UV01.xsd'I/PORR_IN0490 1GUV[r}/controlActProcess[@classCod
e="CACT' ] [@moodCode="EVN'l/subject[@typeCode="SUBJ'][1)investigationEvent.
[@classCode=TNVSTG[@moodCode=EVN' l/component[@typeCode='COMP'][adv
erseEventAssessmentl[1)/adverseEventAssessmentl@classCode="INVSTG'{@mo
odCode"'EVN']/componentl[@typeCode—'COMP llobservationEventlcode[@code="
147] [@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10]][1]/observationEvent[@
classCode='OBS'}[@mood Code="EVN'lfvaluel@xsi:type=ED/text(

1dJ2.21 ﬁ%3

HEEA TR E

FEH TR 7L

— & H 10000AN

FrEE H B
XPath /MCCI_IN200100UV01[@ITS Version="XML_1.01[@xsi:schemaLocation="urn‘h]7-
org: v3

MCCI_IN200100UV01.xsd'/PORR, IN049016UV{r]fcontmlActProcess[@classcod
e='CACT'[@moodCode="EVN/subject[@typeCode="SUBJ][1}/investigationEvent
[@classCode="INVSTG ] [@moodCode="EVN'l/component[@typeCode='COMP'][adv
erseFEventAssessment] [1]/adverseEventAssessment[@classQode=‘INVSTG'] [@mo
0dCode="EVN'/component1[@typeCode="COMP'] [observationEvent[code[@code="
151 [@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'1][1V/observationEvent[@
classCode="OBS'l[@moodCode="EVN'l/value[@xsi:type="ED}text(

J2.22 {fi% 4

EESH | TEER

RHFE | 2L

VA it 10000AN

HEE | BRER | |

XPath | /MCCI_IN2001000V01[@ITSVersion=XML,_1.0'l[@xsi:schemalocation="urn:hl7-
org-v3
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MCCI_IN200100UV01.xsd'VPORR_IN049016UV[r)/controlActProcess[@classCod
e="CACT'}[@moodCode="EVN'I/subjectl@typeCode='SUBJl[1)/investigationEvent
[@classCode="INVSTG'] [@moodCode="EVN'Vcomponent[@typeCode="COMP'l[adv
erseEventAssessment][1l/adverseEventAssessment[@classCode="TNVSTG'l[@mo

0d Code="EVN'l/component1[@typeCode="COMP'I[observationEventlcodel@code="
16'] [@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.107]][1)/observationEventl@
classCode='0BSl{@mood Code="EVN'l/valuel@xsi:type="EDT/text)
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